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33121180/506 wnjwb Guzdwu swihdwl uwpp (wnundbun) L hutn 4200 80 336.0
33141110/509 dhpwlwuyhin q< hwtn 48.7 30000 1461.0
33141110/510 hpuilwugtp a< huin 97 1000 97.0
33141111/501 Lugsnit uwbnuuhubn q< hwtn 103 6000 618.0
33141115/501 pdoluiljuits puidpuly q< hwwn 172 5000 860.0
33141129/506 il < huitn 5.976 50000 298.8
33141129/507 nhuwly L hwwn 85 1000 85.0
33141131/503 Uniniu ybpgubint dwwwybl wdpwlubpny (dgnun) Q< hwwn 270 100 27.0
33141136/523 Yuwpebinbplbp q< hwn 39.2 1000 39.2
33141136/524 Luwpbnbpubp 9 hwin 38.8 6000 232.8
33141136/525 uwpbinbptbp q< hwwn 37.8 15000 567.0
33141136/526 Luwpbnbpubp qc hwn 40.9 15000 613.5
33141136/530 Ywpbwnbputp < hwin 8000 70 560.0
33141138/501 Gustyniw qg hwwn 105 1000 105.0
33141138/502 Yuibynyw YL hwwn 293 200 58.6
33141142/509 Ubpuiplipsubp q< hwiwn 125 30000 375.0
33141142/511 bpuplhstbp q< huwtn 8.75 20000 175.0
33141142/512 Ubpwplhsubp Q< hwiin 9.3 100000 930.0
33141142/513 bipwplhstbin q< huwtn 14 60000 840.0
33141142/514 ubpwplyhsubip q< hwin 15.5 100000 1550.0
33141142/515 ubipwplhsubip &< huwin 20.75 60000 1245.0
33141142/516 ubipwplhsubn a< hwin 22.7 30000 681.0
33141142/517 ubpwplhsubip o< huwtn 58.9 30000 1767.0
33141142/518 ubpwplhsubp q< hwn 68.9 500 345
33141144/510 pdoluljut wubnbip q< hwtn 13.85 30000 415.5
33141144/511 pdolwlwt wubnubip q< hun 20 300 6.0
33141144/512 pdluiluwit wubinubp q< hwwn 6.5 10000 65.0
33141144/513 pdoluwliw wubnubp QL huwn 4.7 40000 188.0
33141156/502 pdolwilut Abntngubip q< huwn 8.7498 400000 3499.9
33141158/502 Yppwpnidwlwl dbnungubip G qnyg 75 20000 1500.0
33141160/502 unungh| 250,0 9L hwn 189.84 500 94.9
33141178/508 nbinbiph Ubpwnldwt hwdwlupgbp qc hwwn 38.9 50000 1945.0
33141178/509 nbnbph Ubpwpldwy hudwlupgtn q< hwmn 130 40000 5200.0
33141211/687 pdolwlwl w) gnpdhpubip — wwpwgwubp QL hwn 95 15000 1425.0
33141410/501 nwpw wuwihgh hwdwp unbphy, 1004 < huwin 39.984 500 20.0
33141410/502 inwpw wuwihgh hwdwp unbphy, 100d; < hwin 42 8000 336.0
33161220/504 guwwinb) thwjinb QL hwn 3.2 4000 12.8
33191260/501 wipjwl hnfutibpuwpldwt sunwwhyutip QL hwn 13900 30 417.0
33191310/527 thnpawlinpubp q< huwtn 16.8 120000 2016.0
33191310/528 thnpdwblinpubp L hwn 16.8 50000 840.0
33191310/529 thnpawtinplibip q< hwin 25 10000 250.0
33191310/530 thnpawlinpltp 9 huwtn 39 25000 975.0
33191310/531 thnpéwlinpltp 9z huwin 38 2000 76.0
33191650/504 pdslwlwl hwgnwtn 9 huin 135 15000 2025.0
33191650/505 pdaluwljwl hwgnw L hwwn 6 7000 42.0
33691423/501 |wpnpuinnp wgnuwUnebn (nbwgblnubp) pugduynduyntbin Q< Inwlwqd 2600 100 260.0
38411200/509 obipdwswithbp < hww 600 50 30.0
38431720/513 Ywpnghlubph dwjpwluubp L hwn 1.59 80000 127.2
38431720/514 Ywpnghbutiph dwjpwlwutp G hwwn 0.63 350000 220.5
24311530/503 onwduh whpopupn 4L |hwnp 599 300 179.7
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31651200/506 EY49 dwuwywgbl pnine Q< hwwn 639 600 383.4
33141110/511 Yhpwwugtin Q<L huin 850 3000 2550.0
33141111/502 lusntu uwbnwuhubp 9< huwin 140 15000 2100.0
33141111/503 Luysnits uwybinwuhubp QL hwwn 83 1000 83.0
33141118/506 wudbnnghyubp 9L hwn 9.3 60000 558.0
33141118/507 widbinnghlubin 9< huwwn 4.1 70000 287.0
33141143/501 ulwph$hlywinnp G hwn 3.33 30000 99.9
33141144/514 pdolwlwl wubinbp < hwtn 1130 1000 1130.0
33141144/515 pdolulul wubinubip qL hwin 6800 300 2040.0
33141144/516 pdolwlwl wubnubp 4L huwwn 10000 200 2000.0
33141144/517 pdoliuliut wubnutp 9< hwin 7500 25 187.5
33141144/518 pdolwlw wubnutp 9L hwwn 4750 800 3800.0
33141144/520 pdolwljwt wubnubp QL hwwn 1500 1000 1500.0
33141144/525 pdolwlwt wubnubp q<L hwwn 1500 300 450.0
33141144/526 pdowlwl wubinubp QL hwin 1500 300 450.0
33141144/527 pdolwlwt wubinubp QL hwin 250 1000 250.0
33141144/528 pdoywljwl wubntibp G hwin 400 50 20.0
33141211/710 pdolwlwl wy gnpdhplbp — wwpwawubp Q< hwin 1960 15000 29400.0
331412114711 ndaljwliwl w)) ghpdhplbp - wwpwguwlbp gL hwn 1345 1000 1345.0
33141211/712 pd2iwljwt wy gnpéhplbp — wwpwguwubp a<L huwin 6280 96 602.9
33141211/713 pdalwlwl w)) gnpdhpubp — wwpwguubp < huwn 1680 200 336.0
33141211/714 pdalwlwl wy gnpdhpubp — wwpwguwbn q< hwn 200000 72 14400.0
33141211/715 pdalwlwl w) gnpdhpubp — wwpwguitin G hwin 100000 300 30000.0
33141211/716 pdolwljw wy gnpdppubip — wwpwawubp < hwn 6800 500 3400.0
33141211/717 pdalwlwt wy gnpdhpubip — wWwpwgwbp i hwtn 8800 500 4400.0
33141211/719 poolwiljwl w)) gnpdhpubp — Wwpwagwubp < hwin 425 3000 1275.0
33141211/721 pdolwilyuts wy gnpdhpubp — Wwpwgwubp Q< hwin 179.41 5000 897.1
33141211/722 pealwliwl wy) gnpdhpubip — wwpwgwlbn L hwwn 67 15000 1005.0
33141211/729 pdalwiljul wy gnpdhplibn — wwpwqwubp QL hwin 3300 100 330.0
33141211/730 pd2iwljwt wy gnpdhplbip — wwpwauwubp G< huwn 102000 1 102.0
33141211/731 pdalwliwl wy gnpdhpubp — wwpwgwbp < huwwn 160000 3 480.0
33141211/732 pdogwlwl w) gnpdhpubip — wwpwguwubnp Q< hwwn 99.48 4000 397.9
33141211/733 pdolwlwil wy gnpdhpubip — wwipwguiibp L hwn 696 100 69.6
33141211/734 pdalwlwl w)) gnpdhpubn — wwpwguibn < hwn 104 1000 104.0
33191310/532 thnpdwlnpubp QL hwitn 11.5 40000 460.0
33191310/533 thnpdwunpubp < hwiwn 14 18000 252.0

Utinhwuppht MediScreen 10/Utigh ubig qunilngh, wpywt,

uyjhwnwynigh, pH, Yeinnuubiph, nbuwlupwp Yonh,
33211110/502 S A S I bl 9< hwtn 2472 40 98.9

npnodwl phup unphwlibinh hwdwpwsnt
33631241/504 plnphbpubnptih ményp S [htnp 1350 800 1080.0
33631241/505 pinphbipuhnhup jnidnye 9L Lhup 1150 400 460.0
33631250/504 fpwln) d08ax08, v03ab16, v03az01 < (hinp 1100 700 770.0
33631250/505 kpwln| d08ax08, v03ab16, v03az01 <L (hwp 970 1000 970.0
33691167/501 wpnpwinnp odwlnuly — ghnwlwl Wnyatp < hwn 15000 120 1800.0
33691167/502 |wpnpwinnp odwinwly — ghnwlwl Wnyebp 9L hwin 12000 180 2160.0
33791300/522 |wpnpuwiinhp wwwljw wpnwnputp QL hwwn 14200 500 7100.0
38431491/501 wwwlb whwnpph pwu 9< hiutn 33.7 10000 337.0
39821100/501 dwppnn Unypbp wdnuhwyh hhuph dpuw L hwwn 100 30 3.0
44423600/503 Yupniu dwigudBEulbn a< huwtn 3.28 20000 65.6
18311190/503 fuwwp < hiuwn 447 100 447
33141114/501 pdiwlwl pwtghd (Jwpyw) witnientip' 90ul < dbnp 68 2000 136.0
33141121/503 Uhpwipnidwlpwt phibp 9L hww 315 30 9.5
33141121/504 Uhpwpnidwlw albp < hwwn 315 30 9.5
33141121/505 Uhpwpnidwlwl phjbp q< hwin 315 100 31.5
33141121/506 Yhpwpnidwlwu phikp QL hwn 315 100 31.5
33141121/507 Yhpwpnidwlwl phitp QL huwin 140 30 4.2
33141121/508 Yhpwpnidwlwl phybp G huwwn 140 30 4.2
33141121/509 Yhpwpnidwlwl phitp G< hwwn 140 300 42.0
33141121/510 yhpwpnidwljw phjbp L huwin 140 300 42.0
33141121/511 Uhpwpnidwlw phibp Q< hwwn 140 50 7.0
33141121/512 Uhpwpnidwlwu phibp < hwin 20 0.0
33141121/513 Uhpwpnidwluwi phjkp Q<L hwun 20 0.0
33141121/514 Uhpwpnidwlwl plbn L hwun 30 0.0
33141136/534 Ywpbwnbpubp < hwin 50 0.0
33141157/502 Upunwpubp — uwpbp L hwwn 23 200 4.6
33141157/503 Uginwipubp — uwypbip < hwun 23 200 4.6
33141173/501 ubigh tnnwpwlubp Q<L huwn 102 700 71.4
33141173/502 dbigh nnypwliubp QL hwn 32 500 16.0
33141182/503 yhpwihnnbp (npuwdutp) 9L hwn 20 0.0
33141182/504 Uhpwihnntip (npbwdubp) L hwwn 15 0.0
33141182/505 yhpwihnnbp (npEuwdutp) S hwin 15 0.0
33141182/506 Uhpwtpnnbip (npbtiwdubp) gL hwtn 18000 20 360.0
33141184/501 Yhpwihnnbiph (npblwdlibiph) wwpwqwutnp 9< hwtn 4000 50 200.0
33141202/504 Pdalwlwl Eblinpnnutp <L huwn 2 0.0
33141211/735 pdoluiljwit wyj gnpdhpubip — Wwpwgwbp Q< hwwn 550 30 16.5
33141211/736 pdoljuljwt wy| gnpdhplibp — wWwpwgwbbnp < hwn 550 30 16.5
33141211/737 pdolwliwt wy gnpdhplbip — Wwpwgwbp 9L husn 5000 10 50.0
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33141211/738 pdolwilwl w)) ghpdhpubip — Wwpwgwubp SL hwn 10500 5 52.5
33141211/739 pdaljwilut wy gnpdhpubip ~ wwpwqwubp 9L hwn 11000 2 22.0
33141211/740 pdolwlwl w) gnpdhpubin — wWwpwgwlbp < huwn 45000 1 45.0
33141211/741 pdoluwljuwl wy gnpdhpubin — wwpwgwbp Q<L hwwn 1790 20 35.8
33141211/742 pdaluilw wy gnpdhpubip — wwpwguwubp QL huwiwn 1795 30 53.9
33141211/743 pdalwlwl wy gnpshpubip — wWwpwgwubp 9L huwin 5 0.0
33141211/744 pdalwljwits wy| gnpdhplbip — wwpwiquitibp 9L hwiwn 1300 5 6.5
33141211/745 pdoluilwit wy) gnpdhpubp — wwpuquibp 9L hwtn 800 150 120.0
33141211/746 pdoywlwl wy gnpdhpubip — wwpuwgqwbp < hwwn 64920 24 1558.1
33141211/747 pdoljwljw wy gnpdhpubip — wwpwqwbp 9L hwiwn 54960 24 1319.0
33141211/785 pdolwlw wy gnpdhpubip — wwpwgwbp Q<L hwwn 49920 24 1198.1
33141211/786 pdolwlwl wj gnpdhpubp — wwpwguiubn L huwitn 45000 24 1080.0
33141211/787 pdolwlwl wy gnpdhpubip — wwpwguiubn 9L hww 3 0.0
33141211/788 pdoiwlwl wy gnpdhpubip — wwpwguibp 9L huwitn 200 0.0
33141211/789 pdowlwiu wyj gnpdhpubip — wwpwgwbp L hwiwn 100 0.0
33141211/790 pdolwlwl w) gnpdhpubip — wwpwgubp QL huwn 6960 100 696.0
33141212/512 pdoluljwl wy) Uynyebp 9L huwin 30 0.0
33141221/501 Yppuwthnnbip (npluwdubinh) pwqdwynduntibun wwpwguubn 9< gy 1992.43 40 79.7
33141223/545 pdalwlw wj| gnpdhpubp — wwpwgwubp puquwlndwynubun QL nwlqy 3500 100 350.0
33171400/521 Ybpwhbunwiwgdwl nhdwy Q< huwn 1 0.0
33171400/522 Ybpwybunwliwgdw nhiwly Q< huwwn 1 0.0
33171400/523 Ybpwybunwlwgdw nhiwl QL huwwn 1 0.0
33171500/503 Fwhnnypw)| wugquywgdwl hwywpwédniubp Ywd thwpbpubn ke hwn 2706 10 27.1
33791300/523 JWpnpWWBnD wywljw wphwnpuitp &£ huwitn 6 15000 90.0
33791300/524 Jwpnpuwnnp wiywljw wpnwnputip < hwin 1,26 100000 126.0
39299110/501 wwwlib upywijubip < hwin 142 5000 710.0
33141136/536 Lwpbwnbpubp qZ huitn 167 20 3.3
33141136/537 uwphnbpubpn q< hwn 167 20 3.3
33141136/538 uwpbnbplbp q< hwtn 167 20 3.3
33141136/539 Yuwppbinbpubp QL huwin 167 150 25.1
33141136/540 Jupbnbpubp XL huwiwn 167 200 334
33141136/54] Ywpbwnbpubp a< hwin 167 180 30.1
33141136/542 wpbinbpubp q< huwitn 167 20 3.34
33141136/561 wphnbpubp q< hwitn 202 20 4.0
33141183/518 gnlunbip QL huin 65 20 1.3
33141183/519 gnluinbip L hwwn 65 30 1.95
33141183/520 qnuntip q< hwn 65 30 1.95
33141183/522 qnlnkip q< hwn 65 30 1.95
33141183/524 qntintip qc hwwn 65 30 1.95
33141183/525 gnuntip < hwiwn 65 40 2.6
33141183/526 antinbp qc hwwn 65 5 0.3
33141202/505 Rdolwlwl Elinpnnubp q< hwin 29.5 6000 177.0
33141207/522 Punnipwghwih Wwpwgwubp L hwtn 10 0.0
33141207/523 huwnnipwghwih wwpwgwubp 9L hwtn 10 0.0
33141207/524 hunnipwghwih wwpwgwutp Q< hwn 20 0.0
33141207/525 huwnnipwghuwh wwpwgwubp Q< hwn 1000 10 10.0
33141207/526 huinnipwghw)h wwpwgqubp < hustn 1000 20 20.0
33141207/527 huwnnipwghugh wwpwagwubn S huwin 1000 20 20.0
33141207/528 Plnnipwghuwih wwpwguwubp QL huitn 1000 20 20.0
33141207/529 Puwnnipwghwih wwpwgwbp QL hwin 1000 20 20.0
33141207/530 Plunmpwghuwh wwpwguubp < hwwn 1000 50 50.0
33141207/531 huwnnpwghwih wwpwgubp Q< huwun 1000 100 100.0
33141207/532 Puwnnipwghwih wwpwgwbp G huwin 1000 10 10.0
33141211/791 pdoulwiy wyj gnpdhpubip — Wwpwgwubp Q< huwn 15000 30 450.0
33141211/792 pdoljwlwit wyp gnpdhpubip — wwpwawubp G huwwn 18000 50 900.0
33141211/793 pdoluiljwit wyj gnpdhpubip — wwpwgwubp G< hwwn 549 500 274.5
33141211794 paolwluwit wy gnpdhpubip — wWwpwguwubp GL hwwn 549 1000 549.0
33141211/795 pdoluljwi wyj gnpéhpubip — Wwpwgwbp QL hwwn 549 500 2745
33151220/501 pRYwstwht nhdwl qc hwwn 260 500 130.0
33151220/504 pRYwdlwihu nhiwy < hwun 350 100 35.0
33151220/505 RRYwduwhu nhdwy qL huwin 480 100 48,0
33171400/527 Ybpwlbunwuwgdwl nhdwly < hwtn 7000 2 14.0
33171400/528 Ybpwybunwuwgdw nhuwy < hwn 7000 2 14.0
33171400/529 Ubpuwlibunuuwgdu nhiwy q< huwin 7000 20 140.0
37411330/502 nhuwlubp, jwunbp Yud stswnwlwl unnnduiubp 9L hwn 800 10 8.0
37411330/503 nhdwlubp, jwuwnbp Gwd suswnwlwl unnndwlubp QL hwn 800 10 8.0
37411330/504 nhdwyubn, jwuwnbp wd suswnwlwl funnndwlubp 9L hwn 800 10 8.0
15991700/501 $hiph pninp q< Uhingpwid 6000 2 12.0
24311530/504 opwidlih whipopupi q< hunp 600 10 6.0
24311570/502 BhpWwd onip QL |htnp 799.9 500 400.0
31651200/502 EY4S dwwuibu pnu 9L huwin 1490 15 22.4
33141136/501 Ywptwnbptbp q< huitn 70 100 7.0
33141136/511 Lwpbinbpubp GL huwin 70 100 7.0
33141136/512 Yuwpbnbpubp q< huin 158 250 395
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33141136/514 uw[ahtnhrlllhrl

33141136

33141144/501 pdzqwuwu wubnubp

33141144}’502 wlwl wubnut

33141202/502 pdguwuwu Ellwnpnnubp < hwin 33 2000 66.0
33141211/502 pdolwlw wy| gnpdhpubn — Wwpwgwubp Q<L hwin 540 400 216.0
33141211/503 pdoljwlwl wy| gnpdhplbip — Wwpwgwubp < hwtn 12000 10 120.0
33141211/504 pdolwlwl wy gnpdhpubip — Wwpwgwubp QL hwin 390 500 195.0
33141211/505 pdolwlut wy| ghpdhpubp — Wwpwgwbp QL hwin 127 5000 635.0
33141211/506 pdolwlwt wy gnpdhplbp — wwpwqwubp G hwwn 48 5000 240.0
33141211/507 pdlwlwt wy gnpdhplibp — wwpwgqubibp G hwin 45 1000 45.0
33141211/508 pdolwlui wy gnpdhpubip - wWwpwgwubp QL hwin 45 3000 135.0
33141211/509 pd2lwljwt wy gnpdhplibp — wwpwquwbbnp QL huwn 858 200 171.6
33141211/510 pdoljwlpwt wy gnpdhpubip — wWwpwgwubp Q< huwiwn 858 200 171.6
33141211/511 pdolwlwl wy gnpdhpubp — wwpwquitibp < hwin 858 200 171.6
33141211/512 pdolwlwl wy gnpdhplbp — wwpuwguiibp e huin 60000 2 120.0
33141211/515 pdoywlwl wy gnpdhpubip — wwpwgwbp 9< hwin 24.51428571 7000 171.6
33141211/516 pdolwlwl wy gnpdhpubip — wwpwauwiibp q< hwwn 12.98 7000 90.9
33141211/517 pdoywlwl wy gnpdhpubip — wwpwgquwibp L hun 150 1000 150.0

33141211/518 idiiwiw‘u IJ..III iniéiibhi e iwiwiwhhi G< hwin 2300 2 4.6

33141211/520 pdaljwlywl wy gnpdhplibip — wwpuwguubp Q<L huwin 370 6000 2220.0
33141211/521 pdoywlwl wy gnpdhpubip — wwpwguubp < hwin 124 15000 1860.0
33141211/522 pdowlwl wy gnpdhpubp — wwpwguwtbp q< hwwn 35000 30 1050.0
33141211/523 dolwlw wy gnpdhpubp — wwpwawub < hwtn 1270 800 1016.0
33191310/504 thnpawlnpubp Q< huwin 350 6000 2100.0
33191310/505 thnpdwlinplbip 9L huwin 32 7000 224.0
33191310/506 thnpdwlnpubp 9L hwn 66 2100 138.6

33191310/507

33791300/504

npéwlinpub

hwn

huwin

98

500

49.0

38431710/502

Yupnghlutip

huwin

8000

|wpnpuwinnp wwwljw wpnwnputp QL 98 16000 1568.0
33791300/505 |WpNpUWNND wywljw wpnwnpubip L huwn 4 12000 48.0
33791300/512 |WpnpUWnnD Wujwljw wpnwnputip QL hwn 1.8996 5000 9.498
35111320/501 Uhgniywiht = nwnhninghww wwanwwniewy hwgniun Qg hwwn 177000 3 531.0

112.0

38431720/501

<

hwn

13,625

42240

575.5

|38431720/502

38431720/504

Htulanahuhhnh uwiypuwilwiubp

huwiwn

12.375

42240

522.7

38431720/507

llwlanghhbhnh duwypwiljutibin

9<

hwin

0.45

25000

11.3

38431720/508

QL

G<

33141143/502 uljwph$hlywinnp o< huwin 80 1000 80.0
33141157/504 Upwnwipbp — uwypbip 9< huwn 990 2 2.0

33141182/507 Jhpwihnnbp (npEuwdubn) 9< huwin 8800 15 132.0
33141182/508 wihnnky Huwdub hwin 8800 15 132.0

33141202/506 Rl bitlinpnnbl LT I e N T
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33141211/527

9<

hwwn

6900

1380.0

33141211/528

133141211530

pdolwljwl wy) gnpdhplibip — wwpwquwiibip
&

pdaljwljuiti wy gnpdhpbin — wwipwquibp

890.0

33141211/531

4

hwwn

62

124.0

33141211/532

133191310/509

pdolwluits wy gnpdhplbip — wwpwqubp
Shpub,

thnpdwnpubp

G

9<

hwin

12000

252

2500

12.0

huin 6.3
33191310/510 thnp&wtinpubp QL hwin 27 600 16.2
33191310/511 thnpawunpubp 9L hwin 23.84 100000 2384.0
33191312/501 wiywlh Ynjpw 9L hwwn 2500 3 7.5
33191312/502 wywlb Ynjpw q< hwin 3000 3 9.0
33191312/503 wwwlib Ynjpw Q< hwwn 5000 3 15.0
33191316/501 wwwyb swiphs deugnipyuw’ hnywd dghyny 9L hwwn 2256 4 9.0
33191318/501 wwywlb swithhs pwdwly pwdubiswihng 1004; QL hwn 500 2 1.0
33191318/502 wuwyk swihhs pwdwl pudubswihny 1004 < huwwn 648 2 1.3
33191318/503 wwwlk swihhs pudwl pwdubswihny 1004 QL hwn 900 2 1.8
33191318/504 wwwlb swihhs pwdwly pwdtbswihng 1004 <L hwin 1400 2 2.8
33191318/505 wwwlb swihhs pwdwly pwdubswihng 1004 < hwin 1600 2 3.2
33191318/506 wuwwlb swihhs pwdwl pwdubswihny 1001 G< hwin 1800 2 3.6
33191318/507 wwwlyb swihhs pudwly pudubswihng 1004 QL hwiwn 1500 2 3.0
33191560/501 2yl gnignioupby (Zawnnysiul Wy 9¢ huitn 2300 30 69.0
huynnniginit hpwlwuwgubint hwdwp)

33691160/691 phupwywl wgnwnybp (nbwgbuntbp) QL hwn 1399 20 28.0
33791300/513 |wpnpuitnnp wwwljw wpnwnpubp QL hwun 1200 2 2.4
33791300/514 [Wwpnpuitnnp wwwlyjw wpnwnpwup G< hwtn 2000 2 4.0
33791300/515 [WRNPWIND wjwjw wpnwnpuip 9L huwwn 1440 4 5.8
38311100/501 blinpnuwht Yobinpliip — wwpwqub 3L huwin 29500 2 59.0
44163112/502 npbtwdwiht hwdwywpgbp 9< hwwn 33000 20 660.0

S< 0.0

quiquiht bynipkip
24111160/501 pdolwlw hbinniy wgnn L fud 470000 9 4230000.0
33691141/502 pRYwsht v03an01 QL huwn 2300 3000 6900000.0
: nEnnpwp _

33611130/504 winpnwhts a03ba01, s01fa0] G< hun 69.9 1500 104.9
33611170/501 npnuwybpht a03ad02 G< hwin 37.5 1500 56.3
33611170/502 npnunwybpht a03ad02 L huwin 6 500 3.0
33611310/507 htunyhts &< huwin 4999.8 10 50.0
33611320/501 Ubpwplidwt fuunyh (nidynn) alOab 9< hwwn 5199 60 3.9
33611320/502 Ubpwpldwt fuunyht (jnidynn) alOab a< huitn 5499 30 165.0
33611472/504 Hhghipng, dndhlubp < hwin 90 400 36.0
33611472/505 Shgbpny, dnudhlubip G< hwin 87 200 17.4
33621160/501 wilhuwywwpnuwppnt b02aa01 Q< huwitn 800 200 160.0
33621360/506 qlhgbiphy Bnupwnpwin {Upnpngihgtipht) c01da02, c05ae01 L hwin 799.8 200 160.0
33621390/501 wupnnwpnt c01bd01 < hwn 196 150 29.4
33621720/501 phunwpnin) c07ab07 Q< hwn 9 400 3.6
33621740/501 widnnhught c08ca01 q< huwin 5.6 800 45
33621761/501 wgbwnhjuwhghjwpeny, dwqubghnuwh hhnpopuhn BO1AC30 ] hwn 10.5 10000 105.0
33631180/501 wpdwpeh uny$wnhwghud06bali < huwwn 1080 20 21.6
33631370/501 wunpwyniphnut plighjwwn m03ac04 <L hwwn 270 150 40.5
33631410/501 winwniphtng mO4aa01 L hwn 44 20000 880.0
33631430/505 nbpulybinnupnb (nbpulnnwpndbup wpndbivwdng) MOTAEIT7 9L hun 187 2400 448.8
33631430/506 nbpuljitnnupndbu (nbpulbuninupn$blh tpndanwdng) MOTAET7 Q< hwtn 129.9 300 38.0
33651111/501 wiopuhghiht j01ca04 q< hwn 168 500 84.0
33651112/503 wiopuhghiht+pjuwyni-jwwppnt j01cr02 G huwin 1480 5 7.4
33651125/501 wahppnuhght j01fal0, s01aa26 q< huwin 258 500 129.0
33651163/502 wihYwghu d06ax12, j01gb06, sO1aa2i < hwin 1520 700 1064.0
33661115/503 niwhywluwjht n01bb01 < hutn 229 70 16.0
33661142/501 wihuphuinhipt n06aa09 q< huwitn 9 300 2.7
33661151/501 wghlnipp d06bb03, j05ab01, sO1ad03 QL hwwn 14.6 40000 584.0
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33661151/502 wghlnyhp d06bb03, j05ab01, s01ad03 9 hwn 2499 100 249.9
nhpuwdbpuwant allac02, c05aa09, d07abl9, d07xb05, d10aa03,
HetBHaGE0S h0202, 1013d03, s01ba0, (0101, 020006, s03ba0t o hunn K i i
nbpuwdbrwgnt allac02, c05aal9, d07abl9, xb05, d10aal3,
33601153/504 1022b02, 01ad03, 5010801, S01cbO1, 5026206, sQ3bal < huin 08 50000 18400
nbpuwdbipwgnt allac02, c05aa09, ab19, d07xb05, d10aa03,
i h02ab02, r01ad03, s01baO1, s01cbO1, s02ba06, s03ba0t *< huin 9 300 1647
33671114/501 wdhundpipu ro3da0s < hwn 35.72 1500 53.6
33671125/502 wdppopun (wdppopunth hhnpnpinphn) - ROSCB06, RO5CB q< hwwn 15 300 4.5
33671130/501 nh$buhhnpwiht d04aa32, d04aa32 < huwn 21.9 20000 438.0
33691121/501 w|pbiunuwgnp02ca03 9< hwun 171 30 5.1
33691136/504 twwnphnwh pinphn at2ca01, b05cb01, b05xa03 QL hwwn 213.9 1000 213.9
33691136/505 uwwnphnwh pinppn al2ca0l, b05cb01, b05xa03 QL hwwn 220.9 4000 883.6
33691136/506 wwnphnwh pinphr al2ca01, b05cb01, b05xa03 9< hwin 226.8 90000 20412.0
33691136/507 Lwwnphnuwh pinphn al2ca01, b05cb01, b05xa03 G hwiwn 1300 2000 2600.0
33691136/508 uwwphnwh pinphn al2ca01, b05¢b01, b05xa03 G< hwwn 237.8 4000 951.2
33691136/509 bwwnphnwp pinphn al2ca0i, b05ch01, b05xa03 QL hwwn 1400 5000 7000.0
33691136/510 bwwnppnuwlh pinphn al2ca01, b05¢b01, b05xa03 9L hwn 530 200 106.0
33691138/504 gyniyng b05cx01, v04cal2, v06dcO < hwtn 237.9 9000 21411
33691138/505 gyniyng b0Sex01, v04ca02, v06dcO1 qL hwin 231.9 2000 463.8
33691176/569 wy| nhnnpwp QL hwn 29980 150 4497.0
33691176/571 wy| nbnnpwp Q< hwn 4200 500 2100.0
33691176/572 w) nbnnpup G< hin 88.8 1000 88.8
33691176/573 wj| nbnnpuwp qc hwtn 2200 700 1540.0
33691176/574 wy| nEnnpwp QL hwn 516 2000 1032.0
33691176/575 wj| nEnhpw)p Q< hwtn 227.8 1500 341.7
33691198/503 wnhbdbnhntiht - A16AA02 QL hwn 1899 5000 9495.0
33691727/501 nbpuwnpng (nhpunpngh dntinhhnpuin) VO6DCO1, BOSCXO01 9L hwwn 36.22 10000 362.2
33691731/501 nhnudtiliinhin AO7BCOS5 9L hwwn 149 2100 312.9
33691811/501 phuwlnnhy L huwitn 36 700 25.2
33141166/501 hbujwpht 9< huwin 974 1000 974.0
33611100/501 odbiwypwgn| a02bc01 4 huwin 9.2 70000 644.0
33611120/503 $winnpnht AO2BAD3 q< hwtn 368 3000 1104.0
33611140/503 olinwlubwnpnt a04aa01 < hwwn 270 30000 8100.0
33611140/504 olinwlubiinpnt a04aa01 < hwwn 649 2000 1298.0
33611160/501 Ubnnlynwpwdpn a03fa01 < hwwn 40.98 1500 61.5
33611420/507 Yuwghnuwih gniynuwin al2aa03, di1ax03 AL hwiwn 87 10000 870.0
33611420/508 Yuwijghnwh gjniyntiwin al2aa03, dilax03 Q<L hwwn 129 10000 1290.0
33611470/502 Wwinnnwpwgng q<L huwn 33.21 2000 66.4
33611470/503 Wwinnwpuwgng < huwin 1290 800 1032.0
33621120/501 Fuopuwwjwpht b01ab05 GL huwitn 1069 13000 13897.0
33621230/503 Pnjwpent b03bbo1 < hwin 5 1500 7.5
33621590/501 Snipnubidhn c03cali G huwiwn 22.286 20000 445.7
33621610/504 dwuhinng a06ad16, b05be01, b05ecx04, r05chi6 S< huwin 512.7 1500 769.1
wpbnuhgninu a07ea01, c05aa04, d07aa03, d07xa02, h02ab06,
o e r01ad02, s01ba04, s01cb02, s02ba03, s03ba02 i i gl 120000 a0
33651118/501 gb$inphwpunt j01dd04 q< hwn 103 8000 824.0
33651131/504 i”ﬂr;‘it;‘:h'a"“”wqm +wpndaprunpy Otesl], Oteeds; [01ee05, | o hutn 13.2 40000 528.0
33651131/507 liJOnIiﬂ:Cu).l]Lih;aogqunL + wnphubipnuphd j01ee01, j01ee02, j0TeelS, ac o 567 50 284
33651134/502 ghfﬁni}:[oguwghh j01ma02, s01ae03, s02aal5, s03aal7 < hwwn 27 10000 270.0
33651138/501 [-n%joputughti j01mal2, s01ae05 9L huwtn 79.8 5000 399.0
33651140/502 ghdbbiughd j01de01 q< hwn 399.8 10000 3998.0
33651143/504 dbpnbiutad j01dh02 < hwn 2132 200 426.4
33651143/506 dbpnwbutud j01dh02 GL huwin 1970 1000 1970.0
33651150/503 $yniyntiugn) d01acl5, j02ac01, j02ac01 QL hutn 3390 500 1695.0
33651150/504 $nihntiwgn) d01acl5, j02ac01, j02ac01 L huwin 54 30000 1620.0
33651150/505 $yniiniwgn| d0tacl5, j02ac01, j02ac01 < huwwn 99 8000 792.0
33651318/503 Lhttignihn qc huwn 4500 400 1800.0
33661112/501 wpnwngn| ntax10 < huwin 444.9 1500 667.4
33661114/502 buwnwup) n01ah01, n02ab03 G hwin 450 400 180.0
{pnlwjpt cOTbb0T, c05ad01, d04ab01, n0Tbb03, r02ad0a,
33661116/505 <01ha07. <02da0! S< hwin 720 200 144.0
33661116/506 (hnnywyht c01bb01, c05ad01, d04ab01, n01bb02, r02ad02, ac o 2694.9 20 53.9
3?42%%1 c05ad01, d04ab01, n016b02, r02ad02
33661116/507 §01ha07, 502da0] oL hwitn 94.8 200 19.0
33661116/508 (hnnywjht: c01bb0T, ¢05ad01, d04ab01, n0Tbb02, r02ad02, ac huitn 37.8 3500 132.3
501ha07, s02da0i
33661120/504 tnp$hu n02Zaall 9< huwitn 450 400 180.0
33661120/505 Unp$hu n02aalt 9L hwin 6000 150 900.0
33661122/506 wwpuwghitnuning n02be01 9L hwin 2200 1000 2200.0
33661122/507 wwpwgbnwidng n02be01 QL huwwn 6.78 2500 17.0
33661127/501 Utinwidhgn| (Ukinwdhgnih bwnphnwi) NO2BB02 q< hwwn 34.7 10000 347.0
33661135/503 dhruwignjwii n05¢d08 qc huwn 511 300 153.3
33661185/501 Ywnnpnpwl (Uawnnpnpwbh twpndbunwdng QL hwtn 89 1500 133.5
33691112/505 dmnpnuhnwagni a0lab17, d06bx01, g01af01, j01xd01, p01ab01 QL hwn 212 2500 530.0
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33691112/506 dbnpnupnwgn| a0labl7, d06bx01, g01af01, j01xd01, p01ab01 QL hwin 5.02 800 4.0
33691112/508 dbwnpnupnwqn| a0labl?7, d06bx01, g01af01, j01xd01, p01ab01 qc hwn 1600 150 240.0
33691135/502 bwnphnwh phwppnlwn b05xa02 < hwn 960 20000 19200.0
33691145/501 :I;:tl;lg;mmdh unibwwn a06ad04, al2cc02, b05xa05, dl1ax05, ac i 20.8 3000 89.4
33691154/501 hnhtipunv08ab02 9< hwin 8700 700 6090.0
33691176/576 wy| nhnnpwp Q< hwn 6888.8 400 2755.5
33691176/577 wj| nbnnpuyp QL huwn 333.8 5000 1669.0
33691176/578 w| nbnnpuwp 4L huwn 77 1000 77.0
33691176/579 wy nbnnpwip 9z hwtn 147.85 2000 295.7
33691176/580 w)| nbnnpwip QL hwin 1388.8 1500 2083.2
33691176/581 wy) nbnnpup 9L huwin 1857 150 278.6
33691176/582 wj nEnnpwp QL huwin 89 2100 186.9
33691202/502 Einwdghjww - BO2BX01 9L hwwn 154 15000 2310.0
33691202/503 bunwidghjwu - BO2BX01 9< hwwn 34.8 6000 208.8
33691226/507 npwdwnng (npwdwnnih hpnpnpinphn)-N02AX02 L huwwn 17 100 11.7
33691226/508 npwiwnng (npwdwnnih hhnpnpinphn)-N02AX02 9L hwin 56.7 200 11.3
33691226/509 wnpduwinng (inpwdwnnih hhnpnpinphn)-N02AX02 L hwin 154 1500 231.0
33621290/503 Fuhtub$phtu (wnpbuwihu) a0lad01, b02bc09, cOlcad, rOlaald, ac BlaA 04 1000 94.0
r03aa01, s01eall
33621330/502 Uhlybpwdhn  RO7ABO2 9< hwwn 152 50 7.6
33621360/502 qihgtiph| Bnupwnpwn (Uhwnpngihgtiphti) c01da02, c05ae01 9L hwun 660 100 66.0
33621730/501 Ypwwwidh] c0Bda0! qc hwin 88 50 4.4
33651124/501 gbunwahnhd j01dd02 qc huw 2997 100 299.7
33651126/505 ghiunwdhght d06ax07, j01gb03, sO1aall, s02aal4, s03aa06 < hwwn 67 3000 201.0
33651137/501 Jwlilynuhght a072a09, j01xa01 q< huitn 1420 800 1136.0
33651224/501 dbpnuipbipuwwn 101bal1, 104ax03 QL hwwn 90 100 9.0
33651224/502 Uhipninpbpuwn 101ba01, 104ax03 S huwin 3990 100 399.0
33651224/503 Ubpnunpbpuwwn 101ba0t, |04ax03 9< hwwn 13999.8 600 8399.9
33651224/504 Ubpnunpbipuwwn 101ba01, |04ax03 < hwwn 22500 100 2250.0
33651227/502 nwywppwghu 101ax04 q< hwin 2000 0.0
33651230/503 nopunnniphghts 101db01 q< hwitn 13397 200 2679.4
33651230/504 nopunnniphght 101db01 < hwwn 5724 500 2862.0
1800 0.0
33651231/501 Funnwnghn 101cb01 Q<L hwin 350 200 5300
33651232/501 Lwppnwjwwht 101xa02 < hwwn 800 0.0
33651238/502 ghlyn$nuwipry 101aa0l q< hwwn 1000 0.0
33651238/503 ghln$nubwipn 101aadl 9< hwwn 2000 0.0
33651238/505 ghlyn$nubwiihn 1012201 q< hwin 700 0.0
33651239/502 ghinwpwpht 101bc01 q< hwin 1999.8 300 599.9
33651239/503 ghtwpwpht 101be01 9L hwn 4190 2000 8380.0
33651242/501 nngtinwpuby 101cd02 QL hwin 300 0.0
33651243/501 wwlyhinwpuby 101cd01 < hwtn 14899.8 500 7449.9
33651245/502 qtightinwpht [01bc05 < hwin 6588.8 600 3953.3
33651248/503 opuwhuwnhl 101xa03 ac hwin 17499.9 800 13999.9
33651248/504 opuw|hwywnft [01xa03 q< hwin 3160 100 316.0
33651251/501 Yuighnwh $njptwnl0ick01 qc hwin 1000 0.0
33651256/502 ghlnuwnpht 104ado1, s01xal8 qc hwwn 60999.9 40 2440.0
33651312/502 $ynipwpwpht 9L hwwn 28300 20 566.0
33661115/502 pnuwghyuiluwiht n0TbbO!1 q< hwwn 319.8 70 224
33661115/504 prwyhywluihu n01bb01 Q<L hwn 1999.8 50 100.0
33661136/503 nhuwgbuwy n05ba0 qc hwin 101 200 20.2
ntipuwdbpwgnu a0lac02, c05aa09, d07ab19, d07xb05, d10aal3,
SRRSDR h02ab02, r01ad03, s01badi, s01ch01, s02ba06, s03ba01 ¥ s 2000 e
33661159/501 $huhtbphu ($Buhitbphuh hhnpnpinphn) CO1CAO6 QL huwtn 77 150 11.6
33691133/502 ubpwiplyduu onip v07ab qc hwin 22.9 6000 137.4
33691176/505 wy) nbnnpup 9L huitn 15297 100 1529.7
33691176/506 w)| nbnnpwp q< hwitn 25900 90 2331.0
33691176/507 wy| nhnnpwp G<L hwn 262.5 800 210.0
33691176/508 wy| nbnnpwp 9L hwn 200 0.0
33691176/509 wy nbnnpup o< hwtn 45000 350 15750.0
33691176/510 wy| nbnnpw)p 9L hwn 600 1000 600.0
33691176/514 wy| ntnnpw)p qc hwin 6840 500 3420.0
33691176/515 w)| nhnnpw G hwin 8460 600 5076.0
33691176/516 wy) nbnnpuyp L huitn 13299 800 10639.2
33691280/501 ghuwywinhl 1 dg/d] 50 4] L hwn 6800 450 3060.0
33691500/504 npwlbpuwdwpent Q<L huwin 375 1500 562.5
33691500/505 unpwbipuwdwppnt GL hiutn 1899 3000 5697.0
33611180/502 (wlnnyng a06adil GL hwin 1690 1500 2535.0
33611390/502 uwhphropuht aliha0d2 q< hwin 29.9 1000 29.9
33611474/502 Uhdbinpynt QL hwin 28 1000 28.0
33611474/503 Uhdbwnplynu < hwtn 1370 150 205.5
33621100/502 hbwwpht bunnphnwd b01ab01, c05ba03, sO1xal4 QL hwn 3395 30 101.9
33621510/501 Yuwwuwnwph ¢0%aall Q< hwn 2.5 2000 5.0
33621620/502 uwhpnunjwlnnt c03da01 9L hwtn 47.94 1000 47.9
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hhnpnynpnhgnu a0lac03, a07ea02, c05aa01, d07aa02, d07xal1,
33621640/501 h02ab ba02. s01ch03. s02bad! 9g hwn 216 10 2.2
33621690/503 Ywpybnhin; c07ag02 G< huwitn 13.2 1170 15.4
33621760/503 Fuwwwphy ¢09aa02 Q< huwwn 4.4 100 0.4
33621777/502 Mthuwnopuwpuit QL hwin 157.1 252 39.6
33621783/501 unpwnpbuwiht wwpnpwin < hwwn 1790 100 179.0
33631200/501 npwu$tiuhyny, dbphinipughy DO6C < hwn 239.7 120 28.8
U jnn dO8
33631230/501 :qor:jrlrgn Jnn d0Bag02, d09aa09, d11ac06, gOlaxil, r02aal5, - 2900 70 203.0
33631290/501 hpnuwypn$bt c01eb16, g02cc01, mO1ae01, m02aal3 9L hwin 4.1 1000 4.1
33631290/502 hpnuypn$bis c01ebl6, g02cc0l, m01ae01, m02aal3 9< hwin 649 50 325
33631310/502 nhlyndbtwl ditaxi8, m01ab05, m02aal5, s01bc03 < huwin 114 150 17.1
33631310/503 nhlyn$btwl ditax18, m01ab05, m02aal5, s01bc03 9< hwn 69 200 13.8
33631360/501 unipuwdbpnupmd m03ab01 G< hwin 189.9 200 38.0
33631460/501 "Hopuwwupbun DO3AX03,RO1AXI0 q< hwin 3500 50 175.0
Phunwdbipwgnt (phnwdbpwgnuh nhypnwhnbwn),
33631470/502 ’

/ Ynunphiuigny, gbunwdhght (qhunwihghth uny$uwn) DO7CCOT | T bt N = 4.3
33642220/505 dbphjwpbnuhgnint d07aa01, d10aa02, h02ab04 < hwiwn 7900 10 79.0
33642250/503 dntunbiniwuwn < hwiwn 247.91 150 37.2
33651117/501 ghibhpupd j01dd08 9L hwin 333.9 1000 333.9
33651128/501 Uptpnnipwliinnght j01xe01 Q<L hwin 4 200 0.8
33651134/503 ghwnndjopuwight j01ma02, s01ae03, s02aal5, s03aa07 9L hwn 374.9 300 12.5
33651134/504 ghwpndjopuwght j01ma02, s01ae03, s02aal5, s03aa07 £ huwtn 4148 30 12.4
33651148/501 Yinunphdwgny a01ab18, d01ac01, g01af02 Q<L hwin 576 10 5.8
33651148/502 Yjninphdwgny aOlab18, d01ac01, g01af02 L hwn 192 10 1.9
33651195/501 dwiprnt unpuwy hdniunginpnyht j06ba L hwn 48000 50 2400.0
33651280/503 Uh$nipopuwghry AO7AX03 q< hwtn 89.5 1000 89.5
33651280/505 updnipopuwghn AO7AX03 &< huwn 1999 70 139.9
33661110/501 hgn$inipuwis n01ab06 9L hwin 78000 10 780.0
33661122/501 wwpwighnwiing n02be0t q< huitn 26.4 400 10.6
33661122/504 wwpwghunwidng n02be01 L hwwn 360 50 18.0
33661128/501 Ywppwiwgbwhu n03af01 ag huuwn 20 1000 20.0
33661137/501 |npuwgbwywd n05ba06 a< huin 14 100 1.4
33661147/502 ubinuinhguht n07aa01, s01eb06 G huwin 49.8 150 7.5
33661149/501 wighitnwgnjwdhns01ecOi a< huin 76.2 300 22.9
33661170/502 Mpnlwht (wWpnbwihtuh hhnpnpinphn) NOTBAO2 < hwn 550 100 55.0
33661181/502 Ulin$inipw 9L huwin 48000 15 720.0
33661183/502 ghuwwnpwlniphmd (ghuwwnpuwlyniphnud phghjuwn) q< huwitn 960 100 96.0
33671113/503 uwpnunwdn) r03ac02 < huwin 1190 15 17.9
33671116/505 pupjnutitnwgnihtu r01aa07, r01ab06, s01ga03 9L hwin 468 100 46.8
33671124/502 wnnppunihght, nbpuwdbpwgnt  SO1CA01 L hwin 1009 50 50.5

hujpwwpnwhnudh ppndhn (hypwnpnuhnwh ppndhnh
33671139/501 h 4026 40.3

. dntnhnpuitn), $unwtpny (Setninbpnih hhnanpandhn) < e 10
33691112/507 dtiinpnuhnwany allab17, d06bx01, g01af01, j01xd01, pOlabO1 G hwin 480 20 9.6
33691176/517 wy| nbnnpwp q< hwin 1537 40 61.5
33691176/559 w)| nEnnpwp QL huwin 864 20 17.3
33691176/583 wj| nEnhpwjp QL hwn 7050 560 3948.0
33691191/503 $nubnihujpnubip (fubighwy)-ESL A0SC 9< hwtn 590 280 165.2
33691198/504 wnhdbwnhntiht - A1I6AAQ02 G hwin 462 1500 693.0
33691199/501 uhihdwpht - AOSBAD3 G< hwwn 20.63 5000 103.2
33691201/501 Yuindwiunwnh ngbipnipd - NOSCMO9 pniuwlwl dwqudwt nbr < huwin 125 100 12.5
33691212/502 nhnudhu, hbuwbphnhu-CO5CAS3 9< hwin 74.5 120 8.9
33691223/501 Lwnpnwwphup Yughnidwlwy wn- BOTABOG S< hwwn 874.9 100 87.5
33691223/502 Uwnpnwwphup Yuighnuwlwu wr- BOTABOG G< huiwn 1254.9 100 125.5
33691231/503 Yuiighnuip Yuippnliwin, funjbluwigh$tpng AT2AX 9 huwn 45.05 2000 90.1
33691236/502 gﬂg:ﬂg‘“dhv ‘etnpnuiuidpti hnpnpinphiy ROSACO3, a< hwn 107 500 53.5
33691600/501 |-binhpuwghnwd q< hwin 109 1000 109.0
33691730/503 bpywph hhnpopuhnh nbpunpwbwiht hwdwhp BO3AC QL hwwn 668 200 133.6

9L hwwn 0.0

|wpnpwnnp b phdhwlwl wonwiynipbp (nbwgbunubn)

33141211/689 pdouwljwl wy| gnpdhplbp — wwpwgwubp < hwn 84000 4 336.0
33141223/529 pdalwlwl w)| gnpshpubip — Wwpwqwubp pugqdwyndwnubun QL Inwlwqud 40000 60 2400.0
33141223/530 pdalwiljut wy gnpdhpubn - wWwpwgwubn puqiwyndwnubln 9< [nwlugd 39999 2 80.0
33141223/531 pdolwlwl w) gnpshpubin — wWwpwquwubp pugdwyndunubun q< Inwiljuqu 39999 2 80.0
33141223/532 pdalwlwl w) gnpdhpubin — wwpwgwubp pwqiwlndunubln Qg Inwlwqud 849999 2 1700.0
33141223/533 pdaluwlywl wy gnpdhpubip — wWwpwagwubp pugdwyndwyntblun q< Inwlugy 240000 2 480.0
33691162/1136 |wpnpwnnp wgnwtynyabp (nbwgblnubn) 9L hwin 72999 2 146.0
336911621137 |wpnpwunnp warutynyabp (nBugblnlbp) 9L hwn 51999 2 104.0
33691162/1138 |wpnpwwnnp wgnwynyebp (nbwgblntbp) < hwn 63999 4 256.0
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33691162/1139 |wpnpwnnp wgnwuniebp (nbwgblnutn) Q< huwn 89000 80 7120.0
33691162/1140 |wpnpuwnnp wgnwlnyelp (nbwgbUnutp) L huwn 130000 80 10400.0
33691162/1141 |wpnpwwnnp wgnwuniphp (ntwgbtnutn) 3L hwin 50000 80 4000.0
33691162/1142 |wpnpuwinnp wgnwngebp (nbwgbUwnubip) 9L hwin 59000 80 4720.0
33691162/1143 |wpnpwwnnp wgnwuniehp (nbwgblnubn) QL hwwn 138999 2 278.0
33691162/1144 |Wpnpwnnp wanwinyebp (nbwgbunubn) b hwn 91999 4 368.0
33691162/1145 |wpnpwwnnp wgnwtnysbp (nbwgbUnubn) q< hwwn 67998 2 136.0
33691162/1146 [upnpuwinp wanwngphp (nbwgblntbp) 9< hwwn 104000 3 312.0
33691162/1147 |Wwpnpuwinnp wgnwunyebp (nbwgbunubp) Q< hwun 64999 5 325.0
33691162/1148 |wpnpwiwnnp wgnwuniphp (nbwgbunutn) < hwn 61999 4 248.0
33691162/1149 |wpnpwwnnp wgnwniphbp (nbwgbunubn) QL hwwn 798000 4 3192.0
33691162/1150 |wpnpwwnnp wgnwnyehbp (nbwgblnubn) QL hww 60000 3 180.0
33691162/1151 [wpnpwnp wgnwunipbp (nbwgbunubp) L hwwn 84999 2 170.0
33691162/1152 |wpnpwwnnp wgnwuniphp (ntwgbunubp) < hwwn 84999 2 170.0
33691162/1153 |wpnpwwnnp wgrnwlngatip (nbwgblnubp) 9< hwin 84999 2 170.0
33691162/1154 |wpnpwwnnp wgnwlniphp (nbwghbnubp) L hwwn 33075 2 66.2
33691162/1155 |wpnpwinnp wgrwyniabip (nbwgbunutip) < hwwn 84000 2 168.0
33691420/639 (wpnpwwnp wgntnyebip (nbwgbtnubn) puquwnuiwynuttn 9L Inwlwqu 69000 1 69.0
33691420/640 |wpnpwwnp wanutgnipbn (nbwgbbnubp) pugqdwlniynubln q< [nwlwgd 42000 3 126.0
33691420/641 |wpnpwnnp wanwuniyebn (hbwgbunubn) pwgdwndunubunm q< Inwlwqu 69000 3 207.0
33691420/642 |wpnpwnnp wanwunyebp (nbwginubp) puguwlndynubun qc Inwljuqud 639000 3 207.0
33691420/643 (wpnpwwnnp wqnulnyetp (nbwgblnubn) pugquwlniwynubn q< [nwlwqu 40000 3 120.0
33691420/644 |wpnpwwnnp wgnwlynpbp (nbwgbbnubn) pugiwndwnubn Q< Inwluqu 108000 2 216.0
33691420/645 |wpnpwwnnp wgnuyniebp (nBwgbUnubn) puguwiniuynubtn q< [nwlwqu 214998 2 430.0
33691420/646 (wpnpwwnnp wanwtniphp (nbwgblnubn) puquwyniwynuttn q< Inwlwuqu 36999 2 74.0
33691420/647 |wpnpwinnp wqnutgnyebn (nbwgblinubn) puquwynidunubun Q<L [nwluqu 33000 2 66.0
33691420/648 |wpnpwwnnp wanutynipbp (nbwgbtnubn) puquwlyniwynubn 9L Inwljuqu 69000 5 345.0
33691420/649 |wpnpwinnp wgnutyniebp (nbwgbbnubn) puquwniuynutbun <L Inwwqu 32499 5 162.5
33691420/650 |wpnpwnnp wanwunebp (nbwgblnubp) puqiwnduynubn Q< Inwlwigu 32499 5 162.5
33691420/651 [wpnpwwnnp wqnwinipbn (nbwgbtnubn) puquwlniuynubn q< Inwljuqu 42000 2 84.0
33691420/652 |wpnnwunp wgrwbniebp (nEwgblnubn) puwgdwndwnubun q< Inwlwqu 42000 2 84.0
33691420/653 |wpnpwwnnp warwtnetp (atwgbunubp) pugdwyndunubun < \pwijugy 55998 2 Nn2.0
33691420/654 |wpnpwwnnp wqnunipbp (nbwgbunubn) pugquiwlndynubn < Ipwluuqu 76998 2 154.0
33691420/655 |wpnpwwnnp wgnwnetin (nbwgbunutn) pwgdwindwnubun q< Inwlwqu 42000 5 210.0
33691420/656 |wpnpwnnp wgnwniebin (nbwgblnubn) pwgdwinduntbun 9< Inwlwqd 47000 3 141.0
33691420/657 |wpnpwwnnp wqnwtniebp (nbugbUnubn) puguwlndwnubtn 4< Inwlwgd 42000 2 84.0
33691420/658 |wpnpwinnp wanwniebn (nbwgbunubn) puwgdwyndynubn q< Inwlwgy 104000 3 312.0
33691420/659 |wpnpwinnp wgnutynipbp (nEwgblnubn) puqiwlndunttin Q< Inwlwuqu 202000 3 606.0
33691420/660 (wpnpwwnnp wgnunyebp (nBwgbtinubn) puquwynduynutiun < (nwlwqy 202000 3 606.0
33691420/661 {wpnpwnnp wanwnatin (nbwgbunubp) puquwlndynubun QL Inwlwuqy 35489 2 71.0
33691420/662 lwpnpwinnp waruwbnptbn (nbwgbumubp) puqdwlndynubunm q< IPwlugd 103998 2 208.0
33691420/663 |wpnpwnnp wqrwtynyebp (nbwgbunlbn) pwgdwlndyntbln Q< (Pwljwgd 58998 2 118.0
33691420/664 wpnpwwnnp wanwinipbn (nbwgbunubn) pugiuynduntibum q< Inwlugy 354999 4 1420.0
33691420/665 (wpnpwwnnp wqnwtgnyebp (nbwgbtnubp) puqdwindwnubun q< (nwluqd 99999 2 200.0
33691420/666 wpnpwnnp wanwlnipbn (nbwgblunubp) pugdulnduyntblun Qg Inwlugd 63000 2 126.0
33691420/667 |wpnpwwnnp wqnuwtgnyebp (nbwgblnbbn) pugdwlnduntbtin q< Inwljuqu 32000 60 1920.0
33691420/668 wpnpwinnn wanwnigetin (nbwgbunubp) pugduynduntbun < [Pwluigy 32499 10 325.0
33691162/1156 |Wpnpuwwnnp wgnwunyebp (nbwgbunubp) < hwin 470 200 94.0
33691162/1157 |wpnpwinnp wgnwlnehn (nbwgblnubp) L hwwn 470 200 94.0
33691162/1158 |wpnpwwnnp wqnwnyehp (nbwgblnlbn) L hwin 700 200 140.0
33691162/1159 |wpnpwnnn wgrwtynetin (nbwgblntp) 9L hwn 1980 110 217.8
33691162/1160 |wpnpwinnp wanwtngetin (nbwgblnubn) 4L hwn 1650 100 165.0
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33691162/1161 |wpnpuwinnp wgnwinysbp (nbwgbuwnmutp) QL hwn 900 230 207.0
33691162/1162 JWphpwnhp wgnwunipbp (nbwgbtinutn) QL hwwn 5280 20 105.6
33691162/1163 (wpnpwinnp wgnwniehp (nbwgbtntbn) L huwn 2040 20 40.8
33691162/1164 Jwpnpwwnnp wgnwuniphp (nbwgbtnnutin) SL hwtn 4600 20 92.0
336911621165 |wpnpuwithnp wgnwunyebp (nbwgbtnttn) L hwn 1150 100 115.0
33691162/1166 Jwpnpwnnp wgnwuniehbp (nbwgblnutn) Q< hwn 2800 35 98.0
33691162/1167 |wpnpwinnp wgnwgnipbp (nbwgblnttbp) G< huitn 12000 30 360.0
33691162/1168 |wpnpuinnp wgnuinyelip (nbwgbunbn) §< hwwn 67000 10 670.0
33691162/1169 jwpnpwinnp wgnwnebp (nbwgbtintibn) G< hwwn 6600 2 13.2
33691162/1170 Jwpnpuwinnp wgnwnyabp (nbwgbntbp) [ hiun 21000 2 42.0
33691162/1171 Jwpnpwnnp wgnwniphp (ntwgbtnubn) < hwn 30000 2 60.0
33691162/1172 |wpnpwnnp wgnwniphp (ntwgbtiinubn) G4 huwn 15600 2 31.2
33691162/1173 |wipnpuitnnp wygnwinyebp (nbwgbUuntbn) 9L hwwn 35000 2 70.0
33691162/1174 Jwpnpuwinnp wgnwnipbp (nbwgbunubp) Q< hwun 22800 2 45.6
33691162/1175 |wpnpuwinnp wgnwnyebp (nbwgbuwnubp) L huwin 57000 2 114.0
33691162/1176 |wpnpwwinp wgnwuniehp (nbwgbtinutn < hwwn 47000 2 94.0
33691162/1177 |wpnpwwnnp wgnuwngstp (nbwgbUwnubp) < huwwn 18000 2 36.0
33691162/1178 |Jwpnpuinnp wgnwnipbp (nbwgbunutp) q< hwwn 48000 2 96.0
33691162/1179 |wpnpuwinnp wanwinyelp (nbwgbUntbp) < hwn 34800 2 69.6
33691162/1180 |wpnpwinnp wqrwiynyebp (nbwgbunubp) Q< hwwn 33000 2 66.0
33691162/1181 |wpnpwwnnp wgnwniehbp (nbwgbunutp) <L hwwn 97000 2 194.0
33691162/1182 |wpnpuwinnp wgnwiniyebp (nbwgblnubn) < hwwn 2 0.0
33691162/1183 |wpnpwnnp wgnwyniehbp (nbwgbnutp) Q< hwiwn 20000 2 40.0
33691162/1184 |wpnpwwnnp wanwbnyebp (nbwgblnbp) Q< hwwn 21600 2 43.2
33691162/1185 |wpnpwnnp wgnwbynysbp (nbwgbluubp) QL hwun 24000 2 48.0
33691420/669 526000 40 21040.0
\wpnpwinnp wanwnstn (nbwgbtnubp) pugdwlndyntbt, L Inwlwqy 20 0.0
1210000 20 24200.0
33691420/670 |wpnpuwnnp wgnwnyabn (nbwgbtnubp) pugdwyndwntibtn qc [nwlwuqu 20 0.0
33691420/671 |wpnpwnnp wanwnptn (nbwgbumnubp) pwguwyndunubun qc [nwiljwgy 215000 8 1720.0
33691420/672 \wpnpwwnnp wanwbnyetin (nbwgbunubp) pwgdwyndunubtin < (nwlwqu 151200 4 604.8
33691420/673 lwpnpwinnp wgnuwunyatip (nbwgbumnubp) puqiwlndunubn QL Inwlwqy 363000 1 363.0
33691420/674 [wpnpwnnp wanwnebn (nbwgbunubp) pugdwndynubn QL [nuwljwgd 175998 1 176.0
33691420/675 {wpnpwnnp wanuwunatin (nbwgbunubp) pugiwindwnubitun Q< Inwljqy 157998 1 158.0
33691420/676 |wpnpunnp wanwnyabip (nbwgbunlbp) puquwyndwnutiun Q< Inwlqy 85999 4 344.0
33691421/522 Jwpnpwnnp wgnwbnysbp (nbwgbbntbp) hbnmly q< hup 0.5 0.0
33691422/568 lwpnpwinnp wanwnyetn (nbwgbnmubp) tingh Gud gputngubp Qg Uhngpuwd 0.5 0.0
33691422/569 [wpnpwnhp wgnwunyabip (nbwgbtntibn tngh Yud gpwuniyubin QL Yhngpwd 1200000 0.1 120.0
33691422/570 (wpnpwnnp wanuignuyebn (nbwgbintibin) thnoh Ywd gpuwtingup|  9< Yhingpuwid 1140000 0.1 114.0
33141211/690 pdolwlwt wj gnpdhplbip — Wuipwgqulbn q< hwin 246000 8 1968.0
33141211/691 pdoluwilyuwits wy qnpdhplibp — wwpwqwubn 9< huwtn 110300 4 4412
33141211/692 pdalyuwljwl wy gnpdhplibip — Wwpwgwubp QL hwtn 6100 60 366.0
33141211/693 pdolywiljuit wy gnpdhplibip — Wwpwguwubp QL hwn 57100 2 114.2
33141211/694 pdoliwluwit wy gnpdhpubin — wwpwgwubp q< hwn 2500 4 10.0
33141211/695 pdalwlwl w) gnpshpubip — wwpwgwubp &L huwwn 1000000 1 1000.0
33141211/697 pdolwlwl w) gnpdhputip — wwpwgwbp Q< huwin 960000 2 1920.0
33141211/698 pdalwlwl wy gnpdhpubip — wWwpwgwbp L hwn 246000 6 1476.0
33141211/699 pdalwlwl w) gnpdhpubip — wWwpwgwubp 9L hwn 1195000 2 2390.0
33141223/534 pdalwlwl wy gnpdhpubip — wwnpwagwubp puqdwyndwnubbn q< Inwlwqu 44600 6 267.6
33141223/535 pdalwlwt wy gnpdhptbp — wwnwgwubn pugdwiniyntibn 9L [nwlwqu 33300 12 399.6
33141223/536 pd2lwlwl wj gnpshpubin — wwpwqwubp pugiwyndunubln q< Inwlwqu 648300 4 2593.2
33691162/1186 |wpnpwinnp wgnwynyebp (nbwgbunubn) < hwtn 19875 28 556.5
33691162/1187 |wpnpwunnp wygnwinyebp (nbwgbuwnubn) < hww 7540 75 565.5
33691162/1188 |wpnpwnnp wanwynyebp (nbwgbuwnubn) < hwin 13846 65 900.0
33691162/1189 |wpnpwunp wgnwnyebp (nbwgbunubp) 9L hwin 17143 70 1200.0
33691162/1190 |wpnpwinnp wgnwnyebp (nbwgbuntbp) 9< huwn 14200 60 852.0
33691162/1191 |wpnpwinnp wgnwtynyshp (nbwgbtntubn) QL hwwn 16800 50 840.0
33691162/1192 |wpnpwinnp wgnutyniyebp (nbwgblnubp) q< hwwn 13875 40 555.0
33691162/1193 |wpnpwwnnp wgrwbynebp (nbwgbtnubp) 9L hwn 18750 12 225.0
33691162/1194 Jwpnpwnnp wgrubynphbn (nbwgbtuntbp) q< hwwn 15800 60 948.0
33691162/1195 |wpnpwwnnp wanuwbyngebp (nbwgblnubp) L hwwn 15800 60 948.0
33691162/1196 |wpnpwiinnp wanwynyabip (nbwgblnubp) L hwwn 20182 55 1110.0
336911621197 |wpnpwwnnp wgnwynyabp (nbwgblnubp) < hwwn 32000 3 96.0
33691162/1198 |wpnpwinnp wagnwiynyabp (nBwghlnubp) 9L huin 14357 7 100.5
33691162/1199 Jwpnpwnnp warubynsbip (nbwgbunutp) < hwwn 31417 18 565.5
33691162/1200 |wpnpwnnp wanubjnyetip (nbwgblnlbp) QL huwn 139113 75 10433.5
33691162/1201 |wpnpuwwnnp wanwnuyatip (hbwgbuwnubn) 9< hwin 11645 55 640.5
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33691162/1202 (wpnpwnnp wgnwiynysbp (nbwgblnubp) 9L hwn 46900 55 2579.5
33691162/1203 |wpnpwinnp wgnuwlnipbp (nbwgblntbn) q< hwitn 15000 10 150.0
33691162/1204 |wpnpwinnp wgnwlynyabp (nbwgblnubpn) 9 hwin 93900 6 563.4
33691162/1205 |wpnpwwnnp wgnwynyetp (hhwgbunubp) QL hwn 14675 60 880.5
33691162/1206 |Wpnpwwnnp wgnwynyatp (hawgblunubn) L hwn 5308 65 345.0
33691162/1207 [wpnpuwnp wgnutynpbip (nbwgblnbp) QL hwin 13333 45 600.0
33691162/1208 |wpnpwinnp wgruwiynyatip (nbwgblintbp) 9L hwn 27300 70 1911.0
33691162/1209 |wpnpwiinnp wgnwityniebp (nbwgbtintp) 9< hwin 8375 12 100.5
33691162/1210 Jwpnpwnnp wgnuwnyehip (nbwgblnttp) 9L hwn 40000 5 200.0
33691162/1211 |wpnpwwnnp wgnuwbnyabp (nbwgbtintbp) Q<L hwn 27500 8 220.0
33691162/1212 Jwpnpwnnp wgnwnyatip (nbwgbunubn) 4L hwn 26700 15 400.5
336911621213 |wpnpuwinnp wynwnyebp (nbwgbtnutbn) < hwwn 16750 2 31.5
33691162/1214 (wpnpunnp wagnwnuyztip (nbwgbitinutn) L hwtn 25875 2 51.8
1336911621215 Jwpnpwnnp wgnwnyabip (nbwgbtnubn) q< hwtn 20500 7 143.5
33691162/1216 Jwpnpwnnp wanwnyehip (nbwgbitubp) QL hwin 18370 15 275.6
336911621217 |wpnpwinnp wgnwbnyatp (nbwgbbnubp) QL hwn 10125 4 40.5
33691162/1218 Jwpnpwwnnp wgnwunyabip (nbwgbtinubp) G huwin 43600 3 130.8
33691162/1219 \wpnpwinnp wgnwnptp (nbwgbtnlbp) 9L hwin 77400 1 77.4
336911621220 Jwpnpwinnp wgnuwinyebp (nbwgblinlbp) QL hwwn 50500 4 202.0
3369116211221 Jwpnpwinnp wanubnyebin (nbwgbtnutbp) <L hwin 40100 6 240.6
33691162/1222 |wpnpwnnp wgnuwbnyatp (nbwgbumnubp) < hwn 133100 6 798.6
33691162/1223 |wpnpwinnp wgnwbnysbp (nbwgbbunttbn) < hwn 263400 6 1580.4
33691162/1224 Jwpnpwnnp wgnwbnyesbp (nbwgbtiinibn) QL hwin 329400 6 1976.4
33691162/1225 Jwpnpwnnp wanuwnyship (nbwgbtiuntibn) QL huwin 159900 16 2558.4
33691162/1226 |wpnpwnnp wgnwuniplp (nbwgbtmutp) QL hwn 138600 8 1108.8
3369116241227 |wpnpwinnp wgnwlnyabn (nbwgblntbn) QL hwtn 120800 8 966.4
33691162/1228 \wpnpuwnnp wanwnyatip (nbwgbtinutp) QL hwn 124400 8 995.2
33691162/1229 Jwpnpwnnp wgruuniphip (nbwgbtnubp) G< huwwn 172400 72 12412.8
3369116211230 Jwpnpwinnp wgnwnyetin (nbwgbtiinlbp) 9L hwwn 15100 6 90.6
33691162/1231 |wpnpuwitnnp wgnwnuatip (nbwgblnutbn) QL hwn 24720 2 49.4
33691162/1232 Jwpnpwwnnp wgnwnebp (nbwgbtiinubp) QL hwun 22500 2 45.0
33691162/1233 |wpnpuwinnp wgnwinyebn (nbwgbbntibp) 9L huwwn 41550 10 415.5
33691162/1234 \wpnpwiinnp wgnwujnizbip (nbwgbunubn) Q<L hwin 66000 5 330.0
33691162/1235 |wpnpuwiinnp wgnuwnystp (nbwgbuwnubp) QL hwn 38000 15 570.0
33691162/1236 |wpnpuwinnp wgnwunystp (nbwgbUnutp) QL hwtn 67000 1 67.0
33691162/1237 |wpnpwnnp wgnwuniphp (nbwgbtnutp) 9L hwn 115000 4 460.0
33691162/1238 Jwpnpwinnp wanwnyebip (nbwgbtnutn) L hwin 73000 8 584.0
33691162/1239 |wpnpuwnnp wgnwnyabp (nbwgbUwnubp) < hwn 250000 50 12500.0
33691162/1240 Jwpnpwnnp wgnwunipkn (nbwgbtiinutn) Q<L hwin 100000 1 100.0
33691162/1241 |wpnpwinnp wgnwbnystp (nbwgblnutp) QL hwwn 58000 3 174.0
33691162/1242 |wpnpwinnp wgnwbnyebp (nbwgbUnutp) QL hwtn 58000 10 580.0
33691162/1244 JWpnpwinnp wgnwuniplp (nbwgbunubn) QL hwn 27000 8 216.0
33691162/1245 |wpnpwnnp wgnwujnyatip (nbwgbunutip) 9L hwin 40000 5 200.0
33691162/1246 \wpnpuitnnp wgnwnyatp (nbwabUntbn) QL hwn 103000 2 206.0
33691162/1247 |wpnpuwinnp wgnwunyabn (nbwgbUwnutp) QL hwun 29000 12 348.0
33691162/1248 |wpnpuwiinnp wgnunysbp (nbwgbtnutn) Q<L hwn 18000 40 720.0
33691162/1249 |wpnpwinhp wgnuwjnyebp (nbwgbuwnubp) QL hwtn 18000 40 720.0
33691162/1250 Jwpnpwiinnp wanwuniehp (nbwgbtiinubp) < hwin 86000 4 344.0
33691162/1251 Jwpnpwinhp wanwuniehp (nbwgbnubn) Q< huwwn 53000 7 371.0
33691162/1252 |wpnpuinnp wgnwunyebp (nbwgbuwnubp) QL hwn 77000 9 693.0
33691162/1253 jwpnpwnnp wanwunebp (nbwgbuntibp) 9L hwin 40000 9 360.0
33691162/1254 |\wpnpuwinnp wanwingatip (nbwgbtnutn) QL hwitn 20000 15 300.0
33691162/1255 wpnpwinnp wgnwuniphp (nbwgbnubp) 9L huwitn 21000 6 126.0
33691162/1256 |wpnpwinnp wanuuniehp (nbwgbtnubn) 4L hwin 165000 3 495.0
33691162/1257 wpnpwinnp wgnwunipbp (nbwgblnubp) GL huwin 89000 3 267.0
33691162/1258 |wipnpuwiinnp wgruwuniebp (nbwgbunubp) a< huwin 21000 4 84.0
33691162/1259 |wpnpwnnp wanwunehbp (nbwgbunutin L hwwn 36000 1 36.0
33691162/1260 |wpnpwinnp wgnwiynyebp (nbwgbunubp) G< huwin 67000 1 67.0
33691162/1261 |wpnpwnnp wgnwnyebp (nbwgbunubp) QL huitn 157000 2 314.0
33691162/1262 |wpnpwinnp warnwinyebp (nbwgbunubn) < huwin 170000 1 170.0
33691162/1263 |wpnpwwnnp wgnwiniphp (nbwgbunubn) 9L huitn 22500 1 225
33691162/1264 |wpnpwwnnp wanwnyebp (nbwgbunubp) 9L hwn 40000 1 40.0
33691162/1265 |wpnpuwwinnp wgnwnietp (nbwgbuwnubn) 9L huitn 131000 1 131.0
33691162/1266 |wpnpuwwinnp wgnwunyebp (nbwgbUntbp) <L huwitn 11000 15 165.0
33691162/1267 |wpnpwnnp wanwuniphbp (nbwgbunmutn) L hwn 43000 2 86.0
33691162/1268 |wpnpuwinnp wgnwinyebp (nbwgbuwnmubp) qL huwin 20000 60 1200.0
33691162/1269 |wpnpuwwnnp wgnwunebp (nbwgbtinutp) b 2 hwwn 4000 60 240.0
33691162/1270 |wpnpwinnp wgnwunyelp (nbwgbunubp) L huwin 6000 5 30.0
33691162/1271 jwpnpwwnnp wgnwunehp (nbwgbunutn) < hwwn 8000 2 16.0
33691162/1272 |wpnpuwnnn wgnwngabn (nbwgbuwnbp) G< hww 17000 35 595.0
33691162/1273 |wipnpuwiinnp wgrwniypbp (nbwgbunubp) 9L hwin 277000 1 277.0
33691420/677 |wpnpwwnnp wanwunpbp (nbwgbtinubn) puqiuyndunttin < Inwlwgu 44100 1 44.1
33691420/678 |wpnpwwnnp wqnutnyebp (nbwgblnubn) pugduinduntbtn qL Inwluqy 21400 4 85.6
33691420/679 [wpnpwwnnp wqnwungpbp (nbwgbUnubn) pwquiwyndunubun QL Inwlwqu 47800 6 286.8
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33691420/680 [wpnpwwnnp wgnuwtynipbp (nbwgbinubn) puquwlndwynttiin Q< Inuwljugd 42500 12 510.0
33691420/681 Jwpnpwinnp wanwunabn (nbwagbtnubp) puqiwndynubm QL nwlwuqy 21700 6 130.2
33691420/682 Jwpnpwinnp wqnwnyetin (nbwgbunubn) puqiulndynutun QL [nwljugy 114900 8 919.2
33691420/683 {wpnpwnnp wgnwunyabp (nbwgblntbn) pugqdwyndwnutium 9 [nwlugy 46875 4 187.5
33691420/684 |wpnpwinnp wanwnyetin (nbwqbunubp) pugduindynubm QL [nwluqy 185200 8 1481.6
33691420/685 {wpnpwinnp wanwnebn (nbwgbinubp) puqiwlndwnubun Q< [nwluqy 185200 8 1481.6
33691420/686 {wpnpwnnp wanwnetin (nbwgbbntbp) pugdwyndwnubm Q<L [nuwljugu 37500 8 300.0
33691420/687 \wpnpwnnp wqnwnyabn (nbwgbunbbin) pugquwlndwnubun QL (nwilpuqy 19568 22 430.5
33691420/688 \wpnpwinnp wgnwnyetn (nbwgbinutbn) pugduyndynubun GL [nwljwgd 35250 2 70.5
33691420/689 lwpnpwinnp wgnwnebp (ntwgbtnutp) pugduyndynubn G \pwlywqd 270000 5 1350.0
33691420/690 [wpnpwiihnp wgnwunyebp (nbwgbunubn) pugdwlndunubun 4 [nwiljug 22500 5 12.5
33691420/691 {wpnpwnnp wgnwunehbn (nbwgbnutp) pugduindynubun QL (nwljuqd 57300 3 171.9
33691420/692 |wpnpwnnp wanwunetn (nbwgbnutn) puqiundynubun QL [nwlugy 50600 3 151.8
33691420/693 |wpnpwinnp wgnuwunyebp (nbwgblnutbn) pugduyndwnubiun QL [Pwlugy 50600 3 151.8
33691420/694 {wpnpwinnp wanwunpbn (nbwgblnubn) pugduyndynubun Q< [nwlugd 65600 40 2624.0
33691420/695 |wpnpwinnp wgnwuniebn (nbwgbunutp) puqiuyndynubun Q< Inuwibuqud 72500 3 217.5
33691420/696 (wpnpwinnp wonwnpbn (nbwgbtnutn) pugdulndynubun g Inwluwqd 72500 3 217.5
33691420/697 [wpnpwnnp wonwunpbn (nbwgbunubp) puqdwlndynubun ag Inwlwqu 72500 . 07.5
33691420/698 {wpnpwinnp wqnwunebn (nbwgbtnutn) pugduyndynubn QL Inwljuuqd 52100 4 208.4
33691420/699 \wpnpwnnp wanwnyatip (nbwgbtnbibn) puquwlndwynubun < (Pwljuwgd 67500 2 135.0
33141211/700 pcolwliwits wy) gnpdhpubin — wwpwgqubp QL huin 44000 1 44.0
3341211701 pdolwliwit wy gnpdhpubip — Wwpwgwubp q< huin 261 1000 261.0
33141211/702 poplwiliwi wy) gnpdhpubip — wwpwgwubp < huwin 21000 20 420.0
33141223/537 pdalwlwl w) gnpshpubp — Wwpwquubp pwqdwyndwynublun qg Inwljuqu 45600 40 1824.0
33141223/538 pd24wliwt wy| gnpdhptbp — Wwpwgwubp pugdwyndynubun Q<L [nwlwgd 46300 20 926.0
33141223/539 pdolwiluwt wy gnpdhpubin — wWwpwawlbp puqdwyndwnubun &< (nulwqy 24400 2 48.8
33691160/559 phupwlwl wgnwnetp (nbwgblunutbp) g huitn 11600 40 4464.0
33691160/560 phupwbwl wgrwnyatp (nbwgblwnubp) < hwiwn 79200 40 3168.0
33691160/561 phuhwhwl warutnyatp (nbwgblwnubp) q< huin 252000 40 10080.0
33691160/562 phihwlwl wgnuwlynyskp (nhwgbuntbp) qc hwn 131400 40 5256.0
33691160/563 phihwlwl wanwiynyekp (nbwgbunutn) G hwitn 67500 2 135.0
33691160/564 phihwlwl wanuwlynystip (nEwgbunubp) G huwin 67500 2 135.0
33691160/565 phihwlwl wanwiynphp (nEwgblnubn) q< huwn 283500 25 7087.5
33691160/566 phdpwlwl wgnwunyetp (nbwgblnubn) QL hwin 96300 2 192.6
33691160/567 phupwlwy wanwljnphbp (nbwgbtinubn) QL huwtn 96300 2 192.6
33691160/568 phuhwlwl wgnutnyebp (nbwgblunutin) QL hwwn 239400 2 478.8
33691160/569 phipwlwu wgnwumptp (nbwgbnubn) 9L hiwin 490000 10 4900.0
33691160/570 phupwlwl wgnwnyabip (nbwgbuntbn) < huiwn 75000 2 150.0
33691160/571 phuipwlwl wgnwujnphbp (nbwgbuwubn) 9L hwin 75000 2 150.0
33691162/1274 [wpnpwwnnp wgnwungebp (nbwgbiinutip) QL hwwn 64320 60 3859.2
33691162/1275 jwpnpwwnnn wgnwlnustin (nbwgbunubp) Q< huiwn 46000 2 92.0
33691162/1276 |wpnpuinnp wgnwnehp (nbwgblnubn) QL hwiwn 55200 60 3312.0
336911621277 Jwpnpwwnnp wgnwniehp (nbwgblnubn) 9L huwiwn 43600 2 87.2
33691162/1278 |wpnpwinnp wgnwniehp (nbwgbunutn) GL hwiwn 118800 60 7128.0
33691162/1279 |twpnpwinnn wanwlnietn (nbwgbuwnubp) 4L hwwn 121280 2 242.6
33691162/1280 |{wpnpwiinnp wgnwnipbp (nbwgbunubn) 9L huwin 92950 60 5577.0
33691162/1281 |wpnpwwnnp wgnwuniphp (nbwgbunutn) 94 huwin 58240 2 16.5
33691162/1282 Jwpnpwwnnp wgnwniehp (nbwgblinutng < hwwn 69800 12 837.6
33691162/1283 {wpnpuiwnnp wgrwunyebp (nbwgbiunubn) 3L huwitn 24000 3 72.0
336911621284 jwpnpwwnnp wanwuniehp (nbwgbunutin q< hutn 98500 8 788.0
33691162/1285 |wpnpwunnp wgnwunebp (nbwgbwnutp) QL hwin 25600 2 51.2
33691162/1286 |wpnpuiinnp wgnwiingzbp (nbwgbunubn) < hwin 84000 3 252.0
33691162/1287 |Wwpnpuwithnp wgnwuinyebp (nbwgbunubn) 3L hwtn 56560 2 113.1
33691162/1288 |wpnpwinnp wgnuunipbp (nbwgbiunubin) S< huin 84000 3 252.0
33691162/1309 |Wwpnpuwinnp wgnwunypbp (nbwgbiunubin) SL hwn 53040 2 106.1
33691162/1310 jwpnpwwnnp wanwunighp (nbwgblnutng 9L hwin 71680 40 2867.2
33691162/1311 [wpnpuiinnp wgrnwunpbp (nbwgbunubn) 8L hwin 24850 3 74.6
33691162/1312 |wpnpwwnnp wgnwunyebp (nbwgbunutn) 9L hwiwn 49840 2 99.7
33691162/1313 |wpnpwinnp wgnwuniebp (nbwgbuwnubp) 8 huwin 24300 2 48.6
33691162/1314 Jwpnpuwwnnp wonwniptn (nbwgbunubp) 9L hwun 70800 2 141.6
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33691162/1315 Jwpnpwnnp wgnuwniehip (nbwgblnlbp) QL hwwn 24300 2 48.6
33691162/1316 {wpnpwwnnp wanwlyngetn (nbwgbUntbp) < hwun 66880 3 200.6
33691162/1317 |wpnpwinnp wanwlnabip (nbughbuunubp) 9L huwin 23680 2 47.4
33691162/1318 |wpnpwinnp wgnwlnyabn (nbwgbtwnubp) Q< hwn 46800 8 374.4
33691162/1319 |wpnpwnnp wgnwinyatp (nbwgbunubn) < hwin 24600 2 49.2
33691162/1320 |wpnpwinnp wgnwynyatip (nbwabuwntbin) < hwn 54240 2 108.5
33691162/1321 |wpnpuwinhp wanwunystip (nbwgbuwnubp) G< hwwn 24600 2 49.2
33691162/1322 Jwpnpwnhp wgnwnyatp (nbwgbtntbn) G hwn 14240 2 28.5
33691162/1323 Jwpnpuwinnp wanwbnyebip (nbwgbklnutbn) QL huwitn 5400 15 81.0
33691162/1324 |\wpnpuwinnp wanwnyatp (nbwgbuwutn) S hwin 225000 8 1800.0
33691162/1325 Jwpnpuwiinnp wanwbynuyzbip (nbwgblinibp) QL hwin 26500 2 53.0
33691162/1326 |wpnpwinnp wgnwnyatp (nbwgbluntbn) Q< huwn 59760 2 119.5
33691162/1327 |wpnpwnhp wgnwlnetn (nbwgbUwntbn) L hwwn 349200 5 1746.0
33691162/1328 |wpnpwinnp wgnwpnyebp (nbwgbuntbn) 9L hwn 36800 6 220.8
33691162/1329 jwpnpwinnp wanwnuyabip (nbwgbuwnutn) QL hwtn 81440 3 244.3
33691162/1330 |\wpnpwinnp wgnwinysbp (nbwgbUuntbn) L huwtn 24800 2 49.6
33691162/1331 Jwpnpwinnp wgnwniekip (ntwgbnutn) 3¢ huitn 25280 2 50.6
33691162/1332 Jwpnpwinnp wanwnyabip (nbwgbtinttin) QL hwin 216554 20 43311
33691162/1333 |wpnpuwinnp wgnwlnyatip (nbwgbtinutp) L huwtn 264410 20 5288.2
336911621334 Jwpnpwnnp wgnwnyetip (nbwgbiiintbp) 9< hwiwn 357000 20 7140.0
33691162/1335 Jwpnpwnnp wgnwinyabip (nbwgbUuntibn) < hwn 239198 20 4784.0
33691400/563 phupwlwl wqnuunyebn (nbwgbunubn) puquwlniwnubun G< [nwywgy 96300 2 192.6
33691400/564 phihwlwl wanwynieptin (nbwgbunttn) pwqdwyndunubun G< (nuwljqy 96300 2 192.6
33691400/565 phubwlwt wgnuwyniebn (nbwgblnubn) puquwyndunutiin QL [nwlwq 108000 2 216.0
33691400/566 phdhwwl wgnwiynebin (nbwgbunubn) pwqdwyndynubun < (nwluwqud 96300 2 192.6
33691400/567 phihwlwl wanwinpetn (ntwgbunubp) puqiwyndunubunm < (g 121500 2 243.0
33691400/568 phdhwlwy wgnwlnpetn (nbwgblnubp) puquwyndynubun Q< [Pyl 121500 2 243.0
33691400/569 phuipwlwl wanutyniptn (nbwgbunubp) pwquwlndyntbun Q<L [nwiljuqy 106200 12 1274.4
33691400/570 phupwlwl wgnuitynietn (nbwgbunubn) puquwlnduynubun 9L Inwlugy 45630 12 547.6
33691400/571 phupwljwl wgnuwyniebn (nbwgbUnubn) puquwlnduynubun < [nwluqu 139500 25 3487.5
33691400/572 phidhwlw wanwunipbn (nbwgbunbbn) puqdwindunubun 9 [nwilygy 50000 6 300.0
33691400/573 phupwlwt wanuwynyetp (nbwgblntbn) puquwlndunubun Q< [nwlugd 95400 25 2385.0
33691420/700 lwpnpwinnp wanwnyetip (nbwgbtnliin pugiwlndwnubun G< (gl 26800 40 1072.0
33691420701 |wpnpuwinnp wgnunyebp (nbwgbbntbp) puqdulndwnubum Qg nuiljuigqu 26800 40 1072.0
33691420/702 |wpnpwinnp wqnwnebn (nbwqbnutp) puqdundynubun &< Inwiljuqud 17120 1 17.1
33691420/703 {wpnpwwnnp wanwnpbp (nbwgblnutp) puqiuyndynubun &< Inwiljuuqu 59760 2 119.5
33691420/704 |wpnpuwnnp wanwujnipbp (nbwgbnutp) puqiwlndynubun g iwluqud 174640 2 349.3
33691420/705 |wpnpuwiinnn wanwlnyebn (nbwgblnubp) pwqlwyndwynubunm < (nwljuwgud 119520 2 239.0
3N4211/703 pealwlwt w) gnpdhpubin — wwpwqutibip GL hiutn 80000 1 80.0
33141211/704 paolwlwl w)) gnpshpubtip — Wwpwguwtp < hiin 1230000 1 1230.0
33141211/705 pdolwlwl w)) gnpdhputip — wWwpwguwbp G< hwtn 215000 1 215.0
33141211/706 pdaljwlpts wy gnpdhplibp — wwpwgwbp L huwin 215000 1 215.0
33N n707 pdaljwljwit wy gnpdhplbpn — wwpwgwubp Q<L huwitn 90000 1 90.0
331412114708 pdoljwlw wy gnpdhplbp — wwpwgwubn < hwin 69000 1 69.0
33141211/709 pdoluwilwit wy gnpahplbip — wwinwgwlbp < huwin 13000 1 13.0
33141223/540 pdaljuljwt wy gnpdhplibp — wWwnpwgwubp pugiwyndynubun 9L Inwlwuqy 960000 18 17280.0
33141223/541 pdalwlwl w)| gnpshpubip — wWwpwquubp pwqiwynduynublUn < Inwlwqu 103122 2 206.2
33141223/542 pdaywlwt wy| gnpdhptbp — wWwpwgwubp pugdwyniwynubun g (nwlugd 108528 2 171
33141223/544 pdoljwlwt w)) gnpdhpubip — wwpwawubp pwgiwlyndwynubun g Inwbjuqu 60000 2 120.0
33691162/1336 \wpnpwiinnp wgnwunyebp (nbwgbunubin) 9L hwin 38000 3 114.0
33691162/1337 jwpnpuiwnnp wanwniebp (nbwgbiinutng < huwiwn 87700 1 87.7
33691162/1338 |Wwphpwinnp wgnwunipbp (nbwgbnutip) GL huwin 24000 1 24.0
33691400/574 phihwlw wanwinetin (ntwgbunubn) pwqiwyndynubun < inwljuqu 190000 3 570.0
33691400/575 phipwlywl wanwynypabn (nbwgblntbn) pugdwlndwnubuum a< nuwlyuigd 95000 3 285.0
9 0.0

33691400/576 phudhwlyuwl wgnwunyebn (nbwgbintbin) puquwyndwnubitin S (nwljwqu 7200 N 74
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33691400/577 phihwlwl wanwiyniyetip (nbwgbUnubn) pwqdwyndunubun Q< [nwiljugu 37300 ? :72
33691400/578 phdhwlwl wanuwiyniepbin (nBwgblnubn) pwqdwlyndyntbun QL [Nl 8 0.0
33691400/579 phupwlwl wgnutynebp (nbwgbbnlbn) pugquiwyndunutin Q< (g 115000 4 460.0
33691400/580 phupwywl wanwnetp (nbwgblnubn) pwqiwyndwntbunm < (nwywqd 1 0.0
33691400/581 phuhwlw wagnwiynipbn (nbwgbunubn) puqdwyndyntbun &< Inwljwqud - o
53000 1 53.0
33691400/582 phdpwlwl wgnwiynetp (nbwgklnlbn) puquwynduynutbtn q< Inwiljuqu 1 0.0
33691400/583 phuhwlwl wonwiynebn (nbwgbunubn) pugdwynduyntbun &< (nwilwqy 1 0.0
33691400/584 phihwlwl wanwyniptn (nbwgbtintubn) pugiwyndunubun Q< [nwlugd 10 0.0
33691400/585 phuhwlywu wanwujniptp (nbwgblunlbp) puwqdwlndwnttbiim L (g 446000 4 1784.0
33691400/586 phuhwlwl wgnwuyniptin (nbwgbunubn) pwgdwynduntibun G [nwlugy 189000 1 189.0
33691400/587 phuhwlwl wgnuynyebp (nbugbUnubn) pugqiwlniunubun Q< [nwiljugu 145000 1 145.0
33691400/588 phupwlwl wgruwunyebp (nbwgbUnubp) pugquwlnduntbn G [nwlwqd 145000 1 145.0
33691400/589 phuhwlwl wgnuwiunyebp (nbwgbunubp) pugquwlndwynutun QL [Nl 1 0.0
33691400/590 phubwlwl wgnuwynieln (nbwgbUnbp) puquwyndwynubun Q< [nwlwqd 141000 1 141.0
33691400/591 phdhwlwt wgnwniptin (nbwgbunubn) pwqdwynduntbun QL (nwlugl 150000 1 150.0
33691400/592 phuhwywt wgnwyniptin (nbwgbunubn) pwqdwynduntbun QL [nwlwqd 205000 1 205.0
33691400/593 phdpwlwl wgnuiyniebn (nbwgbUnubp) puquwndwnubun Q< (nwluqy 180000 1 180.0
33691400/594 phupwlwt wgnutynyebn (nbwgbUnubn) puqiwlynduynttun QL [nwlwgd 341000 10 3410.0
33691400/595 phuhwlwt wqnuwtyniyebn (nbwgbUnubp) pugqiwyndunttiun G [nwlwugy 290000 2 580.0
33691400/596 phupwlwt wqnuynyetn (nbwgbUntbp) pugdwlndynubun QL nwiljgd 33800 50 1690.0
33691400/597 phihwlwu wanwniyebn (nbwgbunutn) puqiwlndynublm L Inwlugd 32500 2 65.0
33691400/598 phuhwlwt wqnwunyebn (nbwgbunubp) puqiwlyndynubun 9L (nwluqd 88000 2 176.0
33691400/599 phuhwlwt wgnwynyetp (nbwgbunubp) pugdwlndynubun 9 [nwlwgd 32500 2 65.0
33691423/502 |wpnpwwnnp wanwiynyebip (nbwgblnlbn) puodwyndwnutiun gL Inwlwqy 36852 14 515.9
33691423/503 |wpnpwiinnp wanwnyatn (nbwgbnubp) pugiwyndynutiun Q<L Inwlwqy 40935 16 655.0
33691423/504 |wpnpwnnp wanwunyabp (nbwgblnlibn) pwqdwyndynubunm 9< [nwlywqd 71400 20 1428.0
33691423/505 lwpnpwiinnp wgruwbnyatin (nbwgbtnubp) puqdwiyndunutunm G [nwlwqd 91188 18 1641.4
33691423/506 |wpnpuwtnnp wanwynyehbp (nbwgbuntbp) pugdwyndwnubun q< [nuilyuqy 76500 24 1836.0
33691423/507 [wpnpuwinnn wanwynyetip (niwgbunubn) puwgdwyndwnubun q< [nuiywau 121992 24 2927.8
33691423/508 |wpnpwinnp wgnwupnipbp (nbwgbunutn) puqiuyndynubun QL (nwlug 44000 2 88.0
33691423/509 [wpnpwnp wanubnebp (nbugbtnbibn) puqiulndyntbin ac Inwlwqy 30000 5 150.0
33691423/510 |wpnpwitnnp wanwunyetn (nbwgbtnubn) pugduindwnubun 9L |nwlugu 255000 7 1785.0
33691423/511 |wpnpuwinnp wgnuunpbn (nbwgbtnubp) pugdwyndwntbion < [nulug 140000 7 980.0
33691423/512 |wpnpwnnp wanwbnebn (nbwgblntbp) puqdwyndwnibtin 9L [nuiljwgy 140000 5 700.0
33691423/513 |wpnpunnn wanwnyabp (nbwgblnubn) puwqdwyndunubun 9L Inuwlugd 85000 3 255.0
33691423/514 \wpnpuinnp wgnwiynelp (nbwgblnubn) puwqdwynduntubun q< Inwlqy 265000 3 795.0
33691423/515 |wpnpwwnnp wanwynugabn (nbwgbnlbn) puqdwyndynubun < [nuwlywgd 260000 16 4160.0
33691423/516 |wpnpwnnp wanwunptn (nbwgblnubp) puquwyndynubun Q< nwljwgd 189000 24 4536.0
33691423/517 Jwpnpwnnp wgnwungetin (nbwgbnubp) puqiwyndynubtn q< [nulyugd 345000 8 2760.0
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33691423/518 {wpnpwwnnp wanwunetin (nbwgblntbp) puquwyndwnutin G< Inwlwqd 85000 3 255.0
33691423/519 {wpnpwnnp wanwunyebp (nbwgblnlbp) pwquwyndwnubn 9 Inwywqu 590000 5 2950.0
33691423/520 |wpnpwinnp wqnubnebp (nbwgblnubp) pugdwyndwntibn QL [nulwigd 93000 3 279.0
33691423/521 |wpnpwwnnp wgnwiynipbn (nbwgbunutn) pwqdwyndwntbun G< Inwlwigu 150000 4 600.0
33691423/522 |wpnpwwnnp wanwbnietp (nbwgbunubp) pugdwynuwntbn q< [nwlwqu 627000 20 12540.0
33691423/523 |wpnpwwnnp wgnwunyebp (nbwgbtnubn) pugiwlndwnubun q< Inwlwqu 300000 4 1200.0
33691423/524 |wpnpwnnp wgnwuniebp (nBwgblnubn) puquwyniynubn 9L Inwlwqy 258000 6 1548.0
33691423/525 (wpnpwwnnp wanwlnietp (nbwgbunubp) pwqiwnudwntibun 14 [nwlwgu 890000 4 3560.0
33691423/526 |wpnpwwnnp wgnwuniphp (nbwgbtnubn) pugiwyndunutun qC Inwlugu 445000 5 2225.0
33691423/527 (Wpnpwinnp wnwljniptn (nEwgbunubn) pwquwyndwnubln 4< (g 225000 1 225.0
33691423/528 |wpnpwwnnp wgnwunyebp (nbwgbUnubn) pwgdwlndwynubn Q<L [nwlugd 215000 3 645.0
33691423/529 [wpnpwwnp wgnutynyebp (nbwgblnubn) pugdwindunutitin Q< Inwlwqu 122298 1 122.3
33691423/530 [wpnpwwinp wanwnipbn (nbwgbtnubn) pwgiwyniwynubtn QL Inwiljwgy 108528 2 2171
33691423/531 |wpnpwnnp wgnwniebp (nEwgblnubn) puguwinduynubn Q< Inwlwuqu 1800000 1 1800.0
24311129/501 quiiwgqut wuopguuwywl phuhwlw Unyekp < gpwd 20 1000 20.0
24311129/502 quitiwqui whopguwlwwl phihwlwl Ynyabp < gpwd a0 160 14.4
24311129/503 quitiquill whonguliwluit phuhwlwl ynipbp 9< g 15000 20 300.0
33691160/573 phuhwljuil wgnuinipbp (nbwgbuntbp) q< huin 45900 80 3672.0
33691160/574 phupwlwy wgnwunyetp (nbwgbunubn) S< hwiwn 151200 20 3024.0
33691160/575 phupwlwy wgnwunipbn (nbwgbunubp) < huwin 30240 20 604.8
33691160/576 phupwywl wgruwiynyatin (nbwgblntbn) < huwin 129600 20 2592.0
33691160/577 phihwlwu wanwunyabp (nbwgbunubp) 9L huin 45900 140 6426.0
33691160/578 phuhwlwl wqnuitynipbp (nbugkunlbp) 9< hwin 22100 100 2210.0
33691160/579 phipwlwu wgnwnyetp (nbwgblnubp) GL huwn 22000 10 220.0
33691160/580 phuhwlwu wanwunyabip (nbwgblnubn) < hwwn 21600 100 2160.0
33691160/583 phipwlwl wgrnwynplin (nbwgqbtutbp) SL huwin 12996 15 194.9
33691160/584 phdpwlwu wgnwinyebp (nbwgbunubp) G< huwwn 340 30 10.2
33691160/585 phupwlwl wgnwniebp (nbwgblnubp) G< huwwn 44700 40 1788.0
33691160/586 phihwlwl wgnwitynyebip (nbwgblwnubp) QL huwwn 76400 40 3056.0
33691160/587 phdhwlwu wqnwinebp (nbwgbunubp) 4L huwn 44500 20 890.0
33691160/588 phdhwywu wgnwinyabp (nbwgblnlbp) 9L huwwn 39200 10 392.0
33691160/589 phihwlywu wanwynyabip (nbwgbunlbp) QL hwwn 42480 1 42.5
33691160/590 phdhwlwu wqnwinyabp (nbwgbunubp) G< hwwn 248400 2 496.8
33691160/591 phupwlywl wgnwnyebp (nbwgblnlbn) QL hwin 25920 30 777.6
33691160/592 phipwywl wgnuwyniptp (nbwgblnubp) Q< hwin 51840 3 155.5
33691160/594 phuhwlwl wgnwtynyebip (nbwgblnubnp) QL hwin 70000 2 140.0
33691160/595 phuhwlwt wgnwlnipbp (nbwgbunubp) QL hwin 762300 2 1524.6
33691160/596 phupwlwl wqruwnysbp (nbwgblnubp) 9 hwin 59200 1 59.2
33691160/598 | phuhwlwl wanwiynyebin (nbwgbunutp QL hwin 93000 45 4185.0
33691160/599 phupwljwl wanuwtynipbp (nbwgblnttp) q< hwwn 54000 8 432.0
33691160/600 phuhwlw wgnwynipbp (nbwgbuwnubn) QL hwin 27000 156 4212.0
33691160/601 phuhwlwl wgrwunypbp (nhwgbunubp) QL hwn 642000 2 1284.0
33691160/602 phupwlwl wgnwjnietip (nbwgblnutip) L hwn 184800 5 924.0
33691160/603 phuhwljwu wgnuwujniebn (nhwgbUnubp) 9L hwn 184800 5 924.0
33691160/604 phupwyw wanuwnystp (nbwgbunubp) 9 hwn 47345 30 1420.4
33691160/605 phupwlwt wgnwiniplip (nbiwgbunubp) q< hwtn 51561 25 1289.0
33691160/606 phuhwlwl wgnwynyebp (nbwqbntibp) G hwwn 51561 10 515.6
33681160/607 phupwlwt wgnwnebp (nbiwgbunubp) G< hwn 212290 9 1910.6
33691160/608 phuhwlwy wgnuiympbp (nbwgbUnubp) L hwn 12155 2 24.3
33691160/609 phdhwlwt wgnwunipbp (nbwgbuwnubp) L hwin 67150 2 134.3
33691400/600 phuhwlwu wgnuumpbn (nbwgblnutn) puqiwlndynubun QL nwluqu 162000 15 2430.0
33691400/601 phdhwlwt wgnuwuympbp (nbwgbunutp) puqiuyndynubun Q< [nuwljugy 97200 15 1458.0
33691400/602 phuhwlwt wgnwiynipbp (nbwgbunubp) pugdwyndwnub,m Q< [pwiljuqy 486000 15 7290.0
33691400/603 phuibwlwt wgnuwynystn (nbwgblnubn) pugduyndwnubtm < (nwlwgd 270000 18 4860.0
33691400/604 phipwlwy wnwinebp (nbwgbtnubn) pugdwinduyntbtn 9L (g 129600 12 1555.2
33691400/607 phupwlwt wanwiympbp (nbwgbbntbp) puqdundwntbb;m 9L Inwlwgd 25000 1 25.0
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33691400/608 phihwlwt wqnwunetn (nbwgbunutn) pugdulndwynubun q< Inwlwuqu 53040 1 53.0

33691400/609 phihwlwl wqnwunebp (nbwgbunutn) pugduindwnubun QL Inwlwuqu 53040 1 53.0

33691400/610 phihwlwu wagnwunptn (nbwgblnutn) pugiuyndwnutm < \nwluwgd 53040 1 53.0

33691400/611 phihwlwt wanwiniplbin (nbwgbunttn) pugiwyndwnubun q< Inwlwad 50000 4 200.0
33691400/612 phihwywu wanwunyebp (nbwgbunlbing puguwlndwynubtn G< Inwlwqu 36000 4 144.0
33691400/613 phihwlw wqnwunyebp (nbwgbtnbibin) puquwlndwnubiun q< Inwlwgd 387000 2 774.0
33691400/614 phihwlwy wanwunyatn (ntwgbunubp) puquwyniynubn &< [nwlwaqd 78000 4 312.0
33691400/615 phihwhpwy warwtynyatin (nbwgbunubp) pugduynduntbm < I 78000 4 312.0
33691400/616 phupwlwl wanuwyniebp (nbwgbUnubp) pugqiwlnduntbun Q<L [nwljugy 114000 4 456.0
33691400/617 phuhwlwt wgnwnyebp (nBugbUnubn) pugiwyndwnubn QL [nwlwqy 114000 4 456.0
33691400/618 phuhwlwt wgnuunyebn (nbugbUnubp) pugiwlnidwnttun q< [nuiljuqy 240000 3 720.0
33691400/619 phihuljuwits wanwniebn (nbwgbuntbn) puqiwlndyntibun a< (nwljwqy 600000 1 600.0
33691400/620 phipwlwt wgnugnipbn (nbugbntbn) puqiuinduyntbun Qg [nwljwgd 270000 3 810.0
33691400/621 phuhwljwu wanwunebp (nbwgbunutn) pugduyndynubun QL [nwlwqy 210000 1 210.0
33691400/622 phihwlwy wgnwunpbp (nbwgbunubn) pugdwlyndwnubu,m 9L Inwlwqu 16500 1 16.5

33691400/623 phuhwlwy wgnwunebp (nbwgbunutn) puqdwlyndwnubunm 9L Inwlwqu 51000 1 51.0

33691400/624 phihwlwl wanwynptn (nbwgbtuntbn) pugqdulndynubum 9L Inwlwqd 73920 3 221.8
33691400/625 phihwlwu wanwumptn (ntwgbnutn) puquwlndynubtn 9L (g 85000 1 85.0

33691410/503 phuhwlwt wanwnuyabin (nbwgblnubn) hbnniy S {hinp 19900 7 139.3
33691410/504 phupwlywt wgnuiyniebp (nbwgblnubp) hnnly QL hwnp 1780 10 17.8

33691410/505 phupwlwl wonwynipbn (nbwgblnubp) honny Q< |hinp 2500 2 5.0

33691410/506 phuhwlwt wgnuwunyebp (nbwgbunubn) hannly QL (hunp 3500 1 3.5

33691410/508 phupwlw wqnwunyebp (nbwgbunubp) hanny Q<L thinp 1698 10 17.0

33691160/501 phupwlwt wqnuwunipbp (nbwgbunubp) L hwn 170100 1 170.1

33691160/502 phuhwlwt wanwyniebp (nbwqblwntibn) < hwin 105900 7 741.3
33691160/503 phuhwlwt wanwjniphlp (nbwgbuntbp) < hwin 708000 2 1416.0
33691160/504 phdhwlwt wanwunipbp (nbwgbnubp) Q< hwin 147800 2 295.6
33691160/610 phuhwluwii wanwyniyebp (nbwgblnttp) L hwin 162000 5 810.0
33691160/611 phuhwlwil wgnwiynyebp (nbwgbuntbing Q< hwin 205400 3 616.2
33691160/612 ppupwwl wgnwlynipbp (nbwgbunubn) QL hwin 141000 3 423.0
33691160/613 phuhwlwl wqnuyniplp (nbiwgbuwntitn) g< hwin 18000 4 72.0

33691160/614 phuhwlwl wqnwnyebp (nbiwgblnttn) L hwn 220000 12 2640.0
33691160/615 phdpwljwt wanuyniebp (nbwgblnibp) q< hwin 39000 40 1560.0
33691160/616 phuhwlwl wanuwiuniehp (ntwgbunttn) g< hwin 225000 4 900.0
33691160/617 phuhwlwl wgnwiniphbp (nbwgblnttn) <L hwwn 36000 20 720.0
33691160/618 phupwlwt wqnwiyniebp (nbwgbunubp) < hwwn 137700 1 137.7
33691160/619 phuhwywl wanwiunetip (ntiwgbuntitin) < huwin 60000 3 180.0
33691160/620 phuhwlwl wqnwjnyebp (nbwgbntitn) < hwin 60000 3 180.0
33691160/621 phupwlwt wgnwunyelip (nbwgtnbin) a< huwin 495000 3 1485.0
33691160/622 phubwlwl wgnwunyebp (nbwgbuntp) <L huin 480000 2 960.0
33691160/623 phuihwlwu wgnwynyabp (nbwgblnubp) L hwwn 415000 2 830.0
33691160/624 phihwlwu wgnwnyabip (nbwgbtnlbp) QL hwwn 414000 2 828.0
33691160/625 phdhwlwu wgnwiynyetip (nbwgbtnubp) qL hiuwn 414000 2 828.0
33691160/626 phupwlwl wqrnwlynipbip (nbwghlnlbp) ac hwin 415000 2 830.0
33691160/627 phihwlwl wgnwynipbp (nbwgkunubn) QL hwwn 485000 2 970.0
33691160/628 phuhwlwl wanwtynyetip (nbwgblnubp) < hun 415000 2 830.0
33691160/629 phuhwluwit wgnwlynyebp (nbwqblwnlbp) 9L hwun 415000 2 830.0
33691160/630 phupwlwt wgquniptp (nbwgbunubp) G< huwin 415000 2 830.0
33691160/631 phuhwlw wanwunyebp (nbwgbuwnubp) < hwn 525000 2 1050.0
33691160/632 phdhwlwt wgnwunipbp (nbwgbiunubp) QL hwin 485000 2 970.0
33691160/633 phubwluwt wanuitynyetp (nbwgbnttin) 9< hwin 415000 2 830.0
33691160/634 phdpwlwl wenwunyplp (nbughuntitp) GL hwiwn 415000 2 830.0
33691160/635 phuhwlwl wqnwniebp (nbwqblntbn) G< hwin 445000 2 890.0
33691160/636 phuhwlwl wqnwujniebp (nbwqblnttp) L hwwn 415000 2 830.0
33691160/637 phuhwluwil wgnuniplip (ntwgtuwntitn) G< hwiwn 54000 8 432.0
33691160/638 phuhwluwit wqnwiynyebp (nbwqtlnttn) L hwin 165600 2 331.2
33691160/639 phupwlwt wqnuiynipbp (nbwgbunubp) <L hwiwn 13000 8 104.0
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33691160/640 phihwlwu wgnwinyatip (nbwgblintbp) G< hiwn 66000 2 132.0
33691160/641 phipwlwb wgnuwnetp (nbwgbtintbp) QL hiwwn 22500 12 270.0
33691160/642 phdpwlwu wgnwnyetp (nbwgblnubp) L hwn 55000 2 110.0
33691160/643 phipwlwl wgnwynyabin (nbwgblnubn) &< huwn 152200 7 1065.4
33691160/644 phupwlwt wgnuitynyatip (nbwgblwnubn) QL hun 490000 1 490.0
33691160/645 phupwlwl wqnwbyniatin (nbwgblinlbip) GL huin 410000 1 410.0
33691160/646 phupwlwl wanwyniphp (nbwgllnltn) < huitn 410000 1 410.0
33691160/647 phupwlwl wanwyniebp (nbwgblntbp) 9L hwin 410000 1 410.0
33691160/648 phupwlwb wgnwniebp (nbwgblnubp) L hwin 410000 1 410.0
33691160/649 phuhwlut wanwiyniptp (nbwgbtnbbn) 9c hwin 410000 i 410.0
33691160/650 phuhwljwy wanwlnyebip (nbwghlntbp) ac hwtn 15000 12 180.0
33691160/651 phihwywu wgnwuniebp (nbwgbnutp) < huwn 15000 12 180.0
33691160/652 phupwlwt wgnuwynipbp (nbwgbUnlbnp) QL hwwn 120000 3 360.0
33691160/654 phdhwlwl wgnwuyniebp (nbwgbunubp) G< huin 18400 6 110.4
33691160/655 phdhwluwt wgnwiyniptip (nbwgblnubn) Q<L huwwn 30000 3 90.0
33691160/663 phdhwywl wgnwujniebp (nbwgbuwnubp) G huwn 360000 6 2160.0
33691160/664 phupwlwy wanwnyebp (nbwgbunubp) L hwwn 86600 1 86.6
33691160/665 phuhwlwl wanwunyabp (nbwgbtnbbp) G< hwn 90000 1 90.0
33691162/501 Jwpnpwinnp wanwnyabip (nbwgbtnubp) QL hwin 143100 3 429.3
33691162/502 \wpnpwnnp wgnwunyzbp (nbiwgbunubn) G hwn 114000 3 342.0
33691162/503 [wpnpwwnnp wgnwuniekp (nbwgbtnutn) Q< hwwn 124200 3 372.6
33691162/504 {wpnpwnnp wanuwniebin (nbwgbnttn) QL hwwn 435000 10 4350.0
33691162/505 {wpnpwwnnp wgrnubnyabip (nbwgbnutp) B hwwn 183600 10 1836.0
33691162/506 |wpnpwnnp wanwiynyestp (nBwgbunubn) q< hwn 42600 3 127.8
33691162/507 |wpnpwunnp wagnwynyeabp (nbwgbunubn) < hwun 39200 4 156.8
33691162/508 |wpnpwinnp wgrwtynysbip (nbwgbunutin) 9< hwitn 684000 10 6840.0
33691162/509 |wpnpwinnp wgnutynyebp (nbwgblnubn) 9L hwiwn 190400 4 761.6
33691162/510 |wpnpwinnp wanutgnyebp (nbwgbunubn) Q<L hwwn 699000 3 2097.0
33691162/511 |wpnpwwnnp wgnwniehbp (nbwgblnbn) Q< hwn 699000 3 2097.0
33691162/512 |Wwpnpwwnnp warwunyebp (nbwgbuwnubn) S< hwuwn 300000 3 900.0
33691162/513 |wpnpwinnp wgnwiniebp (nbwgbnubp) < hwwn 199800 10 1998.0
33691162/514 |wpnpwinnp wgnwniptip (nbwgbunutn) < hwwn 197100 2 394.2
33691162/515 |wpnpuwiinnp wgnwunyebp (nbwgbunubn) 9L hwwn 174800 1 174.8
33691162/516 {wphpwnnp wgnwnipbp (ntwgbitinnutin QL hwun 143100 6 858.6
33691162/517 (wpnpuinnp wgnwunpbp (nbwgbunubp) L huwiwn 206600 3 619.8
33691162/518 Jwpnpwinnp wanwniphp (nbwgbituntbn < huwiwn 108350 8 866.8
33691162/519 {wpnpwinnp wgnwuniebp (nbwgbtnubn) < huin 180900 4 723.6
33691162/520 [Wwpnpwnp wgnwniphp (nbughnbp) 9< huitn 52000 2 104.0
33691162/521 [wpnpwiwnnp wgnwnizbp (nbwgbunubp) L huwin 330000 2 660.0
33691162/522 {wpnpwinnp wgnwnipbp (nbwgbuwnbbn) L huwwn 190400 6 1142.4
33691162/523 |wpnpwinnp wgnuungebp (nbwgbinubn) < huwn 126000 6 756.0
33691162/524 Jwpnpwnnp wgnwujniyebp (nbwgbtntbn) QL hwin 193800 8 1550.4
33691162/525 (wpnpwinnp wgnunebp (nbwgbtuntbn) GL hwwn 206600 6 1239.6
33691162/526 |wpnpwinnp wynujngebn (nbwgbiuntibin) GL hwwn 130900 6 785.4
33691162/527 \wpnpwinnp wanwinuyabip (hbwgbunubn) QL hwn 197100 5 985.5
33691162/528 \wpnpwnnp wanwnebp (nbwgblnubp) 9L hwwn 189000 3 567.0
33691162/529 |wpnpwinnp wanwunyatip (nbwgbunubn) QL hwin 143100 10 1431.0
33691162/530 \wpnpwnnp wgrpubpnyesbip (nbwgbiintbp) QL hwin 128900 2 257.8
33691162/531 [wpnpwinnp wqnwynyabp {(nbwgbnubn) 9 hiun 345000 10 3450.0
. [33691162/532 |Wwpnpwnnp wanwynyabp (nbwgbunubp) G hwn 136400 10 1364.0
33691162/533 Jwpnpwnnp warubnehp (nbwgbtinttp) QL hwn 124200 10 1242.0
33691162/534 |wpnpwwnnp wanwtynyabip (nbwgbtnbn) G< hiwn 155900 10 1559.0
33691162/535 |wpnpwwnnn wgnwunyabip (nbwgbunubp) < hwin 138000 16 2208.0
33691162/536 (wpnpwwnnp wanwtynyetip (nbwgbtinubp) < hwtn 39200 10 392.0
33691162/537 |wpnpwinnp wqnutynipbp (nGwgbnbn) QL hwin 540000 2 1080.0
33691162/538 (wpnpwnnp wqnutynipbp (nBwgbtntbn) < hwwn 141800 2 283.6
33691162/539 |wpnpwunnp warwynyatip (nBwgbunbn) 9L hwwn 145000 8 1160.0
33691162/540 [wpnpwwnnp wgnwiynyebp (nbwgblnubpn) Q< hwin 111400 8 891.2
33691162/541 |wpnpwwnnp wgnutnipbp (nbwgbtnubn) <L hwin 187700 8 1501.6
33691162/542 |wpnpwinnp wqnutniphp (nbwgbtnubn) QL hwin 147200 8 177.6
33691162/543 |wpnpwwnnp wqrnwynyebin (nbwgblunubp) QL hwin 144000 8 1152.0
33691162/544 |wpnpwwnnp wanwujniebp (nbwgbunubn) q< hwin 168000 5 840.0
33691162/545 |wpnpwunnp warwtngetbin (nbwgblnubp) < hwwn 157900 5 789.5
33691162/546 |wpnpwwnnp wqnutnipbp (nbwgblnubn) < hwiwn 126000 3 378.0
[33691162/547 |wpnpwwnnp wgnwuniphbp (nbwgblnubn) < hwwn 111000 12 1332.0
33691162/573 |wpnpwwnnp wanuuniebp (nbwgbunutn) < hwwn 178200 5 891.0
33691162/574 |wpnpwinnp wanwuniphp (nbwgbunubn) < hwiwn 150000 8 1200.0
33691162/575 |Wpnpwwnnp Wwgnwnuetn (nbwgbuwnubn) < hwtn 159900 2 319.8
33691162/590 |wpnpwnnp wanwuniphbp (nbwgbtinubn) < hwiwn 58000 3 174.0
33691162/654 |wpnpwwnnp wanwuniphbp (nbwgbunubn) q< huitn 64000 3 192.0
33691162/666 |wipnpwnnp wyrwniyebn (nbwgbuwnubn) < hwwn 155900 3 467.7
33691162/713 |wpnpwwnnp wgnuwunyebp (nfwgbuntn) < huwiwn 148500 3 445.5
33691400/501 phuhwlwl wonuwiympbp (nbwgbbntbn) pwqdwlndwnubtnm < Inwluqu 174000 4 696.0
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33691400/502 phipwlwl wynuwtynipbp (nbwgbntbp) puwgdwlndynubun £ 14 nwluqd 85000 3 255.0
33691400/503 phihwyw wgnwunipbp (nbwgbuntbn) puguwlnduynubun G Inwlwqu 195000 2 390.0
33691420/501 lwpnpwnnp wanwnetin (nbwgbnubp) pugdwyndwnubnm q< Inwlwqgd 525000 8 4200.0
33691420/502 (wpnpuinnp wanuynyatip (nbwgbtintbn) pwqdwlnduntbn < Pwluqy 525000 4 2100.0
33691420/503 |wpnpwnnp wanwyniebp (nbwgbtunubn) pwgdwynduynubun < Inwlwgqu 148700 460 68402.0
33691420/504 [wpnpuwwnnp wgnutyniebp (nbwgbtnubn) puquwlniwynubn Q< Inwlwqu 46080 400 18432.0
33691420/505 (wpnpwnnp warwlyniebp (nbwgbnubn) pugdwlndwntibn, 9< Inwlwqu 240000 5 1200.0
33691420/506 |wpnpwwnnp wgnutynipbp (RbwgbUnubn) puwquwyniwnutn < Inwywqy 100000 1 100.0
33691420/507 |wpnpwinnp wanwuniyebn (nbwgbnubn) puquwlndunubn q< Inwlwqu 114000 1 114.0
33691420/508 |wpnpwnnn wanwinuetip (nbiwgblunbp) pugqduynduntbun q< (nwlwqu 210000 8 1680.0
33691420/509 |wpnpwwnnp wgnwunebp (nbugbtnubn) puqiwindwynutn 2 1 Inwlugd 240000 7 1680.0
33691420/510 |wpnpwinnp wanwunyebnp (nbwgbunubn) pwagdwlndwntbn qc [nwiljwgd 66000 1 66.0
33691420/511 |wpnpwunnp wgnwiniebp (nbwgbunubn) pwgdwindunubun q< [nwljwgy 416667 3 1250.0
33691420/512 |wpnpwnnp wanwiniebp (nbwgbunubn) pwgdwindynubln Q< Inwlwqy 416667 3 1250.0
33691420/513 |wpnpwnnp wgrnwtnuetn (nbwgbnubp) pugduynduntibun Q< Inwljwigu 288000 1 288.0
33691420/514 [wpnpuwnnp wgnwunphbp (nBwgbunutn) puqiwndynubn QL nwljuiqu 61200 5 306.0
33691420/515 |wpnpwwnnp wgnwunpln (nbwgbnutp) puqiuyndwnubun G [nuwiljuigu 61200 5 306.0
33691420/516 |wpnnuwnnp wgnwuniplp (nbwqbtnubn) pugquundwnubte < [nuilyuigqu 61200 5 306.0
33691420/517 |wpnpwinnp wgnwunipbn (nbwgbtnutin) pugdulndynubun 3L (g 36800 5 184.0
33691420/518 [wpnpwinnp wqnwnetn (nbwqbunutn) pugdulndynubun G [nwluqd 540000 2 1080.0
33691420/520 |wpnpuinnp wanunyebp (nbwgbtnubn) pugdulndwnubunm Qg [nuljusgud 26000 5 130.0
33691420/521 \wpnpwnnp wanwunyebp (nbwgbuntbn) pugquwyndwynubum Bl (nwiljwgy 397500 4 1590.0
33691420/522 |wpnpuwinnp wgnwunystip (nbwgbtnttn) pugqiuyndwnubtinm S< [nwluwgd 360000 1 360.0
33691420/706 |wpnpuwinnp wgnuunebp (nbwgbtnubn) pugduyndwnubti; G [nwilugy 330400 1 330.4
33141211/501 pdolyuliwl wy| gnpdhplbp — wwpwgwubp QL hwin 582 12 7.0
33141223/506 pdayuljwl wy| gnpdhpubip — Wwpwgwubp puglwyndwnubun GL (nwilyugqy 51000 15 765.0
33141223/507 pdalwliwit wy| gnpdhpubin — Wwpwquubp pwqdwlyndynubun QL [nwljugd 25999.5 4 103.998
33191310/503 thnpawlnpubp QL huwin 116.667 12000 1400.0
33211140/501 Fimaiphts Bilieubin /Cunhubingy = ninhrg hiniehtly pngl | - o huwin 20.28 6000 121.7
Ehup-hwywpwdnt
33211150/501 Uhquitiynip Urea-Col/Uhquiynizh npnadw phup-hwwywpuwént G hwn 21.3 5000 106.5
33211160/501 byl CREA Col Mpiunptipuhy epriauaut jabuges 9< hutn 9.57 5000 47.9
hwwpwdnt
33211230/501 HTI-Sppot T Gt X D Dozeih P 9< hutn 109.375 12480 1365.0
hwdwpwdny
Zhwywinpin B yhpnwh wiinhgbuh npuwlulwt hwjnbwpbpdwt
05 ;
33211320/502 i Q<L hwwn 1 9600 1008.0
33211321/501 SR R S R SR A R PR 9 huitn 97.88 9600 939.6
rhup-hwdwpwant
Zhwwinhwn C Jhpmuh wbinhgbuh npulwiwy hwpntuwpbpdwu
1 9 h .36 842.9
33211321/502 S wn 105.3 8000
33691160/666 phuhwlw wgnuwbynyetip (nbwgbunubp) Q< hwwn 12.6 2000 252
33691160/667 phdhwlwt wanwnietn (nbwgbunutip) 9< huwn 18.0 30000 540.0
33691160/668 phuhwlwu wqnwunyebp (nbwgbunubp) <L hwwn 178.2 1000 178.2
33691160/669 phihwlywt wagnwinyebn (nbwgbuwnubp) < hwin 18.0 5000 90.0
33691160/670 phuhwlwl wanwunuyabn (nbwgbunubn) S hwn 26.4 1400 37.0
33691160/672 phuhwwlu wqnunipbp (nbwgbunubp) 9< huwin 7.536 3000 22.6
33691160/673 phupwlwl wanwtynyzbip (nbwgblnttn) qc hwin 8.76 2000 17.5
33691160/675 phihwlwl wonwlynyebp (nbwgblnubp) < hwwn 33 800 26.4
33691160/676 phuhwlwl wanwynyetip (nbwgbuwnubp) L hwwn 26.4 1400 37.0
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33691160/677 phuhwlwl wanwijnyesbp (nbwgbuwnubn) S< huin 26.4 1000 26.4
33691160/678 phihwlwy wgnwynyabip (nbwgbunubp) Q<L huin 19.68 20000 393.6
33691160/679 phipwlwl wgnwiynipbip (nbwgblnbp) 9L huwin 83.28 15000 1249.2
33691160/680 phupwlwl wgnwijnyatin (nbwgbuwnltn) < huwin 345 192 66.2
33691160/681 phuhwlwl wqruwjnyatbin (nbwgbuntbn) < hwwn 345 192 66.2
33691160/682 phuhwljwl wqnuitnyetip (nbwgbntbn) < hwin 393.75 960 378.0
33691160/683 phupwlwl wqrpwbjnuyatip (nbwgbntbp) Q< huwwn 393.75 960 378.0
33691162/714 (wpnpwiwinp wanwynypbp (nEwgbntbp) q< hwwn 155.13 9600 1489.2
33691162/715 {wpnpwwnnp wanwjnipbp (nbwgbuwnubp) 9< hwin 1120 1152 1290.2
33691162/716 |wpnpwwnnp wgnwuniehp (nbwgbnutn) < huwwn 640 480 307.2
33691162/717 |wpnpwwnnp wgnwnehbp (nbwgbtntn) QL hwwn 640 480 307.2
33691162/718 |wpnpwnnp wqnwunyehp (nbwgbunutn) < hwwn 640 480 307.2
33691162/719 |Wpnpwwnnp wgrwnysbp (nbwgblnubn) G< hwuwn 153.75 5760 885.6
33691162/720 |wpnpwwnnp wgnwnipbp (nbwgblnubn) < hwwn 69.36 8000 554.9
33691162/721 |wpnpwinnp wgnwtniehp (nbwgblnubn) QL hwn 405.6 600 243.4
33691162/722 |wpnpwuninp wgnwunehp (nbwgbtnutn < huwin 18 600 70.8
33691162/723 |wpnpwwnnp wgnwuniphp (nbwgbnutn) 9L hwwn 33.84 1800 60.9
33691162/724 (wpnpuwwnnp warwbnyebp (nbwgblnbp) < huwin 1000 60 60.0
33691420/707 |wpnpwwnnp wanwunebp (nbwgbnutp) pugdwlndynubun QL (nuwlugd 74000 25 1850.0
33691420/708 |wpnpwinnp wgnwunehn (nbwgblnutp) puqiulyndwnubun q< inuwiljuqud 62000 15 930.0
33691420/709 |wpnpwwnnp wanwunpbp (nbwgblnubn) puqduyndwynubun < Inwlwqd 48000 150 7200.0
24311360/502 bwinphnwh pinphu <L Yhingpwd 2 0.0
24321650/501 glhgtiphu a< Uhingpwd 0.1 0.0
33141211/524 pdolyuwliwl wy gnpdhpibip — wWwpwgwubp QL huitn 10 0.0
33141223/508 pdzlwlwl w) gnpshpubin — Wwpwquwubp pugdwyndunublun q< Inwluqu 2 0.0
33611430/501 Yuwihnwih jnnhn r05ca02, sO1xa04, v03ab21 9L Yhingpuwd 3 0.0
33691134/502 Ywihnuip pinphn a12ba01, b05xa01 L Yhingpwd 0.3 0.0
33691160/686 phihwlwl wgnuitynyatip (nbwgblnubp) 9L hwin 1 0.0
33691160/687 phihwlwu wgnwunebp (nbwgbiunubn) QL huwin 1 0.0
33691160/688 phupwlwu wgnwunyetip (nbwgbiinubn) L hwwn 1 0.0
33691160/689 phupwlwt wqnwnyakip (nbugbunubp) SC huin 1 0.0
33691160/690 phupwlwl wgnwnebp (nbwgbuwnubp) L huin 1 0.0
33691162/725 |wpnpwwnnp wgnwuniehp (nbwgbunubn 9L hiuwn 1 0.0
33691162/726 Jwpnpwnnp wgnwuniphbp (nbwgbunutip) < hwtn 1 0.0
33691162/727 |wpnpwinnp wanwnyehbp (nbwgblinutn) G huwn 2 0.0
33691162/728 |wpnpwinnp wgnwuniehp (nbwgbitntbin 9 hwin 1 0.0
33691162/729 Jwpnpwinnp wgnwunipbp (nbwgbitinubn) G hwin 2 0.0
33691162/730 |Wwpnpuwinhp wgnwunyebp (nbwabkuwnubn) < hwn 1 0.0
33691162/731 |wpnpuwinnp wynuwunyebp (nbwgbunubp) 9 hin 1 0.0
33691162/732 |wpnpwinnp wgnwunyebn (nbwgbuwnubn) <L huwwn 1 0.0
33691162/733 Jwphpwinnp wgnwunipbp (nbwgbnubn) Q<L hiuwn 2 0.0
33691162/734 |wpnpwinnp wgnuwnystp (nbwgbunubp) QL huwwn 1 0.0
33691162/735 wpnpwinnp wgnwuniphp (ntwgbtnutbn) G< huwwn 4 0.0
33691162/736 |wpnpuwiinnp wgnwunyebp (nbwgbuwnubp) S< hwin 1 0.0
33691162737 Jwphpwnnp wgnwuniebp (nbwgbinutn) QL hwn 1 0.0
33691162/738 jwpnpwinnp wgnwnyehp (nbwgbnutn aL hwn 1 0.0
33691162/739 |wpnpuwiinhp wgnwunyetp (nbwgbuwnubin) G huwin 1 0.0
33691162/740 |Wwpnpuwithnp wgnwunypln (nbwgbUnubn) 9L huwin 2 0.0
33691162/741 |wpnpuwiinnp wgnwunystp (nbwgbunubp) a< huwtn 2 0.0
33691162/742 |wpnpuwnnp wgnwunyebp (nbwgbunutp) 9L huwin 1 0.0
33691162/743 |wpnpuwiinnp wgnwunehp (nbwgblnubp) G huwwn 1 0.0
33691162/744 |wpnpuwinnp wgnwynyetn (nbwgbunubn) 9L hun 1 0.0
33691162/745 |wpnpwwnnp wgnwunipbp (nbwgbunutn) <L hwwn 1 0.0
33691162/746 |wpnpwwnnp wqnutnyebp (nbwgbunubn) a< hwwn 1 0.0
33691162/747 |wpnpwunp wgnwnyebp (nbwgbuwnubp) SL huwin 3 0.0
33691162/748 |Wwpnpwinnp wqnuwunebp (nbwgbunubp) < huitn 1 0.0
33691162/749 jwpnpwinnp wgnwngebp (nbwgbunubn) gL hwin 1 0.0
33691162/750 |wpnpunnp wgnwuniehp (nbwgbunubn) G< huwn 1 0.0
33691162/751 |wpnpuithnp wgnwunyzbp (nbwgbnutp) < hwtn 1 0.0
33691162/752 |wipnpuwinnn wgnwunyebn (ntwgbUwnutip) S< hwn 1 0.0
33691162/753 |wpnpuwininp wanwinyatbp (nbwgbtintip) qL hwn 2 0.0
33691162/754 |wpnpwinnp wagnwuniebp (nbwgbnubn) 9< huwn 2 0.0
33691162/755 |wpnpuwiinnp wgnwunyebp (nbwgbuwnubp) QL huin 2 0.0
33691162/756 |wpnpuinnn wgnwunypbp (nbwgbUwnutp) < huwin 1 0.0
33691162/759 |Jwpnpuwinnp wgnwuniyebp (nbwgbuwnubip) q< huwin 1 0.0
33691162/760 |wpnpuwitnhp wgnwniyebp (nbwgbuwnubp) < hwin 1 0.0
33691162/761 |wpnpuwiinnp wgnwunebp (nbwgkunubp) QL huin 1 0.0
33691162/762 Jwpnpuinnp wgnwugnyzbp (nbwgbunubp) G< huwin 1 0.0
33691162/763 |wpnpwnnp wgnwniehbp (nbwgblnubn) QL hwun 1 0.0
33691162/764 (wpnpuwinnp wgnwunyebp (nbwgbunubn) < huwin 2 0.0
33691162/766' (wpnpwunn wgnwingetip (nbwgbunubp) G< hwn 1 0.0
33691162/767 |wenpwwnnp wgnwiyniebp (nbwgbnubn) < hwiwn 1 0.0
33691162/768 |Wpnpwiinnp wgnuwunyetp (hbwgblnubp) G< huitn 1 0.0
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33691162/769 |wpnpwwnnp wgnwuniphbp (nbwgblnutn) & huwin 1 0.0
33691162/770 |wpnpwnnn wgnwiniyebp (nbwgbUntbp) Q< huitn 1 0.0
33691162/771 |wpnpwwnnp wgnwuniphbp (nbwgblnutn) < hwn 2 0.0
33691162/772 |wpnpwunnp wgnwunyebp (nbwgbunubp) G< hwwn 3 0.0
33691162/773 |wpnpuinnp wgnwungebp (nbwgbunubp) QL hiin 2 0.0
33691162/774 Jwpnpwinnp wgnwunipbp (nbwgbnubn) G< hwin 1 0.0
33691162/775 |wpnpwinnp wgnwuniphp (ntwgbtnttn) G< hwin 1 0.0
33691400/504 phihwywb warwymebp (nbwgblntbp) pugdwndwntibun 9 (g 1 0.0
33691410/509 phuhwlwy wgnwynyehbp (nbwgbunubp) hinnly S< thunp 0.5 0.0
33691410/510 phihwlwU wgnwnyatip (nbwgblintbp) htnny < |htnp 0.1 0.0
33691410/511 phihwywu wnwinyatip (nbwgbtinubip) hbnnly QL [ptnp 20 0.0
33691410/512 phiuhwlwl wgnwnyebp (nbwgbUnubn) hbnniy L ihinp 20 0.0
33691410/513 phupwlwl wgnunyebp (nbwgbUnubp) honnly 9L |htnp 1 0.0
33691411/503 phuhwywy wanwynyebn (nbwgbtnubp) tngh Ywd gpwunyubn G Yhingpwd 0.5 0.0
33691411/504 phuhwlwt wqnuwniebn (nbwgblnbn) tinzh Ywd gnwunyutp QL Yhingpwd 0.5 0.0
33691411/505 phihwhwt wanuwlniebp (nbwgbunubp) thnzh Gud gpuwtnyubp q< Uhingpwd 0.5 0.0
33691411/506 phihwlwl wonwynyabip (nbwgbiinubp) tingh Ywd gpwunyutn 9L Yhingpuwid 2 0.0
33691411/507 phupwlwu wqnwynipbp (nbwgbUnubp) thinzh Ywd gpwuniutip < Uhngnuwd 2 0.0
33691411/508 phuhwlwl wgnuwnyebp (nbwgbUnubn) thingh Ywd gpwunyutp q< Uhingpuwd 3 0.0
33691411/509 phuhwlwt wgnuwynietn (nEwgbUnubn) tinzh Gud gnwunyutin qc Ypingpwd 30 0.0
33691411/510 phuhwlwu wanwuympbp (nbwgbunubp) thnph Guwd gputngubn < Yhingpud 40 0.0
33691420/710 (wpnpwnnp wanwuyniebp (nbugbtnbn) puqdwlindwynubn Q< Inwlwqu 1 0.0
33691420/711 |wpnpwunnp wqnwtgngebp (nbwgbtnubn) pugdwlndunubun Q< Inwluqu 1 0.0
33691420/712 wpnpwwnnp wanuwinebp (nbwgbnubn) pugdwlndwnubun 9L (nwljuqu 1 0.0
33691420/713 lwpnpwnnp wgnwiniebn (nbwgbunttin) pugdwlndwnubun < Inwljwqd 1 0.0
33691420/714 (wpnpwnnp wgnwnybin (nbwgbunutn) pugdulyndynubun QL (nwiljugd 30 0.0
33691420/715 \wpnpwnnp wgrwnyetip (nbwgblntibn) puglwndwnubin G< [nwlugy 4 0.0
33691846/501 Yhupnuwppny (hintwppnt < Yhingpwd 0.5 0.0
33141211/534 polwilui wy gnpdhpubip — wwpwgqwubp GL hiwn 800 0.0
33141211/535 pdoljuilusts wy gnpdhpubip — wwpwgwubp Q< huwwn 800 0.0
33141211/541 pdoluilui wy gnpdhpubp — Wwpwgqwbp QL hwwn 550 0.0
33691160/692 phipwlwt wanwniebp (nbwgbunbbp) Q< hwn 120 0.0
33691160/693 phuhwlwl wgnwynebp (nbhwgblwnubp) 9L hwn 5 0.0
33691160/694 phupwlwu wqnuwunipbp (nbwgbunubp) QL hwn 2 0.0
33691160/695 phupwlwl wqnuwunipbp (nbwgbUnubp) < hwin 2 0.0
33691160/696 phupwlwt wgnwiniebp (nbwgbuwnubp) QL huwn 2 0.0
33691162/776 |wpnpwiwnnp wgnwtyniehp (nbwgbUnubn) < hwin 1000 0.0
33691162/777 |wpnpwnnp wqnwtyniyehp (nbwgblnubn) < hwin 1000 0.0
33691162/778 |wpnpwnnp wgnuwynyebp (nbwgbunubn) < huwn 1000 0.0
33691162/779 |wpnpwwnp wagnwnyebp (nbwgbunubp) 9L huwn 1000 0.0
33691162/780 |wpnpwwnp wignwiynyatip (nkwgblUnubn) QL hwn 1000 0.0
33691162/781 |wpnpwinnp wqnwunipbp (nbwgbunbn) < hwwn 1000 0.0
33691162/782 |wpnpwunp wgnwnyetp (nbwgbuwnubn) 9L hwin 1000 0.0
33691162/783 |wpnpwnnp wgnwunyebp (nbwgbuwnubn) < huwn 1000 0.0
33691162/784 |wpnpwwnnp wanwuniphp (nbwgbunubn) < hwwn 1000 0.0
33691162/785 |wpnpuwwnnp wgnwinyetp (nbwgbUnubp) L hwin 1000 0.0
33691162/786 |wpnpwinnp wanwuniphp (nbwgbunubn) < huwin 1000 0.0
33691162/787 |wipnpuwinnn wgnwnyebp (nbwgbunubn) < huwitn 1000 0.0
33691162/788 |wpnpuwinnp wgnuwunyebp (nbwgbunubp) qL huin 1000 0.0
33691162/789 |wpnpunnp wanwingabip (nbwgbnutin) S huwin 1000 0.0
33691162/790 |wpnpwinnp wgnwuniehp (nbwgblnutn) GL huwin 1000 0.0
33691162/791 (wpnpwinnp wgnuuniphp (nbwgblnttbn) Q< hwun 1000 0.0
33691162/792 {wpnpwinnp wgnwuniphp (nbwgbnttn QL huwin 1000 0.0
33691162/793 |wpnpwitnnp wgnwuniphp (nbwgbtinutn) q< hwtn 1000 0.0
33691162/794 Jwpnpwinnp wgnwuniehp (nbwgbinutbn) 9L hwn 1000 0.0
33691162/795 Jwpnpwitnnp wqnwuniplp (nbwgbtnutn) Q< hwin 1000 0.0
33691162/796 |wpnpwinnp wgnwbjnystp (nbwgbuwbp) QL huwin 1000 0.0
33691162/798 |wpnpwnnp wgnwnyebp (nbwgbtntbn) G hwwn 1000 0.0
33691162/799 |wpnpwinnp wgnwbnyatip (nbwgbunutp) < hwn 1000 0.0
33691162/800 Jwpnpwnnp wgrnubniphp (nbwgbnubp) L hwwn 1000 0.0
33691162/801 |wpnpwinnp wgnwnpbn (nbwgbluntn) 9L hwin 1000 0.0
33691162/802 {wpnpwnnp wgrnuwniehn (nbwgblntbp) qL hwn 1000 0.0
33691162/803 Jwpnpwnnp wgrnuwnekip (nbwgbnubp) Q<L hwwn 1000 0.0
33691162/804 |Jwpnpwinnp wgnwnyebp (nbwgbuwntbn) QL hwn 1000 0.0
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33691162/805 |wpnpwinnp wanwniyetp (nbwgbunubp) 9L huwn 1000 0.0
33691162/806 |wpnpwwnnp wgnwlniebp (nbwgbunlbp) 9< hwun 1000 0.0
33691162/807 |wpnpwnnp wgnwniphp (nbwgblnutn) 9L hwwn 1000 0.0
33691162/808 |wpnpwunp wgnwiynyebp (nEwgblnubn) QL hwwn 1000 0.0
33691162/809 |Wpnpwinnp wgrwynyatip (nbwgblinubp) 9< hwin 1000 0.0
33691162/810 |wWpnpwnnp wgnuynipbp (hbwgbbnubp) 9L hwtn 1000 0.0
33691162/811 |wpnpwwnnp wanwiynyabip (nbwgblnlbp) 3L hwn 1000 0.0
33691162/812 |wpnpuinnp wgnwinyebp (nbwgbntibp) 9L hwin 300 0.0
33691162/813 |\wpnpwinnp wanuwiynyabp (nbwgbtiinlibp) Q<L hwn 1000 0.0
33691162/814 |wpnpwwnnp wgnuwuniphp (nbwgbuntbp) L hwin 1000 0.0
33691162/815 |wpnpwnnp wgruuniphp (nbwgbunutbp) Q<L hwun 1000 0.0
33691162/816 |wpnpwnnp wynuwpnyebp (nbwgblnttp) L hwun 1000 0.0
33691162/817 {wpnpwinnp wanuwunehbp (nbwgblunutbp) L hwin 500 0.0
33691162/818 |wpnpunnp wqnuwnyatip (nbwgblnubp) < hwwn 1000 0.0
33691162/819 Jwpnpwinnp wgrbnehp (nbwgbtnltbp) 9L hwitn 1000 0.0
33691162/820 |wpnpwwnnp wgnuynipbp (nbwgbUnubp) Q< hwn 1000 0.0
33691162/821 |wWpnpwwnnp wgnuniphbp (nbwgblnubp) 9L hwwn 200 0.0
33691162/901 |wpnpuwwnnp wgnutyniebp (nbwgbtinubp) < hwin 400 0.0
33691162/902 [wpnpwinnp wanwyniatp (nhwgblnubp) 9< hwtn 200 0.0
33691162/903 |wpnpwwnnp wanwynyabp (nbwgbtnubp) q< hwin 1000 0.0
33691162/904 |wpnpwnnp wgruwnyestip (nbwgbuwmutbp) q< hwwn 500 0.0
33691162/905 {wpnpwinnp wqrubnesbip (nbwgbtintp) Q< huwn 300 0.0
33691162/906 |wpnpuwwnnp wgnutyniphp (nbwgbtinubp) QL hwn 300 0.0
33691162/907 |wpnpwnnp wgruwnpbp (nbwgbtnutp) < hwwn 500 0.0
33691162/908 Jwpnpwinnp wgrubpnphip (nbwgbtiinbp) QL hwin 1000 0.0
33691162/909 |wpnpwwnnp wgnwnyabp (nbwgbtwnutp) 4L hwn 300 0.0
33691400/505 phuhwlwt wqnuiynipbn (nbugbunubn) puquwlyndunubun Q< [nwljgud 2 0.0
33691400/506 phuhwlwu wgnuwynietn (nbwgbUnubn) puquwlndwynubn Q<L [nwljgd 4 0.0
33691400/507 phupwlwl wgnuwyniebp (nbwgklnubn) puquwynduynubiun QL |nwluqy 2 0.0
33691400/508 phuhwlwl wgnwnipbin (nbwgbunubp) puqiwynduntbn Qg [nwiljqa 2 0.0
33691400/509 phuhwlwt wgnuwunyebp (nbwgbunubp) puquwlndwnubiun q< [nwljwqy 3 0.0
33691400/510 phuhwlwl wgnuwnyebn {(nbwgbunubp) pugquwlndunubun 9L [nwluqy 3 0.0
33691400/511 phiuhwlwl wgnwunipbp (nbwgbunutn) pugdwlndunuEun G Inwiljuqu 3 0.0
33691400/512 phupwlwy wgnuwynietn (nbwgblnubn) puquwlndynubun QL [nwluqd 8 0.0
33691410/514 phupwlwl wgnuwunyebp (nbwgbtnubn) hanny 9L jhinp 3 0.0
33691410/516 phuhwlwl wanwniebp (nbwgblwnubp) hbnny < Lhunp 30 0.0
33691411/511 phuhwlw wqnuyniebn (nbwgbUntbn) thngh Ywd gpuwunyutp Q< Uhingpwd 2.5 0.0
33691411/512 phihwlwl wanwynipbp (nbwgbtnubn) tngh Yud gputngubp g Yhingpwd 1 0.0
33691411/513 phuhwluwl wqnwiyniebin (nbuwgbunubn) tingh Ywd gputingubp q< Yhingpwd 3 0.0
33691411/514 phupwlwl wanuiynystip (nbuwgblnlbp) thngh Yud gpuwunyubp 9L Yhingpuwd 3 0.0
33691411/515 phipwlwy wgnwtynyehbp (nbwgbtntbn) tingh Qwd gputngubp q< Yhingpwd 2 0.0
33691411/516 phihwlw wrpwtynyetip (nbwgbtntbp) gingh Quwd gputngubp q< Yhingpwd 2 0.0
33691411/517 phihwlwt wonwymphbp (nbwgbtnubp) hingh Ywd gpuungubp Q< Yhingpwd 05 0.0
33691411/518 phuhwljwy wonwunyetp (nbwgbunutin) tingh Ywd gputnylbn q< Yhingpwd 4 0.0
33691411/519 phdhwlwl wgnwunyetn (nbwgbtnubn) tingh Ywd gpuwunyubn < Yhingnud 3 0.0
33691411/520 phuhwlwy wanwijmpbp (nbwgbktnubp) hingh Gwd gpunyubp q< Yhingpwd 0.25 0.0
33691411/521 phihwljwy wgnwiympbp (nbwabtiintbp) thingh Guwd gputingubp q<c Yhingpwd 0.25 0.0
33691411/522 phihwlwu wgnwunipbp (nbwgbtntbn) tingh Yud gpwtngubp q< lhingpwid 0.5 0.0
33691411/523 phdhwyw wanwunztp (nbwgbuwnttin) tngh Yud gpwtnyutin < Uhingnwd 2 0.0
33691411/524 phihwljwy wgnwunebp (nbwgbunubp) tngh Gud gpuwniutp q< Yhingpwd 2.5 0.0
33691411/525 phuhwljwt wgnuuympbn (nbugbUnubp) tingh Ywd gpwunyubp Q< Uhingpud 2 0.0
33691411/531 phuhwlwl wqnuynietp (nbwgblntbn) thnzh Ywd gpuunyutp Q< hingpud 1 0.0
33691411/532 phupwlwl wgnuwiyniptn (nbwgblnubp) thnsh Ywd gpwunyubp G< Yhingpwd 0.5 0.0
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33691411/533 phupwlwt wonwynipbp (nbwabtiintbn) tngh Gwd gpuwunyubp 9L Yhingpuwd 0.5 0.0
33691411/534 phuhwlwy wqrpwunyetn (nbwgbtinubn) tingh Yud gpwunyubn q< Yhingnusd 0.25 0.0
33691411/535 phihwlwy wanwunyatip (nbwgbtntibn) tnoh Yud gpwunyubp Q< Yhingpwd 1.5 0.0
33691411/536 phuhlwl wqnwtynystp (nbwgbtnttn) tingh Ywd gpuitingubp 9< Uhingpuid 1 0.0
33691411/537 phihwlwl wqrnuitynpbin (nEwgbtntbin) thingh Yud gpwunyubp Q< Yhingpuwd 2 0.0
33691411/538 phihwlwl wgnutynypbp (nbwqbtintbn) tngh Gwd gpuwtnyubp q< Yhingpuwid 5 0.0
33691411/539 phihwywy wqnwynyetip (nbwgbbnltbip) tnzh Ywd gpwunyubp < Yhingpwd 5 0.0
33691420/716 {wpnpwinnp wanwuniehbp (nbwgblnutn) pugdwlndwynubun q< (nwlyugu 5 0.0
33691420/717 |wpnpwinnp wanwniptn (nbwgbunubn) pugdwndwnubun q< Inwlwgd 3 0.0
33691420/718 |wpnpwnnp wgnwunehbn (nbwgblnutp) pugduindynubun q< Inwlugd 2 0.0
33691420/719 |{wpnpwnnp wgnwunipbp (nbwgbbnutp) puqiulyndynubun ag [nwljwaqd 1 0.0
33691420/720 [wpnpwnnp wgnwmptn (nbwgbnutp) pugiulndynubun Q< (g 1 0.0
33691420/721 [wpnpwnnp wanwnetn (ntwgbunutn) pugiulndynubun < [nwljwgd 1 0.0
33691420/722 wpnpwinnp wgnwunetn (ntwgbunutn) pugduyndynubun q< [nwlugu 1 0.0
33691420/723 |wpnpWwnnp wanwunptn (nbwqbunutn) pugduyndynubun Qg (nwlugl 5 0.0
33691420/724 |wpnpwinnp wanuwtngstin (nbwgbtnubnp) pugduindynubun Q< [Pl 2 0.0
33691420/725 |wpnpuwtnnp wgnwiymphbp (nbwgblntbp) puqdwyndunubunm q< nuwilyuqu 2 0.0
33691420/726 [wpnpwnnp wanutynpbp (nbwgbbnbp) pugdwynduynubuun Q< Inwlugd 2 0.0
33691420/727 {wpnpwnnp warnwbnatn (nbwgbtunubp) pwgdwlndynubun QL nwlwqy 2 0.0
33691420/728 {wpnpwinnp wanuwinetin (nbwgbunubp) puqdwlndynubtm Q<L [nwlgd 2 0.0
33691420/729 \wpnpuwnnp wanwynebip (nbwgblnubn) pwqdwnduntubun q< Inwlugd 2 0.0
33691420/730 |wpnpwinnp warwbnatin (nbwgbnubp) pwquwyndunubun q< Inwlwqu 2 0.0
33691420731 |wpnpwnnp wanwyniebn (nbwgbunubn) pwadwyndynubr 9L [Pwlwgd 2 0.0
33691420/732 [wpnpwwnn wgnwlynigebn (nbwgblnbn) pugduynduntbun < Inwlwigy 3 0.0
33691420/733 [wpnpwwnnn wgnwnyebn (nbwgblnubp) pugdwyndyntibln q< Inwywqd 2 0.0
33691420/734 |wpnpwwnnp wgnwitynipbin (nbwgbunubn) pwqdwyndyntbuwn 9< [nwlwqd 1 0.0
33691420/735 [wpnpwwnnp wanwlyniebp (nbwgblinubn) puqiwndwnttun 9L (g 1 0.0

9 0.0

pd2wluti uwppwynpnidubp
33181110/506 htunnhwihgh uwnpbip 9< hwin 5692500 1 5692.5
33181110/507 hbunnhwihah uwppbip qc hwwn 6355900 1 6355.9
33181110/508 htadnnhw(hah utipphip qc hwwn 717600 1 717.6
33161200/503 Eunnuljnujutip q< hwwn 13600000 1 13600.0
33111340/501 i’ut”nzz'rlnzd”m grmtuuiht (Hun), blisphswlk = Rauion ac huwin 13700000 i 13700.0
33171700/501 wliqquwgdwl uwppbp < hwin 1 0.0
33191520/501 wipjwu thnfutibpuwpldw uwppbn < hwwn 1 0.0
38511220/501 dhwluwghu (Ununynuyiwn) =/Ywd Bpbwluwht (phunynywn) ac it 1 0.0
bt dwitinwnbwwbtibn
38591200/501 phihwlwl jwpnpwnnphwnud Yhpwnynn uwppbp < hwwn 1 0.0
33121200/501 upwnh woliwwnwuph hulynnnipiwi uwppbp L huwin 13 0.0
33121200/503 upunh wohiwwnwuph huynnnipjwi uwppbp Q< huwin 1 0.0
funtwduwgywd prdwsdth dwnwlwpwpdwl uwppbp, npnup

< h 0.0
b Yhpwnynid b prYwétiwihl phpwwhund i #
42121310/501 pdalwilwt bwwwnwlubpny Yhpwnynn wndwbp < hwwn 9 0.0
42121310/502 pdolwlwt Uyjwnwlubpny Ghpwnunn wndubp < huin 18 0.0
42931100/501 jwpnpwwnnphwlwt ghuitnnph$nigubip — wwpwgwubp < huwn 1 0.0
42931100/502 |wpnpwnnphwlw ghunph$nigubp - wwpwgwbp < hwwn 1 0.0

0.0
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Ufuwnwhwhs tynyebp

40 0.0
24451140/502 whunwhuwuhg Ynyebin < Ug 3100 5 35
24451141/516 wuinwhuwups hbnnty Unyabip q< (hwp 2100 500 1050.0
24451141/518 wuwnwhwuhs hnniy Wnysbip q< |hinp 1615 200 323.0
24451141/520 wiuinwhwtips htinniy bnietin Q< I 2500 20 50.0
24451141/521 whuwnwhwuhs htnnty Unietp 9< (htnp 1493 525 783.8
24451141/522 whunwhwths hbnniy Wniyabp G< {htnp 6000 400 2400.0
50 0.0
24451141/523 wihunwhwhy hinnuy Wngatin < {htnp e = =15
24451141/524 whunwhwhy hbnny Wngebp QL {hinp 3400 200 680.0
24451141/525 whunwhwuhy hbinniy Unipbp < {pnp 7400 100 740.0
24451141/526 wunwhwuhs hanny Unyebp QL |htnp 1700 100 170.0
33111500/507 dpwip unbphihquighwih < hun 47 300 14.1
33111500/508 dpwip unbiphihqughwih 3L hwn 58 10000 580.0
33111500/509 Spwp unbphihqughwih G< huwwn 32 3000 96.0
33111500/511 dpwip unbphihqughwih 9< huwn 156 500 78.0
33111500/512 dpwip unbiphihqughwih <L huwwn 26 3000 78.0
33111500/513 dpwp unbiphihquighwih < hwtn 88 100 8.8
33111500/514 hunhlwwnnp dwupbwgbpdywdnyajwt Q< hwwn 7.8 1000 7.8
33111500/516 hunhywwnnp dwipbwgbipdywénysjw 9L huwn 5.8 2000 11.6
7177.5
Ejblwnpwlwl wnypwiipubp
31711620/501 Lnwwnhnnujht (LED) jnwwuwnnt < hwuwn 1300 5 6.5
31711620/502 Lnwwnhnnwiht (LED) [nwwwnn < hwiwn 1200 20 24.0
31711620/503 Lnwwnhnnwjht (LED) [nwwuwnnt < hwtn 1500 30 45.0
37N620/504 Lnwwnpnnwht (LED) inwwinnt QL hwwn 3900 140 546.0
31711620/505 Lnwwnhnnwht (LED) jwidy < huwin 460 50 23.0
31711620/506 Lnwwnhnnwjht (LED) jnwwinnt 9L hwn 1200 20 24.0
31711620/507 Lnwwrhnnwihts (LED) (niuwwnnt & hiun 7000 30 210.0
31512360/501 Lnwwpdwly wipinwphts 9L huwin 9000 5 45.0
31512360/502 $nnngh [nwwwnnt QL hwn 8544 10 85.4
31711620/508 Lnwwwnnt 60*60, 96W 6500K L hwin 7100 20 142.0
31711620/509 Lnwwwnnt 60*60, 96W 6500K G< hwwn 7820 20 156.4
31512360/503 Lnwwnhnnujht (LED) [nwwwint G hwwn 2700 20 54.0
31211180/501 Utguwinhy dbl unbinuny QL hwin 1200 15 18.0
31211180/502 Ubgwinhy dbY utnbiguny wpunwphl ac hwtn 1400 15 2.0
31211180/503 Ulgwinhy biplnt unbining G huwin 1500 5 7.5
31211180/504 Uugwinhy biplnt unbining wpunwphu L hwin 1600 5 8.0
31684100/508 Ywpnwly hnnwiignwdwht dhwgnwing 9L hwin 1400 25 35.0
31684100/509 dwpnwy hnnwugnuwiwht dhwgnuiny wpinwpht Q< hwin 1586 15 23.8
31684100/501 Tpgwliwl Jbly nbin 9< hwin 300 25 7.5
31684100/502 Cpgwiiwly Bplynt inkin L hwiwn 600 15 9.0
31684100/503 Cpgwliwl tipbip wnkin 9L hwun 900 5 4.5
31684100/504 fupnguily hnnwiignidny 9L hwn 280 30 8.4
31684100/505 Jwpnwly hnnwugndny Eplupwgduwt jwph hwdwp 4L hwwn 460 20 9.2
31231200/501 " MBI SmURGR B AenUIgEul PR pugRa s %< huitn 350 60 21.0
dwwwiybting
31231200/502 Uklydnnbuwght biblunpwdntinwdwipl innwh KBO6 G805 dnnbijh QL hwin 125 20 2.5
31231200/503 S::;lr;r}hlw_qhh ElEywnpwdnuinwdwht nnuh K820-2 G-805 ac hiiit 250 5 38
31231200/504 E::Lj;r}h]_wjhu Flaywnpwidnuwnwdwiht wnnih K820-3 G-805 9c Vi 400 10 4.0
31681700/503 Uyinndwin wugwinhgubph winwh wpnwpht bwnwinbugws 2(+1) ac b 345 5 1.7
dnnnyubiph hwdwn
31211180/509 Udinndwwn wupwinhy QL hwn 4444 4 17.8
31211180/510 Udunnduwin wpwinhy L hwtn 4244 4 17.0
31211180/511 Ulwnniwn wugwinhy g< hwtin 3644 4 14.6
31211180/512 Uunndwin wugpwinhy < hwn 1244 12 14.9
31211180/513 Ugwnndwn wgwinhy < hwiwn 1144 12 13.7
31211180/514 Uyuindwun wlgwinhy 9L hwwn 1044 12 12.5
44322200/501 Cnuwliph Gunifu q< ubwp 178 100 17.8
44322200/502 Cnuwph duynifu L dbwnp 238 100 23.8
44322200/503 <nuwiliph dwnifu o< ubunp 348 100 34.8
44322200/504 Snuwlph dwynifu < dkinp 396 100 39.6
44322200/505 <nuwlph dwnifu G< dbunp 525 100 52.5
44322200/506 <nuwlph dwiniu 9L dbwnp 648 100 64.8
44322200/507 <nuwlph dwinifu L dbunp 614 100 61.4
44322200/508 Lnuwlph dwiniu < dbinp 936 100 93.6
44322200/509 Cnuwbph dwintfu G dbiinp 1198 100 119.8
44322200/510 Lnuwlph dwinifu &< dbwnp 1980 100 198.0
44521230/501 wiwundwut PA 66_wdpwly dwinifuph hwdwp q< huwitn 440 3 1.3
44521230/504 wwundwub PA 66 wdpwy dwinijup hwdwp a< hwin 560 3 1.7
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32324900/501

huwin

44322550/501 Uwinuhup wunip QL hwn 3 300 0.9

44322550/502 Uwinijuh wnip G< hwwn 5 500 2.5

44322550/503 Uwnijup wnip Q< hwin 5 500 2.5

31651400/502 1. dblyniups dwwjwybu QL hwwn 135 50 6.8

32442400/501 huptwubindynn nbpdhuwiught pblknemmung)2+2 2,544 CH-2 QL huwn 60 300 18.0
Ul - 1 U

3711770/501 y gnudwjhu-tnywly wdbphlywl fupngulny{nepexopHuk TpoiiHuk) 9¢ hutn 590 18 106

z

31681700/504 Udwnndwin Ubgwwnhsubiph Snup G huwin 1200 5 6.0
2nndwt Yuywl (160-480°S) pw hu EYpwi Br

32351120/501 220V/40 MaAneHan craHumA (160-480°C) umdposoli gucnnel < hwwn 21144 2 42.3
220V/40 naanbHWMK

32442400/502 Din  nbubp din  peika < huin 425 B 2.1

<bnnwinwgnyg Q< 150000 1 150.0
39711290/501 UhYpnushpuwihti Junwpwbtibp qc hwwn 50000 3 150.0
32551170/503 Utjwp hbnwunu G huwn 28571 7 200.0
puwubitjwlught wypwiptitp U Wniekn el
30197620/502 ninge, A4 Snpdwnh 9¢ wnnuh 3000 0.0
i i 1430 1500 2145.0
3019?’620{504 Enupe, A4 $npdwnh huptwlusniu phppbp QL innith 2470 9 22.2
30192800/501 hstwlujenit whunwl / guwuhunwl 30*400d/ q< hwwn 12 10000 12.0
30192800/502 hustwluwsnit whuinwly / qwughnwly 20*3004d/ L huwitn 2.1 5000 10.5
600 0.0
30199
0199420/501 e Udnigubiph hudwp, unutdgwdpny 9L hwin 5 300 e
30197322/501 Lwphg, 20-50 phpph hwdwp q< huiwn 490 100 49.0
30197100/501 Lwphsh dbnwnwiwpb Yuwbp, Jbs < wnnuth 0 10 0.0
30197112/501 Lwiphsh dbnwnwwpb Yuwwbn, dheht qc winuth 300 0.0
J 75 50 3.8
30197111/501 Yuphsh Ubnwnuwwnt Yuwbnp, ti q< wnith g 0.0
nng nuwp wan, yingn a4 100 44
| 1800 0.0
30192710/501 U
Ik unubidwdwwnhn, gpuubitywluihl q< hwwn 50 1000 50.0
30192231/501 ulyns wnihudbipwht < hwin 0 200 0.0
30 0.0
7 0
30197340/501 wuyulywnhs 9L hwn o5 5 6
39263600/501 gpswinnuth, gpuwubitywluht < hwwn 145 200 29.0
thwutnwenpbph hwdwn uwwnbujws, ubnwuh dpw npdnn 200 0.0
Soidtun] nuwinpwlwawnpbip i b 1600 100 160.0
30192100/501 nbinhl hwuwipwy a< hutn 200 4o
r 69 200 13.8
150 0.0
30192133/501 unhs q< hwiwn = = =
39263400/501 widpw /ulpbiy /, dhehu 9L winuth at 0.0
! DA 89 100 8.9
200 0.0
39263410/501 wdnwy /ulnbiy /, thnpp 9L wnuh 78 100 28
360 0.0
39263530/501 ubinuwl /yihwub/, ubs < hwin = 50 33
39263520/501 ubmdwy Ayhuyuty/, dheht a4 huitn 7 1233 [:‘?
200 0.0
39263510/501 ubindwly Ayhuguty/, tinpn < hwwn 3 100 09

30192231/502 ulyng ac i = :gg 50:;.(:3
30192160/501 aunphs 1241 qc huin = 233 434-%
30192160/504 ainphg 74, ac huwtn = ggg 0.0
30192125/502 dwnlytip q¢ huir 5 ggg 0.0
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122851200/512

200 0.0
39241210/501 U i Leii]
/5 Ypwun, gnuubtywlwhl QL huwn T30 700
30 0.0
30141200/501 hwgywuwng, gpuubtywljuhu < huuwn 2700 5
30192130/501 dwnpunbip 9L huwin 90 B
21 300
3500 0.0
30192121/501 unhwn 9L huwin
anhg qunhlyuwidnp % 3000
30197231/501 pErRWWWUWL, wnhdbpuwhl punwup, $u) < hwwn m 1223;}3 08
30199260/501 hwwnnily U4 dpwp S huwin it 0.0
38 5000
20 0.0
30192114/501 Ywpdhp pwuwp, Yuhph pwpahUh hwdwp Q< hwwn 60 0
30192114/502 Yuwwynywn pwliwp, Yuhph pwpdhlh hwdwp G huwin 60 ?g 20
30192111/502 pwlwph pwpahly QL hwin 0 20 0.0
39263200/501 ?g";r'l :ﬁmw”wlhu g Aot 2300y won ik q¢ huin 1350 50 67.5
22851200/501 prewwlwl 9L hwwn 140 300 42.0
22851200/502 PhRWWWwwl < hwtn 430 300 129.0
22851200/503 Erewuwlwl Q<L huin 470 200 94.0
200 0.0
22851100/501 ub
/ wnwqulwnptbp 4< huwn 50 700
300 0.0
22851200/510 uwlubp 20 & < h

rnRrwwwlwyubn 60 Suwjny QL hwn 580 200 116.0
30195700/502 gpwnwfunwlubiph dwppdwu uyniug < hwn 0 100 0.0
30192350/501 hwadhs-npwdwpynuyht dbpbuwbph dwwywyblubp G huwin 58 1920 1.4
Stunbuwlwl b shtwpwpwlwt bpwiwlnpwt wwpwiptbp
32551170/503 whjwp hbnwfunuttbp QL hiwn 8 0.0
31685000/501 b pulwt Bplwpugduwt jwp 9L hwwn 10 0.0
30239150/501 tnwhs uwpp, puquw$niilghntiug 9L hwtn 1 0.0
35121330/501 Sunphfu Ynnbiph ulwlwynpdwl uwphbp < hwiwn 11 0.0
30232110/506 Lwgbipuwih wyhs < hwn 6 0.0
18141100/503 wiotuwwnwupwht dknunglbip < qnyg 124.25 240 29.8
18421130/502 abnungubip GL qnyg 145 1500 217.5
18421140/502 Ublwuguudjw oginwgnpdiwl dhnungubp < qnuyg 2.996 30000 89.9
18931160/501 [Ywgph wwyniwlubp < huwin 5499 5 27.5
18931180/504 wwpwupubph thwpbpwynpdwy wnwpulubp Q<L hwin 12000 0.0
18931180/505 wwpwptbph hwebpwynpdwl nnypwlubp L hwwn 12000 0.0
500 0.0
19641000/505 wnhkphititwiht wwnl, wnph hwdwp < huwin T3 500 TR
19641000/506 wnihkphbuwht wwply, wnph hwdwp Q< huun 243 2800 680.4
19641000/507 wn(hkphituwht wwpy, wnph hwdwp QL hwn 165 1600 264.0
19641000/508 wnihkphbuwht wwnpl, wnph hwdwp < huwn 140 2000 280.0
24451141/514 wutnwhwtihs hinnuy Wnyebip aL [hinp 264 500 132.0
31441000/503 duwptnljng, AAA nbuwlh o< huitn 50 300 15.0
31442000/502 dwpinlyng, AA nbuwlh < huwn 50 300 15.0
31442100/501 Ynunwlhs dwpwnynglbp GL huwn 184.92 100 18.5
31442100/503 Ynunwlyhs dwpinlynglbip < huwwn 199.5 200 39.9
31685000/501 Fbayunpulwu bplwpwgdwu jwp < huwin 1495 25 37.4
31685000/502 bl pulwt bplywpwgdw jwp < huin 1970.4 25 49.3
31685000/503 FEywnpulw bpljwpwgdw jwp QL huwin 3990 10 39.9
33141118/501 wusbnnghliubp ac huitn 370 50 18.5
33141201/502 Puwfuhjubip 9< huwtn 2.8 300000 840.0
33711210/502 dblywugwijw oqunwgnpddwl wudtnnghyubip QL hwwn 390 5000 1950.0
33711480/503 ofiwn Q<L hwwn 120 500 60.0
33751100/503 dblywlgquidjw equwgnpddwi uwynhpubp QL hwn 120 200 24.0
33751100/504 Ublwuguidjw ogunwgnpddw tnwynhpubp G< hwiwn 150 200 30.0
33761000/503 gniquipwup iR, nnynuny G hwwn 80 4000 320.0
33761000/504 gniquipwlp Enine, nnyntuny G hwn 80 2000 160.0
33761300/503 abinph prpb upphsubp qc hwwn 148 1200 177.6
34331400/502 wyunnubipbuwtbiph gnpgbp q< hwin 1392 50 69.6
39221190/501 fudbynt oph tnwpwtbp q< huwin 18438 10 184.4
39221220/501 hwgnwnh snpwngubp L hwun 10434 10 104.3
39221350/503 Ubiwugwdjw oginwgnpddwu pwdwyubip G hwwn 3.5 15000 52.5
39221410/502 wybubp L hwwn 100 0.0
39221420/502 funquiiwlubip 9< huwtn 1269.6 50 63.5
39221430/502 funquiiwy-uyniig wiywbh dwppbine hwdwp, nbnpub < hwtn 2328 10 23.3
39221480/502 gnigupwuh funquiiwlubp G huwwn 449 200 89.8
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39221490/502 uwniugubip 9L hwin 77.77 800 62.2
39224331/502 iy Wwuindwub GL huwiwn 399 80 31.9
39224331/503 nny| Wwuwndwub < hwn 171 50 8.6
50 0.0

39224342/503 wnpwplyn, donwnjw < huwin 53590 100 539.0
39224344/502 wnpwplyn' phebyw 9L hwwn 2 2
1188 50 59.4
200 0.0

39511130/501 uwwuubp ag huwin 1549 1000 1549.0
39511130/502 ywywubp S huwin 150 200 30.0
39511130/503 uwywuubp Q< huuwn 100 200 20.0
39513200/502 pnpb wudtnnghl, bpYsbpn 9L huwn 220 1000 220.0
1000 0.0

39522330/502 dwppnn yunnpubp &< hwin 335 3000 1700
39713410/502 hwinwyh dwppdwl uwppbp QL hwn 1308 100 130.8
39713410/503 hwwnwlh dwppdwl uwpptp q< hwn 450 250 112.5
39713410/504 hwnwlh dwppudw uwppbp 9< hutn 4000 100 400.0
500 0.0

39831100/503 Ywgnn Uniebip G< [hwp 168 1000 166.0
39831100/504 Ywgnn Wnipkp G< {hinp 72 7000 504.0
39831210/502 uwjwuph |Ywguw nbnbpgbunubp 9L hiuwn 94.96 1000 95.0
39831243/504 14wgph thngh wynndwin Q< Yhingpwd 325.03 700 227.5
39831245/502 ofiwn, hbnnty < |hunp 168 1500 252.0
39831247/502 whunwhwtinn htinnily* uwuhwitignygh hwdwp (fuinwbynip) 9< {htnp 336 1500 504.0
1000 0.0

39831278/502 uwjwuph Ywgdwl thnzh < hwn 596 =00 79.8
39831278/503 uwwuph |Yuwigdwl thnoh QL huwn 290 50 14.5
39831280/502 wwwlh dwppbint dheng QL |hinp 276 500 138.0
39831283/503 hwnwlh wgdult wp ac hwin 876.78 1000 876.8
39831283/504 hwuinwlh (Ywgduil jwp G hwn 349 300 104.7
200 0.0

39831283/505 hwwnwlh Yuwgdwl we Q< hwun 000 1000 10000
39835000/502 huwwnwl dwpphint &nn, Wjwundwub, guwjngw 9L hwin 1000 50 50.0
100 0.0

39836000/502 wybi, unynpuiyuw 9 huwn 350 200 190.0
39837000/502 guiuwl q< huwitn 350 50 17.5
42961300/502 hhahtuh wwpwquitibph nhuubbubipubp < huwwn 3996 20 79.9
44211280/502 annbip 9< hwn 292.8 100 29.3
44521120/504 nnuwb thwljwtiibp < hwin 10 0.0
44521120/508 nwt thwlwlibbp 9< huwitn 4428 10 44.3
44521120/509 nnw tulwutbp L huwwn 10 0.0

42414700/501 Ubpbpulubp <L huin 3300000 1 3300.0
44163280/1 funnnyuljwiht wwpwupubp uu hwwn 46200 15 693.0

44221200/501 uwhnn nnubip < pd 139920 30 4197.6
16311400/501 funtnhtiéhs dbpbbiulibip qc huin 1 0.0
18441210/501 uwnwywpubbp < hwin 1 0.0
30194220/501 géwgpulw dwuwybuubp < hwwn 1 0.0
31171200/501 |wipdw thnfuwlbpwhsubp < hwwn 1 0.0
31442100/505 Ynunwlhs dwpinyngubip 9< hwn 60 0.0
31681900/501 Filunpuilwt wynuhs (nnby) L huwin 1 0.0
33191350/502 wlwuwgpwyutp < huwin 1 0.0
33191350/503 wibijuwuwjwlubp Q< hwn 1 0.0
39241141/501 nwitwy’ gpwubitjwlijwht < huwwn 10 0.0
39241141/502 nuitiwly' gpuublywlught G< hwn 10 0.0
39241210/503 Uypwin, gpwubljwlwihu L huwwn 2 0.0
39241250/501 Swnbph dypwin (ubijwwnnp) <L hwn 2 0.0
39712300/501 Ywpuwhwprwphsubp L hwun 2 0.0
42121430/501 quiquih ugwlubp (Yndwpbunplbp) 3L huwn 1 0.0
42121710/501 gwquiht Yndwypbunpubiph dwubp 9< huun 1 0.0
42661300/501 tnwlgdwl uwppbip <L hwin 1 0.0
42671100/501 gnndhpubiph pnpsubip <L hwn 2 0.0
42671170/501 onpEWwnp unng QL hwn 1 0.0
42921240/503 hbnniywghp wnpéwuwlubp GL hwwn 3 0.0
42921240/504 hannijwghp winpwwlttp < huwn 3 0.0
43121170/501 wdnifuh Ywd puiph hnpwnhsubp QL huwn 1 0.0
43121170/502 wdniuh Ywd pwph hnpwinhsubp GL hiuwn 1 0.0
43411300/501 phitnnup Yud hwduwigh uwnuhsubp GC huwin 1 0.0
43411500/501 hnynn uwppbp Q< hwn 1 0.0
43411500/503 hnlynn uwppbp S hwun 1 0.0
43411500/504 hnlynn uwppbp G< hwn 1 0.0
43611290/501 pwph hnpwinhsubiph dwubip G< hwwn 2 0.0
43611290/502 pwph hnpwinhsubiph dwubip < hwn 2 0.0
43611290/503 puph hnpwuwhstbph dwubp S< huwin 2 0.0
44112730/504 inpnn ulwdwnwy G< huwwn 2 0.0
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44411100/501 dnpuwlubip L hwwn 5 0.0
44511100/501 alinph gnpdhpubin L hwin 2 0.0
44511100/502 abinph gnpdhpulip q< huwin 1 0.0
44511100/503 abinph gnpéhplbip q< huin 1 0.0
44511100/504 akinph gnpshplitin 9< huin 1 0.0
44511100/505 alinph gnpdhpubin 4L huin 3 0.0
44511100/506 dtinph gnpdhpubp < huwin 1 0.0
44511100/507 atinph gnpdhpubip G< hiin 2 0.0
44511200/501 dbnph unngubip 4L huwn 2 0.0
44511200/502 abnph unnglibip ac huwin 2 0.0
44511200/503 dbnph unngliip GL huwtn 3 0.0
44511200/504 dbnph unngibip L hun 2 0.0
44511240/501 wpgwubp < hwn 2 0.0
44511240/502 wpgwuubn < hwn 3 0.0
44511240/503 wpguttbp 9< hutn 3 0.0
44511270/502 dnipébp q< huwtn 1 0.0
44511270/503 dnipéibip G huwin 3 0.0
44511270/504 unipékin < huwin 2 0.0
44511330/501 wnnunwywhwuubp G< huwin 3 0.0
44511330/502 wunnunwywhwibp G huwtn 3 0.0
44511330/503 wunnunwYwhwuubp L hwin 2 0.0
44511340/501 quyhynup uwypbip L hwin 3 0.0
44511343/501 quyhynu QL hwn 2 0.0
44511343/502 quwjihynu < hwiwn 3 0.0
44511343/503 quijihynts 9L huwiwn 2 0.0
44511343/504 qujihynte Q<L hwwn 1 0.0
44511343/505 qujhynts L hwtn 1 0.0
44511343/506 quihynt LS huwin 1 0.0
44511343/507 qujihlynts QL hwn 2 0.0
44511343/508 quihlnt Q< huwn 3 0.0
44511343/509 quilhynts 9< hwin 3 0.0
44511343/510 quijthynts 9L hwin 3 0.0
44511350/501 winnunwlwhwibiph uw)pkp < hwun 1 0.0
44511360/501 gnpdhpubiph whnwihnfudwu dhengubip < hwin 3 0.0
44511360/502 gnpdhpubiph whinwihnfudwu dhgngutip < hwn 3 0.0
44511370/501 gnpdhpubinh hwdwpwdniubin Q<L hwwn 5 0.0
44511370/502 qnpdhpubiph hwiupwaniutip q< huitn 2 0.0
44511370/503 qnnéhpubiph hwywpwéniubip < hwiwn 2 0.0
44511370/504 gnpdhpubiph hwywpwéniubin QL hwwn 3 0.0
03411120/501 thwjinwiyniphg wwnpwunywd wpnwnpup 9< huitn 100 0.0
14211000/504 wiwg, shtiwpwpwijwi qL fud 30 0.0
14211111/502 dwtipwluh6 9< fudd 24 0.0
14811300/501 hnynn uwywnwlubp QL huwin 20 0.0
14811300/502 hnynn ulwlwnwlubp GL huwitn 20 0.0
14811300/503 hnynn ulwiunwlubp q< huitn 20 0.0
18421130/503 bntinglibp 9< qnyq 50 0.0
18931130/502 dwlpngubiph wwplybp < huwiwn 300 0.0
24911500/502 unuhd (wkpngng) L hwwn 20 0.0
24911900/503 uwhlh unuhud 9< Yhingpuwd 1500 0.0
30192230/501 ulyng' Eplylynndwtih unutidwd < huin 10 0.0
30197323/501 Ywphs, 50-hg wubth pbpph hwdwp QL hwin 2 0.0
31211180/515 wyinndwin wiguinhsubp q< hiwn 2 0.0
31211180/516 wywnndwin whgwinhsubp QL huwun 2 0.0
31211180/518 wyinndun wigwinhsbp q< huitn 20 0.0
31211180/519 wynnuwwn wlgwinhstbip < hwiwn 5 0.0
31211221/501 wligwnhsubip L hwwn 15 0.0
31221200/501 fupngutiph bnwupyubip = Juwpnwlubp < huwin 50 0.0
31221220/506 Upwgdwl innupbip L hwwn 30 0.0
31221242/501 ryniphi 9L hwin 2000 0.0
31221242/502 nynipby aL huwin 50 0.0
31221242/503 nyniphy &< huwiwn 100 0.0
31331192/501 bblunpuljut duniy’ Udds ac b 200 0.0
31331192/502 bbbunpulut duniu’ UddS ac dbwp 400 0.0
31331192/503 biblinpwlut duymu' Uddg QL Uk 100 0.0
31331192/504 Ebluwpuwlut duniu’ Udds ac binp 10 0.0
31531100/501 bllnpuwlwl (wdwbp q< hwwn 40 0.0
31641216/501 hwunniy wnnunwly 9L huwn 1000 0.0
31641216/502 hwwnty wwnnunwy Q< hwn 1000 0.0
31641216/503 hwnniy wnnunwly G< hwwn 1000 0.0
31641216/504 hwwnnily wunnunwly 9L huitn 1000 0.0
31641216/505 hwnniy wunnunwly &< huiun 500 0.0
31641216/506 hwinniy wwnnunwy a< huin 1000 0.0
31641216/507 hwinniy wunnunwly 9< hwwn 6000 0.0
31651400/503 dblyniuhs dwwwyktiubp q< huitn 50 0.0
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31651400/504 ubynwuhy dwwwybuubp qc hwin 30 0.0
31651400/505 Ubyniuhs dwwuwidbliubp qc huwwn 20 0.0
31651400/506 dkynwihs dwwwybuubp Q< hwtin 20 0.0
31681700/507 pudwtwpun wnuh L hwin 15 0.0
31681700/508 pwdwlwpwn wnuh 9 huwin | 0.0
35111300/501 wwpwnwwlihs — whynwlgnipwl hwgnwun Gl hwin 20 0.0
39132220/502 Yuifuhsubip < hwwn 60 0.0
39132220/503 Yuwbupsubp 9L hwwn 200 0.0
39221460/501 ypdpt' Ubplwipwpwlwl 9< hwwn 20 0.0
39221460/502 Ypdht' ubpywpwpwywu 9L hwitn 10 0.0
39221460/507 ypdht' ubpywpwpwlwt G hwin 20 0.0
39221460/508 paht' ubpywpwpwlw 9L hwin 20 0.0
39224331/504 nny| wiwuwndwub QL hwwn 15 0.0
39812600/501 dwppnn dwaniubp — thnghubip G< hwn 5 0.0
42921240/505 hbinnywghp wnpéwuwyubip QL hwwn 3 0.0
42921240/506 htinnijwghp winpGwuwlubp 9L hwin 10 0.0
42921240/507 hnnijwghp wwnpGwiwlubp Q< hwn 3 0.0
42951300/501 hwppbgunn dhphuwubiph dwubip 9L hwn 3 0.0
44111200/504 ghubun G< Uhingpud 2500 0.0
44111400/503 Yuwhunyh wnwunwn QL pu 54 0.0
44111400/504 Ywhunyh wnwuwnwn AL pu 100 0.0
44111412/502 ubiply, shtwpuwpwliut q< Yhingpuid 800 0.0
44111413/505 Jniwubipy L Yhingpuwid 10 0.0
44111413/506 Jnenwiutiply Q< Yhingpuwid 15 0.0
44111417/501 Uwhiwubpy L Yhingpuwd 100 0.0
44111419/501 gniwg Q< hwun 15 0.0
44111446/502 dblyniuhstbin q< hwin 30 0.0
44111448/501 gbipdught dayniwhs Wniabip q< huin 60 0.0
44111448/505 obpUwjht tklnidhs Unipbp 9 huwtn 30 0.0
44111710/502 uwihy, Yhpwdhyuwlywl, hwnwyh hwdwp L pu 200 0.0
44112210/501 inwbihp a< od 50 0.0
44112730/505 Yinpnn uwydwinwly G huin 3 0.0
44112730/506 Yupnn uywywnwy GL huwwn 100 0.0
44112730/507 Yunpnn ulwywnwly Q< huiwn 5 0.0
44141200/501 opowtwlutn 9< huwtn 50 0.0
44163400/506 ybpwunpnguwl wunipbin — wwpgniuwyubip QL huwwn 400 0.0
44163400/507 Ybpwunpnguwl wunipubp = wwpgniuwlubp QL hwn 150 0.0
44171100/508 uwihlubp (ghiwpwpnyzjwl) QL pd 288 0.0
44171100/509 uwihllubp (shuwpwpnyajwt) QL pd 288 0.0
44171110/503 uwihbubph fuwsnily q< hwwn 30 0.0
44191700/502 w)| quiiwquit shuwpwpwlwt Wnypbp QL lhingpuwd 13 0.0
44191700/507 w)| qubwgqui ghtiwpwpwywl bnyebp QL lhingpuwd 15 0.0
44211610/501 wlyniutbip QL hwin 300 0.0
44211610/505 wllyniutibp 9 hwin 300 0.0
44211610/506 wiilyniubp qc huwin 100 0.0
44211610/507 wulyniutubp QL hwwn 100 0.0
44211610/508 wulyniuttbip < hwwn 100 0.0
44311120/501 thowywpkp qc hingpuad 5 0.0
44311170/503 bnwlgdwl wwpwgquubnp q< hwwn 500 0.0
44322550/504 Uwinifuh wniptibp Q< huwin 5 0.0
44322550/505 dwinijuh wuniptbip 9< hwwn 5 0.0
44322550/506 dwinifup wunipubp QL hwn 3 0.0
44331410/506 Ywiunyp wnwuinwnh ghtwwwin wpndh| < gowdbiinp 60 0.0
44331410/507 Yuwhundh wnwunwnh ghuywwwn wpn$hi L gowdbiinp 6 0.0
44331410/508 Ywhunyh wnwunwnh ghtwwww wpndh| 9L gowdbiinp 15 0.0
44331410/509 Ywhuinyh wnwuinwnh ghjwwwwn wpndh| Q<L gdwdbiinp 100 0.0
44331410/510 Ywhundh wnwunwnh ghtwwwn wpndhi <L qdwdbinp 80 0.0
44423480/501 Uwlbpbup wnuwhbp L hwwn 10 0.0
44423480/502 Swlbpbuh innupbp qc hww 10 0.0
44423480/503 dwlbpbuh innupbp qc hwin 5 0.0
44423600/504 Yusnit dwugwybutbp QL hwn 20 0.0
44511260/501 hnywpenine < pu 1 0.0
44511260/503 hnjwpnine g< pJ 1 0.0
44511260/504 hnywpninp qc o 1 0.0
44521120/510 nnwl thwljwlitbp q< huwitn 150 0.0
44521120/511 nnwl thwlwlibp q< huwin 60 0.0
44521230/505 wiipwlubp q< huwiwn 3 0.0
44531191/502 biplwpeh unnndwlubp q< b 400 0.0
44531191/503 biplwipl funnngulubip qc utnp 100 0.0
44531200/501 ns wwphipwlwynp wipwgdwl nhnwubp QL huwin 10 0.0
44531200/502 ns wwpnipwlwynp wipwgdwl nbnwubp 9L hwwn 220 0.0
44531260/501 wwpnipwlwynp wdpwgdw nbnwubn L (nwlwqu 50 0.0
44831500/502 |ntahsubip q< Yhingpuid 3 0.0
44921500/501 Shithwdwdhy' ghwuwhu < Uhingpwd 150 0.0

Crpanuua 28




44921500/502 shithwiwdhy' ghwyuwiht QL Lihinapuwd 5100 0.0
44921500/509 Shthwdwdhly' ghwyuwht L hngpuwd 1050 0.0
44921500/510 dtipwdwdhy’ ghwuwhl qc Yhingpw 150 0.0
09211631/501 hwluynnnghnts jninbip 9 Uhingpwd 3 0.0
38621300/501 hwjbih' nhunnnqulwt < hwn 30 0.0
39351100/501 Ynjninpubiph dwippdwl uwppbip QL hwin 1 0.0
39722400/505 w)| YEugwnwiht wiuuhYwh dwubip 9< hwin 50 0.0
39722400/517 w)| Yugunwihts whuthbwih dwubp < hwwn 100 0.0
39722400/518 w)| Yeugwnuiht wkuthyuih dwubp 9L huwn 100 0.0
39812500/501 opwtiyniuhs Uyniebin Q< hwwn 10 0.0
42131490/501 uhdnu G< hwin 200 0.0
44131100/501 Ynjninnt fughp q< huwiwn 5 0.0
44131100/502 Ynyninnt juglip GL hwiwn 5 0.0
44161230/512 funnnywlubiph wwpwgwlbp q< hwn 40 0.0
44161230/513 runnnywlubiph wwpwgwbp < hwitn 40 0.0
44161230/514 unnnywlubiph wwpwgwbnp q< hww 50 0.0
44161230/515 tunnnyuubiph Wwpwgwbp 9< hwwn 15 0.0
44161230/516 funnnyuljubiph wwpwgwibp 9< hwn 40 0.0
44161230/517 funnnywlubiph Wwpwgwbp 4L hwwn 50 0.0
44161230/518 hunnndwliubiph wwpwqwubp 9 hwin 40 0.0
44161230/519 funnnywlitiph wwpwgwubp < huwitn 15 0.0
44161230/520 hunnnywlubiph wwnwqubp q< hwiwn 15 0.0
44161230/521 funnnuwlubiph wwpwquwubp <L hwiwn 15 0.0
44161230/522 funnnyuwlubiph wwpwquubp QL hwwn 5 0.0
44161230/523 funnnyuwlubiph wwpwgwbp < hwin 20 0.0
44161230/524 funnnywliubinh wwpwquwubp < hwwn 20 0.0
44161230/525 funnnyuwlubiph wwpwguwbp QL hwwn 50 0.0
44161230/526 funnnUwlubph wwpwgwubp QL hwwn 20 0.0
44161230/527 funnniwlubiph wwpwgwbp < hwwn 20 0.0
44161230/528 funnniwlubph wwpwgwubp < hwn 15 0.0
44161230/529 funnnuwbubph wwpwagwubp QL huwwn 15 0.0
44161230/530 funnnwlubph wwpwagwbp L huwin 50 0.0
44161230/531 funnnywlubph wwpwgwubp L hun 50 0.0
44161230/532 funnnwlubph wwpwguwbp QL hwtn 50 0.0
44161230/533 funnnywlubph wwpwgqwbp Q<L hwin 50 0.0
44163140/502 onh — gnnpznt funnnyuwljubp GL dbunp 80 0.0
44163140/503 oph = gninpgnt funnnwlubp q< dbinp 80 0.0
44163140/504 oph = gninpgnt funnnwlubp 9L dbwnp 8 0.0
44163140/505 onh — gninpznt lunnnywlubip < dbnp 8 0.0
44163140/506 onh — gngnpant funnnywljubip < dbiinp 16 0.0
44163200/503 funnnwlubiph dhwgdwl dwubp Q< hwin 20 0.0
44163200/511 funnnyuiliubiph Uhwigdwl dwubp < huwin 20 0.0
44163200/512 funnnyulubph dhwgdwl dwubp q< hwn 30 0.0
44163200/513 funnnywlubph dhwgdwu dwubp q< hwwn 30 0.0
44163200/514 hunnnuuwliubiph dhwguwl dwubp q< huwin 20 0.0
44163200/515 funnnuwlubiph dhwguwl dwubp <L huwin 15 0.0
44163200/516 funnnyuwluibiph dhwguw dwutp < hwin 15 0.0
44163200/517 funnnywlubiph dhwgdwi dwubp < hwn 15 0.0
44163200/518 funnnyuwlubiph dhwgdwl dwubp < hwin 15 0.0
44163200/519 funpnywlibph dhwgdwl dwubp <L hwin 20 0.0
44163200/520 hunnduwilubph dhwguwt dwubp qc huwiwn 20 0.0
44163200/521 funqnywltibiph dhwgdwt dwubp qL hwwn 20 0.0
44163200/522 funqnywyibiph dhwgdwt dwubp < hwwn 20 0.0
44163200/523 funnnywlubiph dhwguwu dwubip 9< huwwn 20 0.0
44163200/524 funpnyuwliiph dhwgdwu dwubin < hwwn 20 0.0
44163200/525 funnnywlibph dhwgdwt dwubp AL huin 10 0.0
44163200/526 funnnywlibiph dhwgdwt dwubp Q<L hwwn 10 0.0
44163200/527 funnnyuwljubiph dhwguwb dwubp L huwin 10 0.0
44163200/528 funnnuywlubph dhwgdwl dwubp q< huitn 10 0.0
44163200/529 funnnywlubph dhwgdw dwubn G< huwin 10 0.0
44163200/530 funnnywlubph dhwgut duutip qc huwin 10 0.0
44163200/531 funnnuwliubph dhwgdwl dwubp o< huin 10 0.0
44163200/532 funnnywlubiph Jhwgdwl dwubp < huin 10 0.0
44163200/533 hunnniwlubnh Uhwguiul tuwubp a< huitn 10 0.0
44163200/534 funnnywiubph dhwgdwl dwubp Q<L huwin 20 0.0
44163200/535 funnnywiubiph dhwgdwl dwubip 9L hwn 20 0.0
44211610/509 wulniiubip < hwwn 10 0.0
44211610/510 wllntiubp < hwin 10 0.0
44211610/511 wulyniuutip L huwitn 10 0.0
44211610/512 wllynititibp < hwwn 10 0.0
44211610/513 whlynitiubp < huwn 10 0.0
44411100/502 Snpwlubip < hwwn 30 0.0
44411100/503 anpwyubn < huwn 30 0.0
44411100/512 Snpuiljubp q< huwwn 100 0.0
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44411300/501 Ywgwpwuubip QL hwiwn 25 0.0
44411300/505 [Ywgwpwuutp qL huwin 20 0.0
44411500/507 thwlwt' gunud— q< huwin 20 0.0
44411500/508 bt qunwa— qc huin 20 0.0
44411500/509 thwljwt' qunwd— 9< huin 20 0.0
44411500/510 thwlpwt’ gunwé-— < hwwn 20 0.0
44411500/511 thwlwl' qunwd— 9< huwin 20 0.0
44411500/512 thuljutr’ qunws-— 4< huwu 20 0.0
44411500/513 thuluwt' qunwa— q< hwin 20 0.0
44411500/542 thwlwu' qunwé— Q<L hwwn 80 0.0
44411740/501 qnigupwliwyntp QL hwwn 25 0.0
44411742/501 gniquipwitiwyntiph dbfuwbihgd <L hwwn 50 0.0
0.0
Ubkligwnuwjht nbluthljw b Wwpwqubp
30211200/503 rynipwlhp hwdwlwpghsubip L hwwn 10 0.0
30211300/501 hwdwlwpgswiht uwppwynpnidubp L hwin 3 0.0
31221230/501 thwguwt dwjniubp q< hwin 3 0.0
31681700/509 pusdwlwpwp wnith 9L huwiwn 5 0.0
31681700/510 pwdwlwpwp wnith q< hwwn 10 0.0
31681700/511 pidwlwpwp wnih <L hwwn 20 0.0
31684400/501 Juipnuy a< huwitn 30 0.0
31684400/502 Yupnwly 9L hiun 15 0.0
38311100/502 Eilinpntiwght Yobnplibip — wwpwgwlbp GL huwin 1 0.0
38311100/503 FiElwnpnuwht Ypbnplibip — wwpwgwbp < huuwn 5 0.0
39711140/502 ybtigwnwiht uwnbwpwubn G< huwwn 20 0.0
39714210/501 onnpwlhy, 9000 BTU q< hwin 8 0.0
39714220/501 onnpuiljhs, 12000 BTU o< huwin 8 0.0
39714220/502 onnpuwlhy, 12000 BTU 9c huwtn 10 0.0
39717100/501 hnyhwphsubp q< hwn 10 0.0
0.0
Cwiwlwpgywiht uwppuwiynpnud
30211280/502 Lwdwlwpghs wdpnnep dblnid gL hwin 325000 35 11375.0
30239110/501 Sujhs pugiwpniulghntiuwg QL hwn 185000 3 555.0
30239110/502 Sughs 3-p dbynud L hwin 125000 20 2500.0
30239110/503 Sughs thnpp aC huwin 67000 10 670.0
30237411/501 Ulihuply qc hwiwn 1600 20 32.0
30211170/501 Uhbpnwnpy 9< hwwn 32000 2 64.0
32561600/501 Unwuwntin < hwun 13000 50 650.0
32421300/501 Uyhy/8 port 9L hwn 5000 10 50.0
32421300/506 Uyhy/5 port 9L hwwn 4000 10 40.0
32421300/507 Uuhy/24 port q< huitn 40000 3 120.0
30231100/501 WIFI uwpp q< hwun 7560 10 75.6
30232231/501 Lwiwwpgswihu Ynown uluywnwl G< hwwn 27000 2 54.0
32421100/502 Swliguyht Jwinthy q< huitn 25000.2 2 50.0
16235.6
Uulnnuuwjht wwpwqubp
39518100/502 Uwjhunwlbinbup hwjwpwén q< huwin 389 0.0
39141200/501 tbppuwlh bpbu q< huwin 128 0.0
39511100/501 Dwbling (wnbwy, hwuwn) < huwin 65 0.0
39511100/502 Twolng (wnbiwy, pupwl) 4L hwwn 54 0.0
39516122/501 Puwnd L hwn 100 0.0
39511100/506 dbpdwy (pwpwly) < hwin 70 0.0
39511100/507 uUbpuwl (Uheht) q< huwin 20 0.0
39511150/502 Lwdwuinpwuthy < hwwn 173 0.0
39511130/511 Uwdwl nh nbnwdhnpubiint hwdwp 9L hwwn 70 0.0
39511130/514 Uwjwu < hwwn 25 0.0
39514100/501 Upphs guidpnguihl aL huwin 36 0.0
39514200/501 Upphs phijh < huwin 6 0.0
39514500/501 Gpluupphs 9L hwwn 36 0.0
39514100/502 Upphs pwdpwlyjw G< hwin 10 0.0
Utnitin
3200 0.0
15321200/504 hutnwgywé hiniye G< (hwp 575 1600 1080.0
5280 0.0
15321200/505 hunwgywsd hjnip 4L lhinp 75 3640 9668
1600 0.0
15821500/504 Huwdplup|hp G< Lg 7430 800 71440
1600 0.0
15842110/505 Ynu$titn, anlnpwnwiwwn < Ug 3110 800 1688.0
8000 0.0
41111100/501 pdwybith enip &< (htnp 750 500 376
npwbuwnpunwihtt wypwptbp b ynipbp
09132200/3 [pttght, nbignywnp EUS | jhup 490 3000 1470.0
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(0913220071 phught, nbgnijup uu thuinp 480 300 144.0
09135200/3 hEnny quig EUS lhwp 150 1000 150.0
ounusnr@3nhrLuGr
70311200/503 wnwpwdplbiph Jwpdwlwinyzjw dwnwnipjni < npuwd 17952000 1 17952.0
50311120/501 huulungstuhli uwpplinh whuulidul — dapuibnpng 9¢ aowd | 1644300 1 1644.3
Swinwinpiniuubn
7921115011 wninhunnpwlwl dwnwjnipjniubbp 5L npwid 1884000 1 1884.0
7163111011 uwppbiph unnigdwu Swnuynipnitbp uu npwd 426000 1 426.0
98111121/501 wdinwgnipiwl wuwhnydwl dwnwjnuyeniiin < npwyd 2816666 1 2816.7
50421100/503 peZuent uumEkn GEnARAGUUAL = dunwul i a< nnw 1572000 1 1572.0
Swnwinipniuubn
48221400/1 huadwguibguifs to fupuigndutts huihulpupgguyls Spuigpughle -y A 990000 i 990.0
thwipbiputn
98111121/2 wiyiniutgnyeiwl wwywhnydwl dwhwjnipniutp uu g 480000 1 480.0
50111180/ winndbipblwtbph (dwgdwt - Udwbwwnhuy dwnwjnyzniutbp uu nnwd 558000 1 558.0
50531230/501 ghubpwwnnputiph Yopwunpngudwt — wuwhuywtdwy ac — 1 0.0
dwnwynyeintulbip
7135154001 inbfuthhulwl hulnnnueiwu dwnwjnieniuubp uu g 300000 1 300.0
98111140/1 hnhluwlwjht huynnnipjwl dwnwjnyniutbn uu nnwd 100000 1 100.0
Lwhnyph YyEpwunpngiwl dwawjnipinitiibkp
50851100/501 Ywhnyph YEpwunpnguiwt — wwhwwbdwl Swnwjnyzniubbn GL huwn 3 0.0
50851100/502 Ywhnyph Yapwlnpnguwl — wwhwwbdwl dwnwjnipjniitbp < hwwn 3 0.0
50851100/503 Ywhnyph Yapwunpngudwt — wwhuwuwldwl dwnwnigimiubp < hwn 1 0.0
50851100/504 Yuwhnyph Yepwunpnguwt - wwhwwbdwl Swawjnipnibibn 9< hwuwn 5 0.0
50851100/505 Yuwhnyph Ybpwunpngdwt — wwhwwudwl dwnwjnyniitibp q< huwin 39 0.0
50851100/506 Ywhnyph Jbpwunpnguwl — wwhwwidwl dwnwjnyzjniiibp Q< hwin 5 0.0
50851100/507 Ywhnyph dbpwunpnguwt — wwhwwidwl swnw)jnyajniiubp Q< hwin 15 0.0
50851100/508 Ywhnyph dspwtnpngdwt — wwhwwldwl dwnwnyzniulibp Q< hwn 1 0.0
Sywgpwljwy Swnwynpjniu 1
79821180/950 nwwgpulut — pwaudwl dwnwjngniuubp <L npwud 39600 1 39.6
79821180/951 nwwgpulwt — pwudwl Swnwnipjniuubp G npwud 12600 1 12.6
79821180/952 nwwgpwlwl — pwoudwl dwnuwynipjniubbp G npwd 164000 1 164.0
79821180/954 nwwigpulul — pupludwl Swnwinyeyniiubp 9L npwd 164000 1 164.0
79821180/955 nywgpwlwl — pwopudwl dwnwnyezjniubbp G npwu 10200 1 10.2
79821180/956 nwwgpljwt — pwaiudwl dwnwjnpniuubp Q<L npwd 24750 1 24.8
79821180/957 nwwgpuiljut — pwaiudwl dwnwjnpniiubp < npuwd 19800 1 19.8
79821180/958 inwwgpwljwt — pwzhudwl dwnwjneniutbp G npwd 33000 1 33.0
79821180/959 nwwgpulut — pwaudwl dwnwjnygniuubp <L npwd 19560 1 19.6
79821180/960 nwwgpuiljut — pwaudwl dwnwjnypniuttbp QL npwd 29340 1 29.3
79821180/961 gl = pugudwl Swnwjnipjniutbp L npwd 39600 1 39.6
79821180/962 nuwgpulwl — puudwt Swnwjnyginiubp QL npwd 39600 1 39.6
79821180/963 nwywgpwlwl — pwpudwl dwnwnysniulbp 3L npwd 19800 1 19.8
79821180/964 nwwgpulut — pwoudwl dwnwjnipgniutbn q< npwd 41000 1 41.0
79821180/965 gl — pwgudwl dwnuwjnypjnutp q< npwd 19800 1 19.8
79821180/966 gl = pwudwl dwnwjnpjniuubn < npwd 39600 1 39.6
79821180/967 nwwgpulut — pwpudwl dwnwjnysjniibtip G npwd 19800 1 19.8
79821180/968 gl — pwzudwl dwnwnyniiubn 9L npwd 42000 1 42.0
79821180/969 nwwgpljuwu — pwoudwl Swnwjnipniiutbn Q< npwd 39600 1 39.6
79821180/970 nwwigpuilut = pwhudwl dwnwnyajniubp QL npwd 79200 1 79.2
79821180/971 nwywgpwlw — pupudwy dwnwynysjniiubip 9 npwd 13120 1 13.1
79821180/972 nwwigpuljwl — pwiudwl dwnuwyniniuubp L npwd 8200 1 8.2
79821180/973 nywgpuluwi — pwoudwl dwnwjnpjniuttp L npwd 63360 1 63.4
79821180/974 wnwwgpwluwl — pupudwl Swnuwjnygynitbp <L npwd 1140 1 1.1
79821180/975 nywgpwlw — pwhudwy dwnwniysjniutbp < npwd 2550 1 2.6
79821180/976 nywgpwlwl — pwsfudwl dwnuwynysjnitibp QL npuwd 1700 1 1.7
79821180/977 nwwigpuiljut — pwoudwl dwnwjnygniiutp Q< npwd 1500 1 1.5
79821180/978 nwwignulwt — pwaudwl dwnwnyzniiubp < npwd 57400 1 57.4
79821180/979 nwwgnljwt — pwaudwl dwnwjnigniuubp Q<L npwu 3400 1 3.4
79821180/980 nwwgpwljwl — pusfuliwl dwnwjnipniitbp 9< npwid 5040 1 5.0
79821180/981 nwwgpuiljut — puwziudwl dwnwjnyaniibp QL npwd 2550 1 2.6
79821180/982 nwwgpuiljut - pwshudw Swnwjnyeniuubp S< npwd 99000 1 99.0
79821180/983 nwgnpwlwl — pwspudwl dwnwjnipnliubp q< npwd 19560 1 19.6
79821180/984 nwuwgpulut — pwziudwl dwnwympniuubp Q<L npwd 9840 1 9.8
79821180/985 gl - puwstudwl dwnwjnyeiniuubp < npwd 39600 1 39.6
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79821180/987 wwgpulwl — pughidwl dwnwnianiutbp Q< npd 358800 1 358.8
79821180/988 nwwgnulwi — pwoudwl dwnwjnyejniittin < nnwd 3800 1 3.8
79821180/989 uuywgnuwlywl — pwzhudwl dwnwnyaindiubp 9L fpun] 198000 1 198.0
79821180/990 nwwgpulwi — pwoudwl dwnwjnygjnittin QL nnwd 198000 1 198.0
79821180/991 nwwgpulwl — pwgudwt Swnwjnygjniiubn 9L npwd 99000 1 99.0
79821180/994 nwywgpwlwu — pwoudwt dwnuwynuyjniulitp G nnwd 1296 1 1.3
79821180/998 nuwgpwhwl — pugudwl dwnwyniajniutp 4< npwd 39600 1 39.6
79821180/999 nywgpuljwt — pwgudwl dwnuyniniuubp GL npwd 39600 1 39.6
Swwgpwljwy Twnwjnipinit 2
79821180/1000 nwwgpwlwl — puwsfudwl Swnwjnyajniuubp 9L npwd 43020 1 43.0
7981180/1001 nwwgpulwl — pwzhudwt dwnwnyaintuliip Q<L npwd 28,800 1 28.8
79821180/1002 nwywgpuwlwl — pustudwl dwnuwynigyniuubp q< npwd 6,300 1 6.3
79821180/1003 wnwwgpuluwt — pwoudwl dwnuwjnyejniittbn 9L npwid 1200000 1 1200.0
79821180/1004 wnwwgpwlwl — pwztudwl dwnwjnyejniibip L npwd 35940 1 35.9
79821180/1005 nwywgnwlwl — puoudwl dwnuwynysiniiibp G npwd 35940 1 35.9
79821180/1006 nwwgplwl - pwaudwl dwnuwjnysjniitbn Q<L npwid 4,200 1 4.2
79821180/1007 nwwgnwljwl — pwgudwl dwnwjniniuubp 9L npnwd 4,400 1 4.4
79821180/1008 nwywgnwlwl — pwolidwl dwnwnysgniiubp 9 npuwd 8,700 1 8.7
79821180/1009 nwwgpult — pwoudwl dwnwjnpinutn 9L npwd 4,350 1 4.4
7982118071010 nwwgplulut - pwzudwl dwnuwjnygjniitbn G< npuwd 116,000 1 116.0
79821180/1011 nwwgpluwt — pwpudwl Swnujmpnutn QL npwd 15,000 1 15.0
79821180/1012 nwwgpluwt — pwoudwl Swnwjmpnutn L nnwd 13,200 1 13.2
79821180/1013 nwwgpluwt — pwpudwl dwnujmpnutp 9L npwud 80280 1 80.3
79821180/1014 nwwgnwlwl — pwiudwl dwnwnyaniubn < npwd 15,400 1 15.4
79821180/1015 unwgnlyut = pughudwl Swnwnyaniuibp QL npwd 29,000 1 29.0
79821180/1016 nwwgnwljw - puhudwy dwnuwynysniubp < npwd 14,900 1 14.9
79821180/1017 nuywgpulywu — pwoudwl Swnwjnygjniuttin QL npwud 88,000 1 88.0
79821180/1018 nywgpwlwl — pwoudwl dwnuwynizniiubp < nnwd 282960 1 283.0
798211801019 nuwgnwlyw — pwudwy dwuwynysjniuubp <L npwd 300000 1 300.0
7O821180/1020 nwgpulywu = pwudwl dwnuwjnyejniiutn q< npwu 300000 1 300.0
79821180/100 nywgnpwlwl — puudwl dwnuwgnieniutibip < npwid 1,900 1 1.9
798211801022 nwwgpwlwu — pwstudwt Swnwjnyejniuutip QL npwd 9,600 1 9.6
79821180/1023 nywgpwlwl — pwohudwu dwnuyniejntulitin G npwu 300000 1 300.0
79821180/1024 nwgplut — pwoudwt Swnwjniypnitbp QL nnwd 4,800 1 4.8
79821180/1025 nwwgpuljuwu — pwstudwt dwnwjnysiniuttip 9L npwd 44160 1 44.2
79821180/1026 nwywgpwlwl — pwouiwl dwnuwynipjniuutp G npwd 22,800 1 22.8
79821180/1027 inwwgnuwiljwl - pughudwt dwnuwynyzniuubp 9 npwd 300000 1 300.0
79821180/1028 nywgpulwl — pwoudwl dwnwjnyajntuubin QL npwd 1 0.0
79821180/1029 nwywgnwlwl — puhudwy dwnuwynysjniuubp Q< npwd 323400 1 323.4
79821180/1030 nwwgnwlyw — pwhudwy dwnwnysyniuubp Q< npwd 1 0.0
79821180/1031 nwwgnulywl - pwotudwy Swnw)nyainiuubp 9L npwd 1 0.0
79821180/1032 nywgpuluwt — pwudwl dwnwjnyejniititin Q< nnwd 1 0.0
79821180/1033 nywgpuluwl — pwaudwb dwnwjnipgnuttn Q<L nnwd 1 0.0
749821180/1034 wnwwgpiljul — pwsudwt dwnwjnipintiutn 9L nnwd 1 0.0
79821180/1035 wnwwgpulwl - pwsudwt Swnwinyaniibp Q< npwd 1 0.0
79821180/1036 nwwgpulwt — pwsudwl dwnwjnygjniittp GL npwud 1 0.0
798211801037 nwywgnwlwl — puoudwy dwnwjniysjniuutp G< npwud 1 0.0
798211801038 gl = pwudwt dwnwjnyzjnubp Q< npwd 1 0.0
79821180/1039 nwwgpwlwl — pwziudwl Swnwjnieniutbp 4L npwd 1 0.0
79821180/1040 nwwgpuljwy — pwstudwt Swnwnyejniuubp QL npwd 1 0.0
79821180/1041 gl — pwaudwl dwnwjnyeniitbn QL npwd 1 0.0
79821180/1042 nwwgnwljwl — pwsudwt dwnwjnyeniuubp 9L npwd 1200000 1 1200.0
79821180/1043 nwwgnwlwl — pwgudwu dwnwjnipjntutbp < npwd 1200000 1 1200.0
79821180/1044 nwwgnuiljut — pwsudwl Swnwjmpniuubp < npwd 22200 1 22.2
79821180/1045 inwuwgnuilut — pwziudwl dwnwjmipniutbp < rpud 67080 1 67.1
79821180/1046 nwyuwgpuliut — pwaudwl Swnwynipniutbp QL npwd 22200 1 22.2
79821180/1047 inwwgpuwluwy — pwapudwl dwnwjniajniiibp 9L npwd 114,000 1 114.0
79821180/1048 nwgnuwlwy — puwshudwl dwnwjniniibibp 9L rnwd 132,000 1 132.0
79821180/1049 nwwgpuibwt — pwsudwl dwnwjnipniutbp Q< npwyd 33,000 1 33.0
Swwgpwlwu wwypwiptibp 3

22451240/501 pluiy 9< hwwn 2.33 50000 116.4
22451240/502 pluty 9< hwwn 2.45 10000 245
22451240/504 plutly a< huin 6.78 15000 101.7
22451240/505 pluitily qc hwwn 2.44 12000 29.2
22451240/506 putly S< hwwn 2.50 2000 5.0
22451240/507 pluily 9< hwwn 2:50 2000 5.0
22451240/508 pluitily 9L huwin 2.33 20000 46.6
22451240/509 Lty 9< hwn 2,20 5000 11.0
22451240/512 pluly < hwin 2.40 2000 4.8
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22451240/513 pjwibly 9< hwin 2.47 8000 19.8
22451240/514 pliy 9< huiwn 2.30 5000 1.5
22451240/515 Lty < hwn 2.30 4000 9.2

22451240/516 puuly q< huwwn 2.30 5000 1.5
22451240/517 < huwn 2.30 2000 4.6

22451240/520 i < hwtn 2,48 8000 19.8
224512404521 plwl 9< hwwn 2.48 10000 24.8
22451240/524 plutily 9< huwn 3.47 20000 69.4
22451240/525 pluwily 9< huwin 1.04 40000 4.5
22451240/526 piwily < huwin 2.39 13000 31.0
22451240/527 plutily 9< huin 2.20 5000 1.0

22451240/528 plwitly q< huwiwn 2.38 20000 475
22451240/530 pluwtly 9< huwtn 2.10 10000 21.0
22451240/531 pluy 9L huwtn 1.90 20000 38.0
20451240/533 pluuly < huwn 2.04 50000 102.0
22451240/534 puwly < huwn 1.50 15000 22.5
20451240/535 puwly L1 huwin 1.55 50000 77.4
22451240/536 pluwly < hwwn 1.55 40000 61.9
22451240/537 plwly 9L hwwn 1.91 25000 47.7
22451240/538 plutly 9L hww 85.0 1000 85.0

[22451240/554

plwlily

22451240/542 pluly g< hwwn 2.50 1000 2.5
22451240/543 pluatily L hwwn 2.30 4000 9.2
22451240/544 plulily &< hwtn 2.30 2000 4.6
22451240/545 plutiy 4L huwin 2.30 2000 4.6
22451240/546 plualily < hwn 1.90 38000 72.2
22451240/547 pjutily q< hwitn 1.90 20000 38.0
22451240/548 plutly 9< hwwn 2.50 1000 2.5
22451240/549 < hwtn 418 5000 20.9

2500

22451240/567

pluly

hwin

2.46

11000

22451240/558 pluwtily < hwitn 2.46 10000 24.6
22451240/559 puatily < hwn 220.0 600 132.0
22451240/560 plutily < hutn 2.10 5000 10.5

27.1

22451240/568

Pl

RIR

hwn

2.38

20000

47.5

Sywgpwljwy wypwtpubp 4

tnuwugnyws w)| gpptip

22111200/501 aL hwwn 3 0.0
22111200/502 inugnywé wy gppbip < huwwn 3 0.0
22111200/503 inulgnywd wy| gppbin a< huwwn 10 0.0
22111200/504 inwwgpywd wy gppbp < hwwn 1 0.0
22111200/505 inwuwgpywéd wy gppbp < hwin 50 0.0
22111200/506 unwwgnpywd wy| gppbip L huwin 10 0.0
22111200/507 wnwwgpywd wy gpphip 9L hwtn 5 0.0
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22111200/508 nwwgnywd wy gpplip < hwin 20 0.0
22111200/509 nuwgpwd wy gppbp Q<L hitn 10 0.0
22111200/510 nwwgnywd wy gppbip QL hwwn 15 0.0
22111200/511 nwwgpywd wy gpphip 9 huwn 8 0.0
22111200/512 nwwgnywd wy gpplip 4L huwin 2 0.0
22111200/513 nwwgpywd wy gpphip 9L huin 10 0.0
22111200/514 nwwgnywd wy gppbp 4L huwn 100 0.0
22111200/515 wnwwgpyuwd wy gppbp 4L huwin 100 0.0
22111200/516 nwwigpywd wy gpphp G hwwn 20 0.0
22111200/517 nwywgnywsd wy gppbp 9< hwn 10 0.0
22111200/518 nwywgnywsd wy gppbip 9L hwwn 60 0.0
22111200/519 nwwgpywd wy gppbp QL hwwn 120 0.0
22111200/520 wnwwgpywd w)) gpphip 9L hwwn 12 0.0
22111200/521 wnwwgpywd w)) gpphip < hwin 5 0.0
22111200/522 wnwwgpywd w)) gppbip QL hwwn 10 0.0
22111200/523 wnwwgnywd wy| gppbip 9< hwin 7 0.0
22111200/524 wnwwgpywd wy gppbp G< huwitn 2 0.0
22111200/525 wnwwgpdwd wy gppbip 9L hwin 2 0.0
22111200/526 nwwgnpywd w) gppbip QL hwwn 3 0.0
22111200/527 nwywgpywd wy gpptip QL hwn 4 0.0
22111200/528 nwwgnywsd wy gpphip < hwwn 4 0.0
22111200/529 tnywgnywd wy| gppbip Q<L hwwn 4 0.0
22111200/530 inujwgpywd wy gppbp < hwwn 2 0.0
22111200/531 nywgpywéd wy gpphip < hwiwn 2 0.0
22111200/532 nwwgpywd wy gppbp 9< hwin 14 0.0
22111200/533 nujuwgpywd wy gppbip 9L hwtn 60 0.0
22111200/534 nwywgpywd wj gppbp < hwwn 180 0.0
22111200/535 nwwgpywd wy) gppbip L hwwn 120 0.0
22111200/536 tnuwgpywd wy gppbp < hwuwn 120 0.0
22111200/537 wnuugpywd wy gpphip < hwwn 40 0.0
2211200/538 wnywgnywd wy) gpptin 9L hwn 35 0.0
22111200/539 wnuwignywd wy gppbip QL hwwn 20 0.0
22111200/540 tnwwignyud wy| gppbip qL hwn 150 0.0
22111200/54] nwwgpywsd wy gppbip QL huin 40 0.0
22111200/542 nwwgpywd wyj gppbp < huwn 10 0.0
2211200/543 nwwgnpyuwd wy gpphp G hiun 15 0.0
221112007544 nwwgwd wy appbp G huwwn 15 0.0
22111200/545 inwwgpuwd wy gppbp G huwn 10 0.0
22111200/546 nwwgpduwd wy gpphip 9 huwwn 5 0.0
INN1200/547 nwwgnduwd wy gpphp gL hutn 10 0.0
30197236/501 prRrwwwbwl' wuwndnghp qL hwtn 2000 0.0
22451240/570 plutiyubp hwdwdwjuwghp G huwwn 2000 0.0
22451240/571 plutiyubip nhnwwnndu QL huwwn 5000 0.0
30192151/501 Yuhp, wywnndww, ninnuuyntu 9L hwn 9 0.0
Upfuwwinwlptip
45461100/501 ghptiph, shuneniulibph pupwghy Unprgdwt waluwnwuptbp Q< npuid 11830140 1 11830.1
4533111141 onwihnpudwl uwppbiph nbnunpdwt wliwwnwuptbp Uu npwd 990000 1 990.0
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